ST-2075 RRB PO (MAINS) 2020

Passage for Question 1, 2, 3, 4, 5 (ST-2075 RRB CLERK MAINS (1-5) 2020)
eng/eng Passage

In the following questions, the symbols oo, 8, 7, € and p are used with the following meaning as illustrated below.

H oS means H is not greater than S.

H B S means H is neither smaller nor equal to S.

H 7 S means H is not smaller than S.

H Q S means H is neither greater nor equal to S.

H p S means H is equal to S.

Now in each of the following questions assuming the given statements to be true, find which of the two conclusions I, and II given below them is/are definitely true
and give your answer accordingly.

TR ot | Wefthl oo, B, m, Q 3T p T AT 743 3741 7 BT A g

H oS &T 314 H, S & I=T &l g

H P S & e H, S & SreT AT JTa7 A1 8

Hn S &3 H, S & ZreT 7gl 2

HQSHFTATHTAT S T LTS MTAET S F aCraw 2l

HuS#FT A H, S F TIra7 gl

o Ferferfera st ® o 73 sree et &1 90 AT g, T shriory {9 = for w2 27 et 67 117 Fi-a7 [ =7 89 9 /2 3T 56 e
AT 3T &-

eng hin Passage

In the following questions, the symbols o, 3, r, Q and p are used with the following meaning as illustrated below.

H oS means H is not greater than S.

H B S means H is neither smaller nor equal to S.

H ©t S means H is not smaller than S.

H Q S means H is neither greater nor equal to S.

H p S means H is equal to S.

Now in each of the following questions assuming the given statements to be true, find which of the two conclusions I, and II given below them is/are definitely true
and give your answer accordingly.

T oot & wfieht oo, B, 7, Q T p T =T 9% 3vq¥ & ot w1 2

H ooS T 1 H, S & a7 781 8

HPB S T3 H, S T FeT AT I30ET 751 2l

Hz ST H, S ¥ Zrer 721 2l

HOQSHFTHATHTATS T ST AT AT S & IXa€ 2l

H ST &9 H, S % aTa 8l

o1 fefertad et | &3 T o Fo1 &1 9 JAd g4, T i o7y o6 Jr= {23 T 27 et 1377 11§ Fi-97 FiEq &7 9 97 8/2 T 36 T g
JIAT I <-

Q-1 Statements: Kz H,HQI, KoN
Conclusion: . N=H II. KBI
HY: KnH, HQI, KoN

IGLEa I. NnH . KBI

01. Ifonly conclusion I is true./ % Faer 02. Ifonly conclusion IT is true. / % Faer Aot [ 77 g
e 157 21

03. Ifeither conclusion I or IT is true. / AT a1 04. Ifneither conclusion I nor IT is true. / T 7 AT fAwhd [ 377 T &Y 1 7T 81
ar faed 13 1197 81

05. Ifboth conclusions I and Il are true. / TTS
e 1 32 11 3T 97 2
Q-1 Statements: KnrH, HQI, KooN
eng hin
Conclusion: . N=H II. KBI
ER G H KnH, HQI KN

IGLEa I. NnH . KBI

01. Ifonly conclusion I is true./ ITE Farer 02. Ifonly conclusion Il is true. / TS et fAewT 11 77 2




e 1 e g
03. Ifeither conclusion I or Il is true. / AfX a1 04. If neither conclusion I nor Il is true. / T 7 a7 fAwhd [ sz T &Y 177 81
T e 13T 1|9 )

05. Ifboth conclusions I and II are true. / T

e 1 =2 11 3T | 2
Solution for Question 1 Ans Key: 1
eng/eng N>K>H<I
I. N>H (True 9¥)
Il. K> | (False 3TqX)
enghin N>K>H<I
I. N> H (True §<¥)
Il. K> | (False ST9<T)
Q-2 Statements: TuS,RBP,RuS,PnQ
eng/eng
Conclusion: 1. SBQ ILPQT
FIT: TuS,RBP,RuS,PnQ
Ao L. SPQ ILPQT
01. TIfonly conclusion I is true./ % Faer 02. TIfonly conclusion IT is true. / % Faet ATt 11 77 gl
e 157 21
03. Ifeither conclusion T or I is true. / T IT  04. If neither conclusion I nor 11 is true. / Tt 7 a7 AT [ 3 T 21 [ 97 g
AT fee 13T 1 77 B
05. Ifboth conclusions I and II are true. / T
e 1 2 11 3T |7 )
Q-2 Statements: TuS,RBPP,RuS,PnQ
Conclusion: 1. SBQ I. PQT
FIT: TuS,RBP,RuS,PnQ
Aoy I SN AP g
01. Ifonly conclusion I is true./ 7fe et 02. Ifonly conclusion IT is true. / 7% et fFesht 11 77 2
e 197 21
03. Ifeither conclusion Tor I is true. / T IT  04. If neither conclusion I nor 11 is true. / T 7 a7 AT [ 3 T 21 [ 97 2|
ar e 13T 1| 8
05. If both conclusions I and II are true. / T
e 1 =2 11 3T |7 )
Solution for Question 2 Ans Key: 5

eng/eng

T=S=R>P>Q
Both the conclusions are true/ 1 e T €

eng hin

T=S=R>P>Q
Both the conclusions are true/ 1 T T €

Q-3
eng/eng

Q-3

Statements: NoE LaW, EQW
Conclusion: I. LN ILEQL
HIT: NoE LtW,EQW

gL L LBN ILEQL

01. Ifonly conclusion I is true./ T Faer 02. Ifonly conclusion Il is true. / Tf Faer fAeHT 11 7T )
e 157 21

03. Ifeither conclusion I or IT is true. / AT IT  04. If neither conclusion I nor IT is true. / T T AT AT [ 377 T &Y 1 7T B
a1 faed 13 1197 81

05. Ifboth conclusions I and Il are true. / TTS
e 1 i< 11 ST o £
Statements: NoE LaW, EQW



eng hin
& Conclusion: L LBN ILEQL

HIT: NowE LW, EQW

ey L LBN ILEQL

01. Ifonly conclusion I is true./ T Faer 02. Ifonly conclusion Il is true. / TT Faer fATHT 11 T €

e 157 81
03. Ifeither conclusion I or Il is true. / AT IT  04. If neither conclusion I nor IT is true. / T 7 AT fAehd [ 37 T &Y 1 57 B
T A 13T 1197 31
05. If both conclusions I and II are true. / T
e 1 32 11 31 | )
Solution for Question 3 AnsKey: 5
eng/eng N<E<W<L
Both the conclusions are true/ T fAwhY a7 €l
eng hin N<E<W<L
Both the conclusions are true/ T AT T €l
Q-4 Statements: AQB,BwoC,DuF,CnD
Conclusion: I.DB A II. CBA
FAT: AQB,BoC,DuF,CaD
sy : L.DBA I. CBA
01. Ifonly conclusion I is true./ IfE Faa 02. Ifonly conclusion II is true. / 7% Faet Ao I1 €7 Bl
Aot 177 21
03. Ifeither conclusion T or ITis true. / T2 IT  04. Ifneither conclusion I nor 1 is true. / T 7 a7 AT [ =T 7 21 11 97 2\
qr w197 157 2
05. If both conclusions I and II are true. / Tfa
fAehd 1 3T 11 21 |17 2
Q-4 Statements: AQB,BoC,DuF,CnD
Conclusion: L.DBA II. CBA
FIT: AQB,BwC,DuF,CnD
ey : L.DBA IL. CBA
01. Tfonly conclusion I is true./ IfE Fae 02. Ifonly conclusion Il is true. / T et fAeRT 11 7T )
e 1o 2
03. Ifeither conclusion I or Il is true. / AfE IT  04. If neither conclusion I nor IT is true. / TF 7 AT A [ 377 T &Y 11 97 81
T A 13T 1197 31
05. Ifboth conclusions I and II are true. / T
e 1 32 11 31 | )
Solution for Question 4 Ans Key: 2

eng/eng A<B<C>D=F

Only conclusion Il is true/ #ae AR Il HF Bl

enghin A<B<C>D=F

Only conclusion Il is true/ #a Ao || 7 5

Q-5 Statements: ZuP,Po],JnK,KQW
eng/eng
Conclusion: I. Zn K 1. WQP
P ZpP,Po],JaK,KQW

sy L. ZzK IL. WQP



01. Ifonly conclusion I is true./ T Faer 02. Ifonly conclusion Il is true. / TT Faer fATHT 11 T g
e 197 21

03. Ifeither conclusion I or Il is true. / TS IT  04. If neither conclusion I nor IT is true. / T 7 AT AT [ 377 7 &Y 1 TF B
ar A 13T 1197 81

05. Ifboth conclusions I and II are true. / T
e 1 2 11 3T 97 2
Q-5 Statements: ZpP P JnK,KQW

eng hin
Conclusion: I. Zn K . WQP

HYA: ZuP,Pol JnK,KQW

Ao I. ZnK I. WQP

01. Ifonly conclusion I is true./ T Faer 02. Ifonly conclusion Il is true. / TT Faer fAeHT 11 T €
e 197 21

03. Ifeither conclusion I or Il is true. / AfE IT  04. If neither conclusion I nor IT is true. / T 7 AT AT [ 377 7 &Y 1 97 81
ar fd 13T 1197 31

05. Ifboth conclusions I and II are true. / T
TR 1 i< 11 2T & £

Solution for Question 5 Ans Key: 4

Z=P<J>K<W

Neither conclusion | nor Il is true.

T 97 Ao | T T2 1 77 2

Z=P<J>K<W

Neither conclusion | nor Il is true.

T 97 Ao | T T2 1 717 2

Passage for Question 6, 7, 8, 9, 10 (ST-2075 RRB CLERK MAINS (6-10) 2020)
eng/eng Passage

Study the following information carefully and answer the question given below.

There are eight items placed one above another and items are viz. Apple, Banana, Cashew, Raisin, Peach, Pear, Guava and Apricot. All the items are arranged
from top to bottom. There are four items between Cashew and Apricot. There are two items between Apricot and Apple. There are three items between Apple
and Pear. There are two items between Pear and Banana. There is only one item between Banana and Raisin. The items Raisin is not placed immediately above or
immediately below the Pear. Two items placed between Peach and Guava. The items Peach is placed one of the places above items Apricot but not on the top.

afafaa TTasTd &1 eamyd® qegaT L A= fRuar g FrIacd)

A5 ATTEH UF THL & HUL T U g ST ATTEH STATT - T, FHieAT, HTs], [heTTHET, S, AT, THER ¥ GATAT &1 THT aeqall i 39 & 774 &l AT
AT 3T SITAT 81 TS 37T GATAT F = A1 A2 H g1 GATAT ST 4 F 1= a7 2w g1 HT T ATATAT 6 = A Argew g1 ATrdTedt T Fer 6
A= 2T Arzew E1 For T Fherfarer & = et ua smzew 81 srzew FrerfRrer ST ATerdTelt % e FUT AT A A1 ARt TET AT gl AT AHES F T
Z ATEH TF T | AW G FT ATSSH G F FUL T TF T ¥ T@T 747 8 A oftd 97 72

eng hin Passage

Study the following information carefully and answer the question given below.

There are eight items placed one above another and items are viz. Apple, Banana, Cashew, Raisin, Peach, Pear, Guava and Apricot. All the items are arranged
from top to bottom. There are four items between Cashew and Apricot. There are two items between Apricot and Apple. There are three items between Apple
and Pear. There are two items between Pear and Banana. There is only one item between Banana and Raisin. The items Raisin is not placed immediately above or
immediately below the Pear. Two items placed between Peach and Guava. The items Peach is placed one of the places above items Apricot but not on the top.

fRafafaa srasrd &1 samgd® saggaa w2 fRroag g srsacd

A3 AZEH UF TAY & SU T TU g 3T ATTSH AT - 8, AT, FT9, ThertHer, g, AT, srawg ¥ Garl g1 Tl aeqsh o1 S F 9= 67 T
AT AT SITaT 81 TS 37T GATHT F = AT A3 H | GATAT ST T F A= 37 2w g1 JF 3T ATITAT 6 = A ATSeH g ATATAT 37T FeAT 6
A= T MZeH §| Fel ST FROrTHer F = Fae UH ATeH g1 ArzeH Fehertaer 1 ATLATAT F 3% FUT AT A A1 Aal TET ST gl ST THER % o1
T ATTEH TG T | ATTH G AT A5eH GATAT 6 UL [T Tk ST 9¥ T@T ITIT g A o o2 720




Q-6

eng/eng

eng hin

How many items are placed above Apricot?

AT % ¥ et srzew 7@ ST 22

01. None/#Ts Al
03. Two /=T
05. More than three / S17  rferF

How many items are placed above Apricot?

AT F S Fradt szew 7 S 82
01. None /TS Agl

03. Two/aT

05. More than three / T+ ¥ 37Ter

Solution for Question 6

02.
04.

02.
04.

One /TH
Three / 9

One /TH
Three / 9

Ans Key: 5

eng/eng

Q-7

Q-7

eng hin

Cashew =9
Raisins  feheriaer
Apple

Banana
Peach
Apricot

Pear

Guava

Cashew 19

Raisins  fHhorfaer

Apple GE

Banana @@l
Peach
Apricot
Pear BIERIGHE

Guava HAAEG

i o
,

What is the position of Banana from top?
FTH FA 1 i AT 2

01. 1
03. 3
05. 5
What is the position of Banana from top?

FUT | FA AT Rafa w2

01. 1
03. 3
05. 5

Solution for Question 7

02. 2

04.

02. 2
04. 4

Ans Key: 4

eng/eng

Cashew =5
Raising  Teerfaer
Apple #F
Banana &l

Peach As

o

Apricot @I




Pear reraret
Guava  #UER
eng hin
Cashew =T
Raisins  Taerfaer
Apple #F
Banana #l
Peach Hg
Apricot  GaTHI
Pear rerardt
Guava  #AUER
Q-8 If items apple and apricot interchange their positions, then which item is immediately above apricot?
engleng TS ATZEH | ST GATHT (AT AT T T2 2 &, AT FI &Y A AT F A FIL 22
01. Raisins / FraTferer 02. Peach /g
03. Apple/&a 04. Either 1 or2 /3T AT 1 AT 2
05. None of these / ZTH T FTE T2l
Q-8 If items apple and apricot interchange their positions, then which item is immediately above apricot?

% 2w | ST GaATT AT AT FT T8 2 &, Al HI & Ao GaATT F Td T2 2

01. Raisins / foherferer 02. Peach/3Tg
03. Apple/qa 04. Either 1 or2/aTar 1472

05. None of these / =78 & FTS Al

Solution for Question 8

Cashew =[5
Raisins  Taheriwer
Apple e

Banana ®dl

Ans Key: 1

Peach =g

Apricot Tl

Pear BIEWRIGIN

Guava dHES
i Cashew =9

Raisins  ferfirer

Apple ¥

Banana &l

Peach =g

Apricot a1

Pear BIERIGTE

Guava FHES
Q-9 Which item is placed immediately above Cashew?
eng/eng TS F 31 FUL I AT 7] T 82

01. Raisin/ farerfarer 02. Pear / ATTITET

03. Peach /g 04. None / FTE 21



05. None of these / T7H T TS Tl
Q-9 Which item is placed immediately above Cashew?
eng hin TS % 31 FUT I AT 7] TET 22

01. Raisin/ fRorfeer 02. Pear / ATITATIT
03. Peach/3Tg 04. None / FTE T2l
05. None of these / Z7H H FIs A5t
Solution for Question 9 Ans Key: 4
/
SEEE | Cashew B
Raisins  faerfaer
Apple  #F
Banana &dT
Peach &g
Apricot  GaTH1
Pear BIERIGHE

Guava TAOED

Cashew &9

Raisins  fahoriaer

Apple aq

Banana ®dT

Peach &g

Apricot 99
Pear ATeTaTAT

Guava qAES

Q-10  Which item is placed second from bottom?
ot g T = & gEeT e A T g

01. Guava/sHE= 02. Pear / ATerATH
03. Peach/3g 04.  Apricot / GaTH

05. Banana /F@T
Q-10 Which item is placed second from bottom?
eng hin T g T == & @<t =47 fom 0w 22

01. Guava/H &S 02. Pear / ATeTITAT
03. Peach /31Tg, 04.  Apricot/ GaTHT
05. Banana / &1
Solution for Question 10 Ans Key: 2
eng/eng | cashew A
Raisins  Taherfaer
Apple GE]
Banana @
Peach g,
Apricot  GETAT
Pear ATTITAT
Guava AT
eng hin Cashew @19
Raisine  fhorfarsT




Apple

Banana

o
AT
Peach Bl
Apricot @Al
Pear BIEIG
Guava AHET

Passage for Question 11, 12, 13, 14, 15 (ST-2075 RRB CLERK MAINS (11-15) 2020)
eng/eng Passage

Study the following information carefully and answer the question given below.

Point S is 10 km east of point R who is 25 km south of point Q. Point P is 8 km west of point Q. Point O is 15 km south of point P. Point Y is 10 km south of point
Z. Point X is 12 km west of point Y and is 20 km south of point W. Point W is 6 km west of point V who is 5 km north of point U who is 12 km east of point T.
Point S is 15 km south of point T.

frafafaa srasrd &1 eamgd® sggga L TR fRroag g Frsacd

s, fgrT 0@ a g g Q& 2s et zfar# &1 g p, g Qas i ufem d 81 g o, Mg P 1s et sfar g1 Mg v, g z# 10
o g g g x, Mg ya 2 oRm a e g wa2o i sfermrd & g w, g vae nfrafim § &, ST g ua s fefrsae &g, s
g 7o 12 Bt & & Rora &1 g S, fig T3 15 Bt =feor § 1

eng hin Passage

Study the following information carefully and answer the question given below.
Point S is 10 km east of point R who is 25 km south of point Q. Point P is 8 km west of point Q. Point O is 15 km south of point P. Point Y is 10 km south of point

Z. Point X is 12 km west of point Y and is 20 km south of point W. Point W is 6 km west of point V who is 5 km north of point U who is 12 km east of point T.
Point S is 15 km south of point T.

afafad STasTd F 1 eq\gaF AFITH AT RUATIT FTIACRN

figs, fAfgrT 0@ d e g Q 25 fr e & Mg p, g Qas i ufem d &1 g o, Mg Pp & 15 Pefrsfemr & & Ry v, g 2z & 10
rfrzfeord g g x, e ya R aEm g sie g wa20 e a2 g w, Mg vae et afem &, ST fig ua s fefrsee &g, o
g T& 12 Bt & & Rora &1 g S, fig T3 15 Bt =feor & 1

Q-11 What is the direction of point V with respect to point P?

&g P Hag 7 fig V #7 fRem w82
01. North-west / ST¥-TT%HT 02. South-east / FfAIT-TF
03. South-west / aferor-afara 04. South /=feror

05. North-east / TaTT¥
Q-11 What is the direction of point V with respect to point P?
feg P gy o faig v T fer =/m 22

01. North-west / ITL-TF2T 02. South-east / FfaroT-qF
03. South-west / Zfaror-afare 04. South /zfaror
05. North-east / TaTIT
Solution for Question 11 Ans Key: 2
engleng  pe—= 0
6

Lo
L
[




R 10 s X 12 Y

Q-12  How far and in which direction is point Z with respect to point O?

eng/eng &g O % Hay # fog 7 ot g2 o< fonm fRem 6 82

01. 29 km, West / 29 e, afar 02. 25 km, North-west / 25 T, Soe-afarm
03. 36 km, East /36 Y, 7@ 04. 35 km, North-east / 35 f3ft, IT¢-0a

05. 27 km, East/ 27 T, 7@
Q-12  How far and in which direction is point Z with respect to point O?
enghin 33 O ¥ say # fdg Z fraet gz ofe form fRem & &2

01. 29 km, West /29 fft, afery 02. 25 km, North-west / 25 fft, 3Te-afam
03. 36 km, East /36 f&HT, 7@ 04. 35 km, North-east / 35 FT, IT¢-13
05. 27 km, East/27 fft, 7@
Solution for Question 12 Ans Key: 3
eng/eng P 8 Q
w 6 v
15 | |5
[ 12" ] _?;.l, I
V4
v 2O
0 2
(1
] } ) 19
i U S X | Y
P e— 8 (
I‘L'A [§] -\_
[ 120 | __‘;.i,‘ 1
23 7
W' T8
§) > |
| 8]
& TE ] B
Q-13 [f a man walks 16 km west from point X then turn right and walks 15 km, How far is point U from that man?
T2 1< A &g X & 16 TRt 929 Hit o7 =7erar g 6 310 g=ar 8 =i 15 BT Frar €, 39 et 7 &g U fFaar gz 82
01. 30km /et 02. 27 km /&t
03. 35 km / fHT 04. 22 km / fHT
05. 33 km / 4T
Q-13 If a man walks 16 km west from point X then turn right and walks 15 km, How far is point U from that man?
enghin T2 FE =1 f&g X 7 16 Feft afer &t &z srerar 2 {2 a0 g2ar 2 e 15 Fdt st 2, 39 sraet & fég U T gz 22
01. 30 km /3t 02. 27 km / fft
03. 35 km/ f3ft 04. 22 km /et
05. 33 km/ f3ft
Solution for Question 13 Ans Key: 4
eng/eng P 8 Q
w 0 v
15 5
r 12 ,_v} )
25
Z
0 20
J‘
L2 10
R 10 5 X 12 ¥
eng hin 8

P Q
| | w 0 v



O 20

Q-14 In which direction is Point W with respect to Point S?
engleng 93 S F Hae # g W e fear & fora 22

01. North-East/ 3T%- 03 02. North-West / 3T¥ -qf2re
03. South-East / Zfaror -qa 04. South-West / Ffaror -af2m
05. None of these / T7H H FIs Tl

Q-14  In which direction is Point W with respect to Point S?
enghin 93 S Her 7 fag W ke fearr o fRora 22

01. North-East/3T%- 7@ 02. North-West / 3T -f2%19
03. South-East / Zfaor -g& 04. South-West / =faror -afsra
05. None of these / ZTH J FTS T2l
Solution for Question 14 Ans Key: 1
P <_\_ Q0
'\L‘ = i -l\_
| i | _-'___‘__;_}i/ I
Z
4 ()
i) 3
()
= .
R { 5 X | Y
P (—\— Q

Q-15 What is the distance between points R and T in km? (approx.)

NYENE oo g R AT T3 v 1 T 30 ()

01. 17 02. 18
03. 21 04. 22
05. 9

Q-15  Whatis the distance between points R and T in km? (approx.)

hi
S fy 1 firg R e T3 vy o T T 39 (e

01. 17 02. 18

03. 21 04. 22

05. 9
Solution for Question 15 Ans Key: 2

eng/eng  pe S 0




enghin  pe 8 0

=]
V.
e —_—
LA
1
< e——

R 10 S X 12

Passage for Question 16, 17, 18, 19, 20 (ST-2075 RRB CLERK MAINS (16-20) 2020)
eng/eng Passage

Study the following information carefully and answer the question given below.

Letter [Y[F[ I [P[S[E[H|[R[CJU[M[W[X[AJJ[G]O
Code |7 [@|5/4]1/#]6[S[%[9/&][3][2]?2][0]8]!

Condition 1:

If leftmost and rightmost elements are vowels then their codes are to be interchanged.

Condition 2:

If there are more than 2 two vowels in the given word then the first three letter codes should be written in reverse order.

Condition 3:

If the second element from the left end and the second element from the right end are consonants, the codes for both are to be interchanged.

Arafafag STTasTd F 1 samga T stegaT W AT Rurraawrswc
AT VY | E | | P E 1 | R l Yy | A i

= 7 c

:—h __=_" = T %] i F

o 1:

T 91T &fI¥ IT0 P % T T ¢ a1 39 IS A9 H F8 37 1 &

oret 2:

T faw T oreg ® 2 7 F wferw T € O TR A9 HeAT % IS IoA FH A fore S =TI

o 3:

7% a0 PI¥ & THT 17 37U Y H THT qcd 490 2 T &A1 F [o70 FHe A0 § F5 37 S 2

eng hin Passage
Study the following information carefully and answer the question given below.
Letter [ Y F[1 P/S/E/H|/R[C]U[M[W][X]A
Code |7 @ 54 |1 |#|6]|S 9(& |3 (|2(72]|0
Condition 1:
If leftmost and rightmost elements are vowels then their codes are to be interchanged.
Condition 2:
If there are more than 2 two vowels in the given word then the first three letter codes should be written in reverse order.

Condition 3:
If the second element from the left end and the second element from the right end are consonants, the codes for both are to be interchanged.

freforfad ST &7 eamga® weaae w2 3T A= i3 1w wey 7 39 )

T ;#f'F'_ | _P_S_EIi—i—II?-ET‘M;WT_KlA_J;G_D
e |7|@|5[4[1]#[6|S|%[0]&[3]|2|?2|0]8]!
ad 1:
T 9T 3T a0 G % I T E A7 I e 99 H T8 3 I )
o 2:
7% o 7w orez 7 2 T 7 ATAF TAX & AT T A4 AL F FIE IAC HH | [ord S AT
o 3:

7% 70 S & T ST A0 BT F AT qcd A9 & a7 241 F (o7 e Arae § a5 {27 [ 2)

Q-16  Whatis the code for “IYESM™?
eng/eng "IYESM" 3 foru #ire 77 82



01. 57#1& 02. 57#&1
03. 51#7& 04. 15#7&

05. None of these / T7H H FIs Tl
Q-16  Whatis the code for “IYESM™?
eng hin "IYESM" % ﬁﬂ"‘{ TS FAT %?

01. 57#1& 02. 57#&1
03. 51#7& 04. 15#7&
05. None of these / 37H H FIs A5t
Solution for Question 16 Ans Key: 3

eng/eng  Condition 3 applies./ 9Td 3 T BIeT 21
eng hin  Condition 3 applies./ aF 3 F'I'I'{['@?ﬁ %I

Q-17  Whatis the code for “EHOIX"?
eng/eng "EHOIX" % forw g #4782

01. 16#52 02. 16#25
03. #6!52 04. #6125

05. None of these / 37H T I3 Agl
Q-17 What is the code for “EHOIX”?
"EHOIX" % forw =ire /7 82

01. 16#52 02. 16#25
03. #6!52 04. #6125
05. None of these / ZTH J FTS T2l
Solution for Question 17 Ans Key: 1

Condition 2 applies./ 9T 2 F'IT*I?, a1 2l
Condition 2 applies./ 9T 2 IR 2T 2l

Q-18  Whatis the code for “OHCU?
"OHCU" % &0 #ire 7 82

01. 9%!6 02. 9%6!
03. %96! 04. 96%!

05. None of these / TH T FTE T2l
Q-18  Whatis the code for “OHCU?
"OHCU" % forw s 7717 22

01. 9%!6 02. 9%6!
03. %96! 04. 96%!
05. None of these / T7H H FIs Tl
Solution for Question 18 Ans Key: 4

eng/eng  Conditions 1 and 3 apply./STdf 1 3 3 AR gl 21
enghin  Conditions 1 and 3 apply./STdt 1 3T 3 AR gIeT 21

Q-19  Whatis the code for “OEWIX"?
eng/eng "OEWIX" Ed ﬁl"‘{ IS T %?

01. 3#125 02. 31#25
03. 31#52 04. 3#152

05. None of These / ST & &Iz A5l
Q-19  Whatis the code for “OEWIX”?
enghin  "OEWIX" ¥ foru #ie #7132

01. 34125 02. 31425



03. 31%#52 04. 3#152

05. None of These / THH | HT5 Tl
Solution for Question 19 Ans Key: 4

eng/eng  Condition 2 applies./ 9T 2 & BIeT 21

eng hin  Condition 2 applies./ 9T 2 T &IT 81

Q-20  Whatis the code for “lGYREP™?
eng/eng "IGYREP" % foru e 71 22

01. 587$#4 02. 587%4#
03. 578$#4 04. 587#$4

05. None of these / Z7H H FIS A5t
Q-20  Whatis the code for “lGYREP™?
enghin "IGYREP" % foru e 71 22

01. 587$#4 02. 587$4#
03. 578$#4 04. 587#$4
05. None of these / T8 T FTE A1
Solution for Question 20 Ans Key: 1

None of the conditions is satisfied and hence the codes of the elements are written in the same form as given.

TS AT 91T §qE Tel & ST AT adl % HIS SHT &7 § o 577 f&r 7 2

None of the conditions is satisfied and hence the codes of the elements are written in the same form as given.

T off o7 6P gl & T TAIT qaal & i SH &9 7 forey o7 {37 T/ )

Passage for Question 21, 22, 23, 24, 25 (ST-2075 RRB CLERK MAINS (21-25)2020)
eng/eng Passage

Study the following information carefully and answer the question given below.

A, B, C, D, E and F are six friends. They have their accounts with different banks. Two of those banks are ICICI and SBI. They live in five sectors of
Visakhapatnam, viz V, W, VII, VIII and IX. Two of them live in the same sector.

A has an account with Canara Bank and he lives in Sector VII. D has no account with South Indian Bank and he lives in sector IX. B has account neither with
South Indian Bank nor with ICICI and he does not live in sector V or VIII. The person who has an account with UCO Bank lives in sector VIIIL. E does not live in
sector VI or VIII. F has an account with Bank of India and he lives in the sector in which B lives.

afafad STasTa F 1 5A\ga S AFIT L LA R TTIT FTIACRN

A, B, C, D, E T F =g = 21 fafsrer 1 3 o % @1 &1 39 61 | | 27 s eters drens ofiT uaetens 2| F fEremara=y F o= q5 V, W, VI,

VIIL ST IX | Tgd g1 3TH 7 a7 U gf TFes § ¥gd 2|

AFT FAT 9 § GTaT g T 98 T VILH T2aT g1 D 7 12007 = 5% | I @1dT Agl ¢ o< g 9 [X § ¥2qT 21 B 7T 7 a7 2807 9y 9 F
T T T &I ICICI % T |TAT & S a8 dae? V AT VI H Tl T8ar g o i<k #7 T 9% | =@1av &, 98 a9 VI § T2aT 21 E, ¥% VI T VI H

TET ¥2ar g1 F &7 & 1T 23T & °rar € o 98 39 99 ¥ wgar & oo B wZar 2

eng hin Passage

Study the following information carefully and answer the question given below.

A, B, C, D, E and F are six friends. They have their accounts with different banks. Two of those banks are ICICI and SBI. They live in five sectors of
Visakhapatnam, viz V, W, VII, VIII and IX. Two of them live in the same sector.

A has an account with Canara Bank and he lives in Sector VII. D has no account with South Indian Bank and he lives in sector IX. B has account neither with
South Indian Bank nor with ICICI and he does not live in sector V or VIII. The person who has an account with UCO Bank lives in sector VIII. E does not live in
sector VI or VIIL F has an account with Bank of India and he lives in the sector in which B lives.

afafad STasTd F 1 5qMga T AqIT R AT R AT IT FTIACRN

A, B, C, D, E ¥ F &g o1 81 fafsrsr S1 o arer 57 @rd 81 37 a1 § § a7 s et ians o uaetens 8| F fremaroa=+ % ai= #%<i V, W, VII,

VI 3T IX | Tgd g1 S99 7 a7 U 2f TFe § ¥gd 2|

AT FALT 9% | GTAT ¢ 37T 9 q9e VI H TZaT g1 D T T80T AT §F | FiIs @Al A5l g 7 ag FFe? [X H Tgar g1 B F7 7 aT afer0 AT 9% F
AT ¥ T T ICICI F AT |TAT g 37T ag T V AT VII H 981 T2aT g o =f<r 7 37 9% § @1ar §, 98 997 VI H TgaT g1 E, 7% VI IT VI §

Tl TEaT gl F &7 3 i 2247 § @rar g o7 98 39 997 # ¥gal ¢ oo B @ar gl

Q-21  Inwhich of the following sectors do two friends live?
engleng TETeIEra # & fober Heree § 21 357 T2 22

01. VIII/smsdt 02. VII/HTadt
03. VI/=5 04. Vv /T=ar



05. None of these / TTH & g T2l

Q-21  Inwhich of the following sectors do two friends live?
enghin  eferfera & & b ez 4 21 3eq TR 22

01. VIII/ smae 02. Vi1 /=Tt

03. VI/=t 04. v/ Ti=t

05. None of these / Z7H | FIs A5t

Ans Key: 3

Q-22  Who among the following has an account with UCO Bank?
eng/eng fAeferfera & & Freerr Tt 5% & @A 82

01. B 02. F

03. D 04. C

05. None of these / ZHH & Fl< A5l
Q-22  Who among the following has an account with UCO Bank?
eng hin  Tferfea # & et o7 9 & @rar 82

01. B 02. F

03. D 04. C

05. None of these / T7H & FIS Al

Ans Key: 4

Q-23  Which of the following banks does B have an account with?

Ffefrfea d g e aF d BFTam@r a2

01. [CICI/ smEeftamrseiems 02. SBI/THEETE

03. UCO Bank / T 9% 04. Canara Bank / #7177 5%

05. None of these / ZHH & FTS A21
Q-23 Which of the following banks does B have an account with?

Trerforfea § & g 3 ° B 1 @TaT 82

01. [CICI/ smEeftamseiams 02. SBI/THETATE

03. UCO Bank / T 9% 04. Canara Bank / #+YT S

05. None of these / T7H & I3 Agl
Solution for Question 23 Ans Key: 2

eng hin

Person Bank Sector
A Canara Bank Vil
B SBI Vi
C uco Vi
D ICIC1 X
E South Indian v
Bank
F Bank of India Vi
=th 4= a7
A FRT IS Vil
B we I g SRar Vi
(& L Vil
D EIE T T EY X
E | GeaiREds v
F o it gf2ar Vi
Person Bank Secior
A Canara Bank Vil
B SBI Vi
C uco Vi




South Indian v
Bank

F Bank of India Vi
=fE EEd ey
A B Vil
B we 3 dln sfear v
c T vl
D £ G ETIEIEY X
E | ssaiRadn v
F o Aie SfeAT Vi

Q-24  Inwhich of the following sectors does C live?

eng/eng Wﬁ%ﬁﬁﬁ%&ﬁwﬁcwg‘?

01. VIII/ 3wt
03. VII/Hraat
05. None of these / T7H H &I A51

Q-24  Inwhich of the following sectors does C live?

Frafofea & o I & C wgar 22

01.

VI / st

03. VII/|Tadt
05. None of these / 7H ¥ FT Aol

02.
04.

02.
04.

VI /Bt
IX /=t

VI /=3t
X /=t

Solution for Question 24 Ans Key: 1
Person Bank Sector
A - Canara Bank Vil
B SBI Vi
= uco Vil
D ICICI X
E South Indian \'
Bank
F Bank of India Vi
=t EED 2E)
A F % Vil
B RedsdmiRar
C Tl VIl
D EIEVIE R E Y X
E | SwuiRwds v
F 9 sl gfear Vi

enghin [ porcon Bank Sector
A Canara Bank Vil
B SBI Vi
C uco Vil
D ICICI X
E South Indian Vv
Bank

E Bank of India Vi

=f<h EED a=
A FI IF Vil
B we I% drn 34T Vi




Q-25

eng/eng

Q-25

eng hin

¢ Tl Vil
rT °
E WE@W%‘E v
Bk AR

Which of the following combinations is not true?

oo § & w9 |1 92 931 T8t 82
01. D—ICICI /D- sEHTamEtams 02.
03. C—UCO/C-TH 04.

05. B— SBI/B- THd1eME

Which of the following combinations is not true?

Fraforfad & & #17 a1 §9e @2t 72 82
01. D—ICICI /D- sTEHTemEE s 02.
03. C—UCO/C-THt 04.

05. B— SBI/B- U#eias

Solution for Question 25

Person Bank Sector
A Canara Bank Vil
B SBI Vi
C uUco Vil
D ICICI X
E South Indian V'

Bank
F Bank of India Vi
=t % &
A I Vil
B  weisamisar v
c T Vil
D EIER R R EY X
E | WeTiRwds Vv
F ¥ s fan vi

Person Bank Sector
A Canara Bank Vil
B SBI Vi
C uUco Vil
D ICICI | X
E South Indian | v

Bank

F Bank of India Vi
=t T Gl

A Fr I VI

B @cisdmaar

C . T‘ﬁf Vil

E | weriRwrds |y

F | dmdwdRar |y

F— SBI/F - Ta«Tms
E — South Indian Bank / E - ZT&1or ATeT &

F — SBI/F - THeftams
E — South Indian Bank / E - Zf&{or ATeciT &

Ans Key: 2

7 Passage for Question 26, 27, 28, 29, 30 (ST-2075 RRB CLERK MAINS (26-30) 2020)
eng/eng Passage

A word and number arrangement machine when given an input line of words and numbers rearranges them following a particular rule in each step. The following is
an illustration of the input and its rearrangement.

Input:

36 for 49 with 72 53 true just



StepI: 752 36 for 49 with 53 true just

Step II: 752 36 49 with 53 true just for

Step III: 752 523 36 49 with true just for

Step [V: 752 523 36 49 with true for just

Step V: 752 523 459 36 with true for just

Step VI: 752 523 459 36 with for just true

Step VII: 752 523 459 336 with for just true

Step VIII: 752 523 459 336 for just true with

Step VIII is the last step of the rearrangement of the above input. As per the rules followed in the above steps find out in each of the questions the appropriate steps
for the given input.

Input: 21 date 42 name 73 queen 37 easy 54 jar

STERT ST HEATSA il UF TAYE AT (U ST 9T UF 9758 37T HEAT HTeAT el T4 =207 H U [T (72w F7 97 Fi7d g0 Ivg A EAT FLAT g
TAYE S1¥ I [AAGET T UF 321820 fAaforfed 2

TALS: 36 for 49 with 72 53 true just

FIOT . 752 36 for 49 with 53 true just

FLOTI: 752 36 49 with 53 true just for

FOT I 752 523 36 49 with true just for

FLOTIV: 752 523 36 49 with true for just

FIOTV: 752523 459 36 with true for just

FXOT VI 752 523 459 36 with for just true

=T VII: 752 523 459 336 with for just true

=0T VIIL: 752 523 459 336 for just true with

=T VI I A2 % AT 7 S =90 21 399 =t § fm am feret 3 sEm vers vy § 2 zqe F o 3w 5er S A9
TAY<: 21 date 42 name 73 queen 37 easy 54 jar

eng hin Passage

A word and number arrangement machine when given an input line of words and numbers rearranges them following a particular rule in each step. The following is
an illustration of the input and its rearrangement.

Input: 36 for 49 with 72 53 true just

StepI: 752 36 for 49 with 53 true just

Step II: 752 36 49 with 53 true just for

Step III: 752 523 36 49 with true just for

Step IV: 752 523 36 49 with true for just

Step V: 752 523 459 36 with true for just

Step VI: 752 523 459 36 with for just true

Step VII: 752 523 459 336 with for just true

Step VIII: 752 523 459 336 for just true with

Step VIII is the last step of the rearrangement of the above input. As per the rules followed in the above steps find out in each of the questions the appropriate steps
for the given input.

Input: 21 date 42 name 73 queen 37 easy 54 jar

9T&RT ST HEATSAT il U TAYE AT (2T ST T U 9758 T FE&AT HaedT Tefid YT 701 § U (G 77 &7 0 F2d gU Ivg [eaaredd w2l
TAYE SA1Y I [AAGEIT T UF IET20 [MHfiad 2l

EGRCH 36 for 49 with 72 53 true just

FLOT . 752 36 for 49 with 53 true just

=T II: 752 36 49 with 53 true just for

FAOT I 752 523 36 49 with true just for

FLOTIV: 752 523 36 49 with true for just

T V: 752523 459 36 with true for just

LT VI 752 523 459 36 with for just true

=07 VII: 752 523 459 336 with for just true

=T VIIL: 752 523 459 336 for just true with

=TT VIII ST SATE o TAATET &1 STad =207 g1 ST A0 7 140 70 =7 3 @ T 97 § {30 10 3992 F forg Iugh =07 1 #:72
TAY<: 21 date 42 name 73 queen 37 easy 54 jar

Q-26  Whatis the position of 'name' in Step VIII?
eng/eng A0 VI # 'name' 1 Farfa 1 22

01. Sixth from the leftend/ IT0 R & ST 02. First from the right end / ITT T & TgaT
03. Fifth from the right end / 2T0 FI¥ F af=at 04. Seventh from the left end / aTT ¥ & ATqat

05. None of these / T7H H FIS Tl
Q-26  Whatis the position of 'name' in Step VIII?
eng hin FOT VI # 'name’ T fRarfa s=m %?



01. Sixth from the leftend/ aT0 R & ZST  02. First from the right end / ITT T & TgaT
03.  Fifth from the right end / 3TT FI¥ F af=at 04. Seventh from the left end / aTT ¥ & ATAat
05. None of these / Z7H H FIs A5t

Solution for Question 26 Ans Key: 2

eng/eng

In the rearrangement, the numbers are arranged in descending order from left to right in each alternate step with the addition of a new
middle digit which is the difference between the digits of the given each number. Words are arranged in alphabetical order on the right
end in each alternate step.

Input: 21 date 42 name 73 queen 37 easy 54 jar

Step |: 743 21 date 42 name queen 37 easy 54 jar

Step Il: 743 21 42 name queen 37 easy 54 jar date

Step lll. 743 514 21 42 name queen 37 easy jar date

Step IV. 743 514 21 42 name queen 37 jar date easy

Step V. 743 514 422 21 name queen 37 jar date easy

Step VI. 743 514 422 21 name queen 37 date easy jar

Step VII. 743 514 422 347 21 name queen date easy jar

Step VIII. 743 514 422 347 21 queen date easy jar name

Step IX. 743 514 422 347 211 queen date easy jar name

Step X. 743 514 422 347 211 date easy jar name queen

TASHAET H, HEATSAl T e o J20 § 970 & 370 FH § Uk T HLT 3 AT ST & 917 a0l 70 § Faied fBFar siar g S faw mw
TAT HEAT & 3hi & o= T AT | 95T DT T qhioqsh F<0 § I0 GIT I AUITGHA | AT f3ham Srar 2
Z9e: 21 date 42 name 73 queen 37 easy 54 jar

=7 |: 743 21 date 42 name queen 37 easy 54 jar

=T II: 743 21 42 name queen 37 easy 54 jar date

=27 11l. 743 514 21 42 name queen 37 easy jar date

=T IV. 743 514 21 42 name queen 37 jar date easy

T V. 743 514 422 21 name queen 37 jar date easy

=0T VI. 743 514 422 21 name queen 37 date easy jar

=T VII. 743 514 422 347 21 name queen date easy jar

=T VIII. 743 514 422 347 21 queen date easy jar name

=7 IX. 743 514 422 347 211 queen date easy jar name

=0T X. 743 514 422 347 211 date easy jar name queen

In the rearrangement, the numbers are arranged in descending order from left to right in each alternate step with the addition of a new middle digit which is
the difference between the digits of the given each number. Words are arranged in alphabetical order on the right end in each alternate step.
Input: 21 date 42 name 73 queen 37 easy 54 jar

Step I: 743 21 date 42 name queen 37 easy 54 jar

Step II: 743 21 42 name queen 37 easy 54 jar date

Step III. 743 514 21 42 name queen 37 easy jar date

Step IV. 743 514 21 42 name queen 37 jar date easy

Step V. 743 514 422 21 name queen 37 jar date easy

Step VI. 743 514 422 21 name queen 37 date easy jar

Step VII. 743 514 422 347 21 name queen date easy jar

Step VIIIL. 743 514 422 347 21 queen date easy jar name

Step IX. 743 514 422 347 211 queen date easy jar name

Step X. 743 514 422 347 211 date easy jar name queen

TASHFEAT H, HEATSAT F TAF Aehicqsh 90 § G0 F 70 FHH H UF 7T HeF 30 Tl SIS 6 41 AGel 77 § Aeqd fhar sirar g s 7w
T AT 6 1 h S HT HAL 2| a1 H TH Gh{eTh 907 H 10 T T2 AHA H A e2d a1 S 2l

TAY<: 21 date 42 name 73 queen 37 easy 54 jar

=T I: 743 21 date 42 name queen 37 easy 54 jar

=0T I1: 743 21 42 name queen 37 easy 54 jar date

=0T I11. 743 514 21 42 name queen 37 easy jar date

07 IV. 743 514 21 42 name queen 37 jar date easy

0T V. 743 514 422 21 name queen 37 jar date easy

07 VI. 743 514 422 21 name queen 37 date easy jar



Q-27

eng/eng

Q-27

eng hin

=07 VII. 743 514 422 347 21 name queen date easy jar
=T VIII. 743 514 422 347 21 queen date easy jar name
T [X. 743 514 422 347 211 queen date easy jar name

LT X. 743 514 422 347 211 date easy jar name queen

Which of the following elements is seventh from the right end in Step V?

Fraferfea & & FiF-a7 9o 3201 V § 270 P F a4 82

01. 21 02. name
03. 42 04. queen
05. None of these / 37H | FIE Tgl

Which of the following elements is seventh from the right end in Step V?
Feferfea & & Fi-a1 9 9201 V § 270 SiK F a4 82

01. 21 02. name
03. 42 04. queen
05. None of these / 28 I TS T2}

Solution for Question 27 Ans Key: 1

eng hin

In the rearrangement, the numbers are arranged in descending order from left to right in each alternate step with the addition of a new middle digit which is
the difference between the digits of the given each number. Words are arranged in alphabetical order on the right end in each alternate step.
Input: 21 date 42 name 73 queen 37 easy 54 jar

Step I: 743 21 date 42 name queen 37 easy 54 jar

Step II: 743 21 42 name queen 37 easy 54 jar date

Step III. 743 514 21 42 name queen 37 easy jar date

Step IV. 743 514 21 42 name queen 37 jar date easy

Step V. 743 514 422 21 name queen 37 jar date easy

Step VI. 743 514 422 21 name queen 37 date easy jar

Step VII. 743 514 422 347 21 name queen date easy jar

Step VIIL. 743 514 422 347 21 queen date easy jar name

Step [X. 743 514 422 347 211 queen date easy jar name

Step X. 743 514 422 347 211 date easy jar name queen

qAAaEAT §, TEATA 1 Tcdh Shfedsh FL0 | JT0 F 70 77 § U 70 LT 37 il SIS F 9 Jaat #7 ¥ Faieaq gy smar g o fiww
ST FEAT % SRl % o1 T ST gl 9TSal 1 Teish Ahfeqs J<0 § 70 G 9 F0TwT H =raieera 3 smar 21
TAY<: 21 date 42 name 73 queen 37 easy 54 jar

=TT [: 743 21 date 42 name queen 37 easy 54 jar

=207 11: 743 21 42 name queen 37 easy 54 jar date

=07 [11. 743 514 21 42 name queen 37 easy jar date

=07 V. 743 514 21 42 name queen 37 jar date easy

FIO7 V. 743 514 422 21 name queen 37 jar date easy

=0T VI. 743 514 422 21 name queen 37 date easy jar

=07 VII. 743 514 422 347 21 name queen date easy jar

=07 VIIL. 743 514 422 347 21 queen date easy jar name

LT [X. 743 514 422 347 211 queen date easy jar name

=TT X. 743 514 422 347 211 date easy jar name queen

In the rearrangement, the numbers are arranged in descending order from left to right in each alternate step with the addition of a new middle digit which is
the difference between the digits of the given each number. Words are arranged in alphabetical order on the right end in each alternate step.
Input: 21 date 42 name 73 queen 37 easy 54 jar

Step I: 743 21 date 42 name queen 37 easy 54 jar

Step II: 743 21 42 name queen 37 easy 54 jar date

Step II1. 743 514 21 42 name queen 37 easy jar date

Step IV. 743 514 21 42 name queen 37 jar date easy

Step V. 743 514 422 21 name queen 37 jar date easy

Step VI. 743 514 422 21 name queen 37 date easy jar

Step VII. 743 514 422 347 21 name queen date easy jar

Step VIIIL. 743 514 422 347 21 queen date easy jar name

Step IX. 743 514 422 347 211 queen date easy jar name

Step X. 743 514 422 347 211 date easy jar name queen

IASHFEAT H, HEATSAT F TAF Aehicqsh 90 § 910 F 70 FHH H UF 7T HeF 30 Tl SIS 6 941 Aqel 77 § Feqd fhar sirar g s 7w
T HEAT % 31 o 1= T AT g| TEaT HI TATH dah{edah F<0 H I ZIT 9L JUITHT § Faread AT Srar gl

TY<: 21 date 42 name 73 queen 37 easy 54 jar

=7 I: 743 21 date 42 name queen 37 easy 54 jar



Q-28
eng/eng

Q-28

eng hin

=0T 11: 743 21 42 name queen 37 easy 54 jar date

=7 111. 743 514 21 42 name queen 37 easy jar date
T IV. 743 514 21 42 name queen 37 jar date easy
LT V. 743 514 422 21 name queen 37 jar date easy
=TT VI. 743 514 422 21 name queen 37 date easy jar
=TT VIL. 743 514 422 347 21 name queen date easy jar
=07 VIII. 743 514 422 347 21 queen date easy jar name
=IO IX. 743 514 422 347 211 queen date easy jar name
LT X. 743 514 422 347 211 date easy jar name queen

How many steps are required to complete to complete this arrangement?

TH AT HT QT FA % (70 ol =F2 7 Araeq=hadr g2

01. 7 02. §
03. 9 04. 10
05. None of these / TAH H FIs Tl

How many steps are required to complete to complete this arrangement?

TH AT T IR 3 o o0 e =Iwont it sraesrahvar g2

01. 7 02. §
03. 9 04. 10
05. None of these / TTH T I3 T2l

Solution for Question 28 Ans Key: 4

eng hin

In the rearrangement, the numbers are arranged in descending order from left to right in each alternate step with the addition of a new
middle digit which is the difference between the digits of the given each number. Words are arranged in alphabetical order on the right
end in each alternate step.

Input: 21 date 42 name 73 queen 37 easy 54 jar

Step |: 743 21 date 42 name queen 37 easy 54 jar

Step II: 743 21 42 name queen 37 easy 54 jar date

Step lll. 743 514 21 42 name queen 37 easy jar date

Step IV. 743 514 21 42 name queen 37 jar date easy

Step V. 743 514 422 21 name queen 37 jar date easy

Step VI. 743 514 422 21 name queen 37 date easy jar

Step VII. 743 514 422 347 21 name queen date easy jar

Step VIII. 743 514 422 347 21 queen date easy jar name

Step IX. 743 514 422 347 211 queen date easy jar name

Step X. 743 514 422 347 211 date easy jar name queen

A AEAT H, HEATHAT HI T4 deh (o0 FL07 H q70 § 0 FF H UFH G0 L7 305 F] S & G179 A el FH § A0 65T S[rar g S 77 1w
ST AT & (1 & o1 & AL g| 5T HI AT dhieqsh F<0 § I0 GIT I AUTIHA | AT 36T STaT 2
g19¢<: 21 date 42 name 73 queen 37 easy 54 jar

=07 |: 743 21 date 42 name queen 37 easy 54 jar

=7 1I: 743 21 42 name queen 37 easy 54 jar date

07 111, 743 514 21 42 name queen 37 easy jar date

=7 1V. 743 514 21 42 name queen 37 jar date easy

20T V. 743 514 422 21 name queen 37 jar date easy

20T VI. 743 514 422 21 name queen 37 date easy jar

=T VII. 743 514 422 347 21 name queen date easy jar

=T VIII. 743 514 422 347 21 queen date easy jar name

7 IX. 743 514 422 347 211 queen date easy jar name

=T X. 743 514 422 347 211 date easy jar name queen

In the rearrangement, the numbers are arranged in descending order from left to right in each alternate step with the addition of a new
middle digit which is the difference between the digits of the given each number. Words are arranged in alphabetical order on the right
end in each alternate step.

Input: 21 date 42 name 73 queen 37 easy 54 jar

Step |: 743 21 date 42 name queen 37 easy 54 jar

Step Il: 743 21 42 name queen 37 easy 54 jar date

Step lll. 743 514 21 42 name queen 37 easy jar date

Step IV. 743 514 21 42 name queen 37 jar date easy

Step V. 743 514 422 21 name queen 37 jar date easy

Step VI. 743 514 422 21 name queen 37 date easy jar

Step VII. 743 514 422 347 21 name queen date easy jar

Step VIII. 743 514 422 347 21 queen date easy jar name

Step IX. 743 514 422 347 211 queen date easy jar name

Step X. 743 514 422 347 211 date easy jar name queen



Q-29

eng/eng

Q-29

ono hin

TAHFET H, Wﬁﬁméﬁmwﬁmﬁmmﬁ@:@%ﬂwﬁﬁﬁ%mwmﬁﬁmﬁm&w%w%sﬁﬁnw
T HEAT & 3hi & S T AT | 9T5aT DT T qohiodsh FL0 § IT0 GIT IT AUIGHA | H e f3ham Srar 2
gq9e: 21 date 42 name 73 queen 37 easy 54 jar

=207 |: 743 21 date 42 name queen 37 easy 54 jar

=27 II: 743 21 42 name queen 37 easy 54 jar date

=27 IIl. 743 514 21 42 name queen 37 easy jar date

=T |V. 743 514 21 42 name queen 37 jar date easy

X7 V. 743 514 422 21 name queen 37 jar date easy

=7 VI. 743 514 422 21 name queen 37 date easy jar

=T VII. 743 514 422 347 21 name queen date easy jar

=T VIII. 743 514 422 347 21 queen date easy jar name

=T IX. 743 514 422 347 211 queen date easy jar name

T X. 743 514 422 347 211 date easy jar name queen

What is the position of ‘347’ in Step VII?
=7 VILH <347 3t fourfa s 22

01. Third from right end / 370 G A dt&=r  02.  Eighth from left end / a0 T 7 et
03. Sixth from right end / &3 ¥ ¥ F3T 04. Fourth from left end / a0 T 7 =TT

05. Third from left end / ST BT F ST
What is the position of ‘347’ in Step VII?
=T VI H 347 &7 feufa w22

01. Third from right end / 3T T 7 ATER 02. Eighth from left end / ATT T 7 et
03. Sixth from right end / 33 BT F 2T 04. Fourth from left end / AT I 7 =TT
05. Third from left end / ST T & ATE7

Solution for Question 29 Ans Key: 4

eng hin

In the rearrangement, the numbers are arranged in descending order from left to right in each alternate step with the addition of a new
middle digit which is the difference between the digits of the given each number. Words are arranged in alphabetical order on the right
end in each alternate step.

Input: 21 date 42 name 73 queen 37 easy 54 jar

Step |: 743 21 date 42 name queen 37 easy 54 jar

Step II: 743 21 42 name queen 37 easy 54 jar date

Step lll. 743 514 21 42 name queen 37 easy jar date

Step IV. 743 514 21 42 name queen 37 jar date easy

Step V. 743 514 422 21 name queen 37 jar date easy

Step VI. 743 514 422 21 name queen 37 date easy jar

Step VII. 743 514 422 347 21 name queen date easy jar

Step VIII. 743 514 422 347 21 queen date easy jar name

Step IX. 743 514 422 347 211 queen date easy jar name

Step X. 743 514 422 347 211 date easy jar name queen

[T H, HEATHN HT T4 Shfeqeh L H 10 & G0 FH H Ueh TU TET 3 7 ST & 61 AIE] FF § sFafeerd G s ¢ S fag
TEIT FEAT T S F A T AAT E| AFET T AT THOTF A0 F Z(0 BT T ATTHRA H AT BraT e 21
¥9<2: 21 date 42 name 73 queen 37 easy 54 jar

JOT |: 743 21 date 42 name queen 37 easy 54 jar

=7 1l: 743 21 42 name queen 37 easy 54 jar date

=T 1Il. 743 514 21 42 name queen 37 easy jar date

=7 1V. 743 514 21 42 name queen 37 jar date easy

X7 V. 743 514 422 21 name queen 37 jar date easy

20T VI. 743 514 422 21 name queen 37 date easy jar

=07 VII. 743 514 422 347 21 name queen date easy jar

=T VIII. 743 514 422 347 21 queen date easy jar name

=T IX. 743 514 422 347 211 queen date easy jar name

=T X. 743 514 422 347 211 date easy jar name queen

In the rearrangement, the numbers are arranged in descending order from left to right in each alternate step and middle digit of every
number is the difference between the digits in the number. Words are arranged in alphabetical order on the right end in each alternate
step.

Input: 21 date 42 name 73 queen 37 easy 54 jar

Step |: 743 21 date 42 name queen 37 easy 54 jar

Step Il: 743 21 42 name queen 37 easy 54 jar date

Step lll. 743 514 21 42 name queen 37 easy jar date

Step IV. 743 514 21 42 name queen 37 jar date easy

Step V. 743 514 422 21 name queen 37 jar date easy

Step VI. 743 514 422 21 name queen 37 date easy jar

Step VII. 743 514 422 347 21 name queen date easy jar

Step VIII. 743 514 422 347 21 queen date easy jar name

Step IX. 743 514 422 347 211 queen date easy jar name

Step X. 743 514 422 347 211 date easy jar name queen



AT H, HEATH ] TAF aHhioqs 207 § a0 & &0 77 § SALe! FH | AGAd FHIT ST § 3T T HeaT F qeT o0 H i 5 4
ST BIAT g1 T5ET &l TcAF Aehieds A207 § ST ST 9T AUITHT § Fedd AT Sar gl
g9e: 21 date 42 name 73 queen 37 easy 54 jar

=207 |: 743 21 date 42 name queen 37 easy 54 jar

=27 II: 743 21 42 name queen 37 easy 54 jar date

=2 IIl. 743 514 21 42 name queen 37 easy jar date

=T |V. 743 514 21 42 name queen 37 jar date easy

X7 V. 743 514 422 21 name queen 37 jar date easy

=7 VI. 743 514 422 21 name queen 37 date easy jar

=T VII. 743 514 422 347 21 name queen date easy jar

=T VIII. 743 514 422 347 21 queen date easy jar name

=T IX. 743 514 422 347 211 queen date easy jar name

FT X. 743 514 422 347 211 date easy jar name queen

Q-30  How many words/numbers are there between ‘21” and ‘jar’ in Step [V?
engleng AL IV H 21 *3T jar’ F F1= e orex / Feamd &2

01. 2 02. 3
03. 4 04. 5

05. None of These / T & IS Al

- ow many words/numbers are there between and ‘jar’ 1n Step 1V?
30 H ds/numb. here b 21’ and ‘jar’ in Step IV?
enohin  FIOIVH 21 317 Gar’ % &= e orez / Heard 2

01. 2 02. 3
03. 4 04. 5
05. None of These / 378 H 1% Aal
Solution for Question 30 Ans Key: 3

In the rearrangement, the numbers are arranged in descending order from left to right in each alternate step with the addition of a new middle digit which is
the difference between the digits of the given each number. Words are arranged in alphabetical order on the right end in each alternate step.
Input: 21 date 42 name 73 queen 37 easy 54 jar

Step I: 743 21 date 42 name queen 37 easy 54 jar

Step II: 743 21 42 name queen 37 easy 54 jar date

Step II1. 743 514 21 42 name queen 37 easy jar date

Step IV. 743 514 21 42 name queen 37 jar date easy

Step V. 743 514 422 21 name queen 37 jar date easy

Step VI. 743 514 422 21 name queen 37 date easy jar

Step VIIL. 743 514 422 347 21 name queen date easy jar

Step VIIL. 743 514 422 347 21 queen date easy jar name

Step [X. 743 514 422 347 211 queen date easy jar name

Step X. 743 514 422 347 211 date easy jar name queen

AT §, HEATH T T qohiodeh L0 H 970 F S0 77 § T 70 TLT 3 T SIS F 912 Ta2el w7 # Aaqtedd G sar g o faw ao
TS HEAT % ST F 1 T HqAL gl Aal ! TAF dhiedsh T4 § TT0 P I AVIHA § Faedd 77 Srar 21
g9<: 21 date 42 name 73 queen 37 easy 54 jar

=207 [: 743 21 date 42 name queen 37 easy 54 jar

=0T 11: 743 21 42 name queen 37 easy 54 jar date

=0T I11. 743 514 21 42 name queen 37 easy jar date

=T IV. 743 514 21 42 name queen 37 jar date easy

LT V. 743 514 422 21 name queen 37 jar date easy

=07 VI. 743 514 422 21 name queen 37 date easy jar

=07 VIL. 743 514 422 347 21 name queen date easy jar

=07 VIII. 743 514 422 347 21 queen date easy jar name

0T [X. 743 514 422 347 211 queen date easy jar name

LT X. 743 514 422 347 211 date easy jar name queen

eng hin  In the rearrangement, the numbers are arranged in descending order from left to right in each alternate step with the addition of a new middle digit which is
the difference between the digits of the given each number. Words are arranged in alphabetical order on the right end in each alternate step.

Input: 21 date 42 name 73 queen 37 easy 54 jar

Step I: 743 21 date 42 name queen 37 easy 54 jar

Step II: 743 21 42 name queen 37 easy 54 jar date

Step III. 743 514 21 42 name queen 37 easy jar date
Step IV. 743 514 21 42 name queen 37 jar date easy
Step V. 743 514 422 21 name queen 37 jar date easy
Step VI. 743 514 422 21 name queen 37 date easy jar
Step VII. 743 514 422 347 21 name queen date easy jar
Step VIIL. 743 514 422 347 21 queen date easy jar name



Step IX. 743 514 422 347 211 queen date easy jar name
Step X. 743 514 422 347 211 date easy jar name queen

IAHFEAT H, HEATSA F TAF Aehicqsh 90 § G0 F 0 HH H UF 7T HeF i Tl SIS 6 A1 Aael 77 § Aeqd fhar sirar g s 7w
T TEAT o 31 F 19 T 3 | Teal I TAT FRfoTsh T H 70 FGIT T AUTGHA § e B Srar 21
TYe: 21 date 42 name 73 queen 37 easy 54 jar

=0T I: 743 21 date 42 name queen 37 easy 54 jar

LT I1: 743 21 42 name queen 37 easy 54 jar date

=0T I11. 743 514 21 42 name queen 37 easy jar date

LT IV. 743 514 21 42 name queen 37 jar date easy

=TT V. 743 514 422 21 name queen 37 jar date easy

=T VI. 743 514 422 21 name queen 37 date easy jar

=07 VII. 743 514 422 347 21 name queen date easy jar

=07 VIIL. 743 514 422 347 21 queen date easy jar name

LT [X. 743 514 422 347 211 queen date easy jar name

T X. 743 514 422 347 211 date easy jar name queen

Passage for Question 31, 32, 33, 34, 35 (ST-2075 RRB CLERK MAINS (31-35) 2020)
eng/eng Passage

Study the following information carefully and answer the question given below.

Twelve colleagues are sitting in two parallel rows containing six colleagues in each, in such a way that there is an equal distance between adjacent colleagues. In
row-1- Praful, Sachin, Rahul, Sulu, Rohit and Vivek are seated and all of them are facing South. In row-2- Ritu, Monika, Ravi, Divya, Neetu and Neha are seated
and all of them are facing North. Therefore, in the given seating arrangement each member seated in a row faces another member of the other row.

Divya is sitting third to the left of Ritu. Neetu is facing Vivek.

Praful is sitting third to the right of Rohit. Sachin is facing Ritu.

Vivek is sitting second to the right of Rohit. Monika is facing Sulu.

Ravi is not facing Rohit.

Divya does not sit any of extreme end of the line.

Monika is an immediate left of Divya.

Praful does not sit any of extreme end of the line.

et STasTd £ 1 sqmga T stegaT W AT RurrarFrswc)

IE AN &7 AT T3 § T T Hoeﬂ*ﬁwucwﬁrﬁ%f“%fr%!?v%frﬁﬁ%aﬁ%ﬁﬁ?ﬁm%lﬁ%lﬁErq'—vrﬁr%—rr.ﬂg?fr,ﬂ?:[,
Tfed o s & )omquﬁaﬂWﬁmT%H?%%Iﬁzwﬁzﬁﬁwﬁﬁw:ﬁqsﬁﬂma} T FHT I AT AT G T2 2| TATG, T5F
SAAEAT H UF U % TcdF GaEd QAT Hieh & 77 627 &l a@d gl

e, g & ard |t 33t g1 Aiq 1 7@ f@es it = 2

TR, TNTd & 2T AT 957 g| T &1 g g i1 T gl

ferere, TTRd  I1d THIT 927 21 AT /T & g 1 A7 2|

T 7 4@ Afeq o & Tt 2

Tz dfen & ol sifw =i o= 9= 2T 2

eng hin Passage
Study the following information carefully and answer the question given below.

Twelve colleagues are sitting in two parallel rows containing six colleagues in each, in such a way that there is an equal distance between adjacent colleagues. In
row-1- Praful, Sachin, Rahul, Sulu, Rohit and Vivek are seated and all of them are facing South. In row-2- Ritu, Monika, Ravi, Divya, Neetu and Neha are seated
and all of them are facing North. Therefore, in the given seating arrangement each member seated in a row faces another member of the other row.

Divya is sitting third to the left of Ritu. Neetu is facing Vivek.

Praful is sitting third to the right of Rohit. Sachin is facing Ritu.

Vivek is sitting second to the right of Rohit. Monika is facing Sulu.

Ravi is not facing Rohit.

Divya does not sit any of extreme end of the line.

Monika is an immediate left of Divya.

Praful does not sit any of extreme end of the line.

Fafafaa TTasTd &1 eamgd® AegaT w2 A= fRrgagwwrFrIacd

g TEANIT I FHTRAL T@TA § ToAF ¥ F: AN 67 T F 9% g % qfershe GgaTRat & a= il g4 919 8| ieh-1 7§ T, qi=e, T,
ﬁ%ﬁﬁ?ﬁﬁ?%%@f?mﬁwgﬁ@ﬁ%@@%ﬁZﬁﬁﬂ HrfeeT, T4, =, :ﬁqaﬁtﬁgré%éaﬁtmﬁwaﬁaﬁt%ali%lsﬂﬁq o
FFET | UF Uik & TodF qaeq gHLT Uik & o7 T8€T %l 394 gl
o=, g % & ey 93t 81 g 1 7@ f5es® #i7 A7 g
THA, TTed * a3 TrEeT 937 g1 T w1 7@ g 7 A g
T3, Tfed o T8 O IoT g HITAEHT F7 q@ g 6T A7 2
i3 F1 g TR f e 2l




o= ofer o el sifaw g o 78 a6 2
AT, =T & T aE gl

TR UTeE o faReT Sifaw 2w a7 T8l 27 81

Q-31  Whois second to the left of Ravi?

eng/eng ﬁ%aﬁmﬁ?%q
01. Monika / #Tfa=T 02. Ritu/ g
03. Neha /=gT 04. Divya/ fZ=aT
05. Neetu /g

Q-31  Whois second to the left of Ravi?

enghin ﬁ%aﬁgﬂ( ‘_’ﬁ_"i-%?
01. Monika / #TfaT 02. Ritu/fg
03. Neha/%gT 04. Divya/ f=aT
05. Neetu /g

Solution for Question 31 Ans Key: 1

engleng  gy| Rahul  Praful Vivek Sachin Rohit
Monika Divya Ravi Neetu Ritu Neha
e Tgd WP e aRs R
Afer e W g R @
Sulu Rahul Praful  Vivek Sachin Rohit
Monika Divya Ravi Neetu Ritu Neha
g9 e g A @R At
Ao Rear I g Rg =

Q-32  Whois in front of Praful?
THA & AT F1 52
01. Monika / #Tf=aT 02. Rohit/ZIfZa
03. Neha /gT 04. Ravi/If=
05. Neetu /g

Q-32  Whois in front of Praful?

enghin T % ATHT I &2
01. Monika / FTH=T 02. Rohit/ Tfgd
03. Neha /=gT 04. Ravi/Tf=
05. Neetu /g

Solution for Question 32 Ans Key: 4

engleng  gyjy Rahul  Praful Vivek  Sachin Rohit
Monika Divya  Ravi Neetu Ritu Neha
g e wpw fRE wfw e

enghin g, Rahul  Praful Vivek  Sachin Rohit

AR Em - ag —_ -~ .

e

I

ar ¥



ViLTRg - LV Y d Rail NoCLlu LA NEtilg
¥ Mg upw REw e Ra

A Remr @ Mg Ry A

=

Q-33 How many persons are sitting between Ritu and Divya?

eng/eng &ﬂﬁfﬁm'f%ﬁ?ﬁﬁﬁ?ﬁﬁa% %?

01. One/TF 02. Two /3T
03. Three /i 04. Five/ T =
05. Four/=TX

Q-33 How many persons are sitting between Ritu and Divya?
enghin R < fe=a % = Frer i 3 €2

01. One/T=% 02. Two/aT
03. Three /& 04. Five /=
05. Four/=TT
Solution for Question 33 Ans Key: 2
Sulu Rahul Praful  Vivek Sachin Rohit
Monika Divya Ravi Neetu Ritu Neha

e Tgd G s wfe Ot

At e W Ag R A

Sulu Rahul Praful Vivek Sachin Rohit

Monika Divya Ravi Neetu Ritu Neha
Hq Wga WP 9% e aka
Ao Rer i@ g R =@

Q-34 Four of the following five are alike in a certain way and so form a group. Which one of the following does not belong to that group?

ferferfera o= & & = v [ a8 T 9w € s gatrn vE aag a9 g1 Rt § & oo 59 aqg ¥ g4t T8 g2

01. Divya-Monika / fe=aT-ATT=T 02. Rahul- Praful / TTg-THA
03. Vivek- Sachin / farar=-af=e 04. Neetu- Ritu / #q-Fog
05. Sachin- Rohit / Ff==-Trfga
Q-34 Four of the following five are alike in a certain way and so form a group. Which one of the following does not belong to that group?

eng hin  FferEd o= # & = v R a8 & 99 2 o gaforg uF @9g avmd 8| Fefeiea § & F17-97 39 79 9 9609d Ta1 82

01. Divya-Monika / fZ=T-HTH=HT 02. Rahul- Praful / TTgA-THA
03. Vivek- Sachin / faraa-af= 04. Neetu- Ritu / FIg-g
05. Sachin- Rohit/ Af==-Trfgd
Solution for Question 34 Ans Key: 4

eng/eng  sulu Rahul  Praful Vivek  Sachin Rohit

Monika Divya Ravi Neetu  Ritu Neha
gq WgE wpw fEw wRe afw

#@fmr Rer R g Rg A

=

enghin  sulu Rahul  Praful Vivek  Sachin Rohit



Q-35

Q-35

eng hin

ionika Ulvya navi

ﬁu@mﬁhﬁ:ﬁa’

#Afe e W@ s

Who is fourth to the left of Neha?
engleng &l % aTH =TAT HI 52

01. Monika / FTH=T
03. Divya/ &=
05. Neetu /g

Who is fourth to the left of Neha?

T AT AT FA 2

01. Monika / T

03. Divya/fZ=am

05. Neetu /g
Solution for Question 35

Sulu Rahu Prafu

Meonika Divya Rav

Q-36

Q-36

eng hin

el IgS AP CCEg
il 3

AT i @ Fim

Sulu Rahu Prafu

Monika Divya Rav
Hel TgS AP ICCE
B 3

#sifer e I g

Es
02.
04.
02.
04.
Vivek Sachin
Neetu Ritu
e Ofta
e T
Vivek Sachin
Neetu Ritu

"= Ofta

ﬁg E Gl

nNeetu nITu Nena

Rohit/ aﬁ{ﬂ
Ravi /T

Rohit / ﬁw%?r
Ravi/ T

Rohit

Neha

Rohit

Neha

Ans Key: 3

Each of the following questions consists of a statement followed by three arguments I, II and III. You have to decide which of the arguments
is a STRONG argument and which is a WEAK Argument. 'Strong’ arguments are those which are both important and directly related to the

question. ‘Weak’ arguments are those which are of minor importance and also may not be directly related to the question.

Statement: Should the parliament elections in India be held on the gap of two years throughout the country?

Arguments:

. Yes, this is the only way to control corruption.

II. Yes, this will provide a proper ruling with the system in the country.

[II. No, some other countries hold elections after two years.

frafafaa® v s vy ¥ ua w7 fearg Ped sradfimad [ HhT i &) oy ag a7 FIATET P Fra-araf aaw § T Ha-
TFATTLR | TAH' T d § STTAGAYY gId g ML AT d g AGfaq g1 FANIC T 98 AT HFAAGALU g1d g N AgTa & ey

gafaa agi g g1

T

FAT:  FAT, TIT § TES F AT AT H &7 A9 o 3iq¥ 9 oo 1 =iz 2

I 2, 9% T &1 [FEta w3 7 U a4 2
I T, T 39 | UF G FE=07 e T2+ FH3m)
II. 72, Feg 9T 3901 | < J1A 78 A9 21T 21

01. None is strong / FT< T el B
03. Only IT is strong / Fae 1 HIF Bl

05. Only I and II are strong./ Fa<T [ 3/ 11

T 2

02. Only I is strong,/ Fae [ T 21
04. Only III is strong. / Fae [11 T2 21

Each of the following questions consists of a statement followed by three arguments I, IT and III. You have to decide which of the arguments
is a STRONG argument and which is a WEAK Argument. 'Strong’ arguments are those which are both important and directly related to the

question. ‘Weak’ arguments are those which are of minor importance and also may not be directly related to the question.

Statement: Should the parliament elections in India be held on the gap of two years throughout the country?

Arguments:



I.  Yes, this is the only way to control corruption.
1. Yes, this will provide a proper ruling with the system in the country.
I1I. No, some other countries hold elections after two years.

Fafafgd d ras o § taFaT feare Sed aredivad LIS ) IFT IgaT FIATET TR FTT-AT T AW E A THTA-
THFATIT Y| GIH T 4§ AT AZeaYY g1d & AT TT A Y G fera §1 'Fae o I T FAAGAYN 319 § ALagwa q e
gafaagigra 81

FAT: AT, TIA H GG 6 A9 S99 § &7 q9 6 a9 Fhu S FA1fRw 2

T

I g, T8 IO i R e &1 v a6 21

I T, T 39 | UF GHT FEA=07 e T2 H3)

1. 7ET, & 7 391 H I A1 978 9719 21 gl

01. None is strong / FTs HIF A1 2l 02. Only I is strong,/ Fa [ FLT I
03. Only II is strong / Fa< 1 AT & 04. Only III is strong. / Faer 111 A I
05. Only I and IT are strong./ Faret I 3T 11
T &
Solution for Question 36 Ans Key: 1
eng/eng In the argument I, the "only" word is used, so the argument I is weak because it is not the only way to control the corruption.
Present time, the parliamentary elections in India held on the gap of five years. So we cannot sure to give a proper ruling system to the country in two years.
Hence, argument II is weak.
Argument I1I is also weak because there are the comparison and we can't compare our country to other countries because all countries have a different
constitution.
T 1 H FeAeT* 915 HT TART AT & T T [ FHSTT § FAI1h AT Fael TETATE T AT 2 H7 THATT T 721 5l
FAATT THA |, T AT F SIALA T AT § HHE FATT 814 ¢ Ad: g7 TG AT Tal FT Tahd @ 19 a1 a9 H T qi=a MI=or sTaeqr 397 Hi7
T T I 7 b [ FHASL 2
T 101 Y FHSTE g FANR TT TAAT A1 AT Z| H AT 397 T TAAT THL 90T T A1 ¥ Tohel & FT 11 THT T9T 3 FITLTA ST
In the argument I, the "only" word is used, so the argument I is weak because it is not the only way to control the corruption.
Present time, the parliamentary elections in India held on the gap of five years. So we cannot sure to give a proper ruling system to the country in two years.
Hence, argument II is weak.
Argument I1I is also weak because there are the comparison and we can't compare our country to other countries because all countries have a different
constitution.
T [ H Fad 9758 T TN G © 3 T | HHSIT g FAN Tl FaA TETATL I (AT H0A HT THATT LA T2l &l
FAATT THA |, T AT F SIqA U AT § HHE FAT9 81 & Ad: g7 T GIATAd Tal FT Gad @ 19 &l a9 § T qiaa HI=1or sTaew 397 Fi7
T ¥ I T 6 [ FASL 2
T 111 AT FHSTE g FAIM AT TAAT 0¥ AT 5| ZH ST 9T T ToAAT GAY S0 H el FHY Tl & FA110 THT I9T F HALTT FAT-3TT 2|
Q-37 In each question below given a statement and two conclusions. You have to assume everything in the statement to be true and choose those
eng conclusions which of the two conclusions logically follow.
Statement:- The main cause of poverty in India is unemployment.
Conclusions:-
(I) The opportunity of employment is necessary, for the end of the poverty.
(Il) All peoples are unemployed in the country.
Give answer -
A (GUTEADITH TR HITT G (75D | AAD HAAH QIS HHSTTADTLAT D AA HAA GUAAI (ASHA(H G AT DD &I &
FLALT FIA T TISHS HTIIT FIATE
FAA: AT DI FEFAT FT LS TF THE FE &
s
(1) TRe=ar &1 79T 7 F o TS F A6 ITAs FIAT SAFLTF Bl
(D) o § aedt =rftE T 8
IFTHRIT-
01. Ifonly conclusion I follows./ % Faer 02. Ifonly conclusion II follows / TT Faer T 11 ST FdT Bl
AT [ ST F2aT 2
03. Ifeither conclusion I or II follows./ I AT 04. If neither conclusion I nor II follows./ 7% 7 T fAaht [ i< 7 2T 11 STHETT FT 2
AT e 13T 11 82T 7T g
05. Ifboth conclusions I and II follow. / 7%
FAT FAHT 17 11 STE70 Fd 2
Q-37 In each question below given a statement and two conclusions. You have to assume everything in the statement to be true and choose those
eng hin conclusions which of the two conclusions logically follow.

Statement:- The main cause of poverty in India is unemployment.
Conclusions:-

() The opportunity of employment is necessary, for the end of the poverty.
(I) All peoples are unemployed in the country.

Give answer -

T3 AT v AFITd TFFI7 7 S fA55T €| T FI9 7 7 Gt Fraw1ieai Fraer aad g fAsawt A F i s w09



FAAL FIA TR TISHS HTITT HFLAT G

FAT: AT 0T (LT HT ST T THE FHTT ¢

Aoy

(1)  ToewaT T FHT F o o TSI o SEEY SUersd T aeTF 2l
(D) =or § aedt =t v 8

IFTHRIT-

01. Ifonly conclusion I follows./ % Faer 02. If only conclusion II follows / TT Faer TTHT 11 ST F2aT Bl
e [ s F2aT gl

03. Ifeither conclusion I or II follows./ I AT 04. If neither conclusion I nor II follows./ 7% 7 T fAeht 1 3iT 7 2T 11 STHETT FaT 2
AT fA 13T 11 oo 2T 8

05. If both conclusions I and II follow. / 7%
AT AR [ 7 11 ST E0 F2d g
Solution for Question 37 Ans Key: 1

eng/eng  The poverty of India is a main cause of unemployment which means that if unemployment is eliminated from root then poverty could be ended so
conclusion I is logically followed.
AT Y AT 7 T T Fweer STeny & S o @ 5 7f S0 Ste & qwr g1 St € a1 T 59 g7 qedl g SEis daa
ey [ 7 = 21

eng hin  The poverty of India is a main cause of unemployment which means that if unemployment is eliminated from root then poverty could be ended so
conclusion T is logically followed.
AR T [HEFAT T TF THE FLT ST 8 et o1 g 6 72 a0SmT ST & 9676 g1 S @ af TEET G971 a1 qhal g SHIe0 Had

Ao [ 9 =91 2

Q-38 In each question below is given a statement followed by two assumptions numbered I and II. An Assumption is something supposed or taken
for granted. You have to consider the statement and the following assumption and decide which of the assumptions is implicit in the
statement.

Statement: The head of the organization congratulated the entire staff in his speech for their sincere effort to bring down the deficit and urged them to give
their best for attaining a more profitable position in future.

Assumptions:

I. The employees may get motivated and maintain and if possible enhance their present level of work.

II. The employees may now relax and slow down in their day-to-day work as there is no immediate threat of a huge deficit.

Give Answer -

A T AT T AF I T 7z TF FI7 FXI37 797 § FpT s = ¥ gdameond (g 17 1 Fars fegag §) 1 i araa &t
T2 ATA T AT HEATAT B | AAHT HAT ST IS A= g1 7S LA areontsi 7 faa FAT18 st T BT aT AT T F1 v A1 g ameon
FATH FraArga gl
FAA- TS F AeTeT AU ATIT § FHET TTF T, AT 1 FH FIF o 36 TATHT 6 (70 4TS & AT ey § v syfers arse ety amm
F2 % oru 3T 99 weolw 3= & foro smue
FSLLNILS
- FHATAT T I AT FATT T@T ST e g AT T T0qa 21 QT ST TAATT 13 T80T o Tq< 1 ST ST THhaT 2
- FHATL T TISTTAT F F1H T T STeT 3T T 27 b 2 ST AT ToohTel 15 T =T T G T2l 2
Iacdifag-
01. TIfonly assumption I is implicit/ If< #ae  02. If only assumption IT is implicit. / 7% Faer T@LTOM I1 At td gl
TEETRT [ S Rd 2l
03. Ifeither assumption I or IT is implicit./ Zf=  04. Ifneither assumption I nor IT is implicit. / TZ T THETO 1 ¥ T & 11 A=A +12d &
T LTI [ AT 1 Aeaiigd &l
05. Ifboth assumption I and II are implicit. /
T T EET 1 7 11 seafAed 2l
Q-38 In each question below is given a statement followed by two assumptions numbered I and II. An Assumption is something supposed or taken
eng hin  for granted. You have to consider the statement and the following assumption and decide which of the assumptions is implicit in the
statement.
Statement: The head of the organization congratulated the entire staff in his speech for their sincere effort to bring down the deficit and urged them to give
their best for attaining a more profitable position in future.
Assumptions:
1. The employees may get motivated and maintain and if possible enhance their present level of work.
1. The employees may now relax and slow down in their day-to-day work as there is no immediate threat of a huge deficit.
Give Answer -

T3 AT TTIAF IR 75 T F949 AT 77 e sas = 7T gaamont [eg 19 HFATH [TUTT ) F7< qaaia ATATT AT
T ST AT FEATAT & | ATTHT FIT AT 3q@F w14 & 7 gagmeonsh 7 A= #3778 T e ag w378 ¥ v o1 gdameon
FITH A=A g

FAT- GIST  FLTL T AT ATT H THET ETF 01, TS HT FH FLA 5 S7F TATH] 6 70 T4TE &7 797 Aiasy § v Ffdes arave fafa arg

A o oI o947 A waelw 3 % forw smug )

TE HTLTE -

[-  FHATRAT T ISR 3T T TGT ST THAT & AT AT T ST AT I I hTd 20T oF T T F@TAT ST TR 2l




II- =T T TS 6 T3 H o drer 3T of 18 21 T & S T&T TehTel 15 WL 1 7 @ 781 2

ITTAfrT-

01. Ifonly assumption I is implicit/ ¥ Fae  02. If only assumption I is implicit. / TT Fael qAEM0I I1 A=qiied g
TEETT [ A Rd 2l

03. Ifeither assumption I or IT is implicit/ TfX  04. If neither assumption I nor II is implicit. / 7T T TALTTOT 1 3T 7 & 11 sTafrad gl
T EET [ A7 11 S ed &l

0S. TIfboth assumption I and II are implicit. /

T T @I [ F 11 A 2d &l

Solution for Question 38 Ans Key: 1
eng/eng To motivate the employees for the enhancement of their work, the head of the organization congratulated the entire staff in her speech and appreciated their
effort.
FHATIAT T 37 FIH % (10 TETAT IHT AT FHIAT, FISH 6 THE o T ATI0T § G FTF FT TLTS &1 37T 376 TIATH ol q1=47 i
eng hin  To motivate the employees for the enhancement of their work, the head of the organization congratulated the entire staff in her speech and appreciated their
effort.
FHATIAT T 37T FTH % [o7T TETAT IFHT AT FHIAT, TSH o THE 7 I ATI0T § G FTF FT TLTS ¥ 37T 37F TITH T G247 i
Q-39 Each of the question below consists of a question and three statements numbered I, II and III given below it. You have to decide whether the data provided
eng/eng  in the statements are sufficient to answer the question. Read all the three statements.
Among six people K, J, I, H, G and E each lives on a different floor of a six storey building having six floors numbered one to six (the ground floor is
numbered 1, the floor above it, number 2 and so on and the topmost floor is numbered 6). Who lives on the topmost floor?
(I) H lives on an odd numbered floor. There are two floors between the floors on which H and K live. G lives on a floor immediately above I's floor.
(II) G does not live on an even numbered floor. J lives on an even numbered floor. J does not live on the topmost floor.
(IIT) There is only one floor between the floors on which I and J live. K lives on an even numbered floor.
A= 2 U s wer § U W i S are i & I 1L 11 TR 0 1 ST Ig 9F AT § TR et § AT AT 91er ¥o7 67 S9Y a7 % oy
TIATH g T A5l gl T FAAT T IR’ —
g ATEK, I, I, H, G 31T EH F T4 ARE U g AT THILT F AAT-300 T 92 Tgd gl THIRG H UF F B: 9 & (S[q 977 1 §, I 39
T TEAT 2 7 AT THT a3 & T FUL T a9 H&AT 6 1) T FUL F Il I i TgaT g2
(1) H e & arer a0 9% T2aT g1 H 3T K F &= a1 9 81 G, [ Y 6o F TR 39 aTell #isrer 78 72471 2|
(1) G |9 HEAT 9Tl T T¥ A1 T2aT 21 J H7 H AT a7el 9 9% T2aT 21 J HaH S¥ F 9 I¥ Al LgaT 2l
(II) 13/ J3 = § Fael UF 9 g1 K T9 FeJ7 aTel 9 92 7gav gl
01. Ifthe data in Statement I and II are 02. Ifthe data in Statement I and III are sufficient to answer the question, while the data in Statement II
sufficient to answer the question, while the are not required to answer the question. /7% &= [ 7 III T STeT I & F (1T TITH & T
data in Statement I1I are not required to I 11 T STaT T I < o o 77y 721 2l
answer the question. / 7f& 2= I 77 I T
TTET 3T & F o 9Aiy § i+ wa
11 T STET &7 3L & F (o7 T2TH T80
2l
03. Ifthe data in Statement IT and III are 04. Ifthe data either Statement I alone or Statement II alone or Statement III alone are sufficient to
sufficient to answer the question, while the answer the question./ZT% =T AT Fael HIAT [ AT Fael HAF 11 JT FHayet A [ T=F T IAL & F
data in Statement I are not required to orT gt 2
answer the question. / ZTe 4= 11  I11 &7
STET ST &d 6 (10 T8 g a1 64 |
FT TTET &1 I & 6 (70 TATH 1 &
05. Ifthe data in all Statement L, IT and I11
together are necessary to answer the
question./a T I, I ¥ I =TT 2T &7 ST
TATRE o7 T 39 39 % forw gty 2
Q-39 Each of the question below consists of a question and three statements numbered I, I and III given below it. You have to decide whether the data provided
eng hin  in the statements are sufficient to answer the question. Read all the three statements.

Among six people K, J, I, H, G and E each lives on a different floor of a six storey building having six floors numbered one to six (the ground floor is
numbered 1, the floor above it, number 2 and so on and the topmost floor is numbered 6). Who lives on the topmost floor?

(I) Hlives on an odd numbered floor. There are two floors between the floors on which H and K live. G lives on a floor immediately above I's floor.
(II) G does not live on an even numbered floor. J lives on an even numbered floor. J does not live on the topmost floor.

(IIT) There is only one floor between the floors on which I and J live. K lives on an even numbered floor.

A= form o s wor WU e 3T 3Ha e 9 e L 1 LI R T ) sy 78 a9 AT € T weret § T e srer vy wrsaw a9 % o
TITH & T Al | TAT HAAT T T —

g AR K, J, 1, H, G 3ii¥ E & & TI% =7f<h U @g WIS THIT % STeNT-3e0 a9 9% TEd g1 THET § UF § : T & (qaa 9T 1 8, 394 307
T TEAT 2 T AT THT TG F TIH FIL KT T TEAT 6 g) TIH FIL F T T I L@l 82

() H o ST a1t ae 9% @At g1 H #lT K & o= a1 ad 21 G, [ i1 #57e § qa S92 aTell §iore 9% T2aT gl

() G &9 AT a1 T T A2l LT g1 J TH H&AT AT a1 U Tgal gl J T8 F9L % I UL 75! 18al gl

(D) 13T J 3 &= | el U 9 g1 K 99 H AT a7 a7 9% T2l gl



01. Ifthe data in Statement I and II are 02. [fthe data in Statement I and 11 are sufficient to answer the question, while the data in Statement IT
sufficient to answer the question, while the are not required to answer the question. /7% FaI= 1 77 I T STT 3T & F forg w7iy % SEIED
data in Statement III are not required to A 11 FT 7T FT 3L & & (o7 TATH 751 Bl
answer the question. / T &I [ 7 I T
TTaT I o  Forw ooty § el Fwoe
11 T STeT 3T I & 6 (0 TATH Tl

2l

03. Ifthe data in Statement II and III are 04. Ifthe data either Statement I alone or Statement II alone or Statement III alone are sufficient to
sufficient to answer the question, while the answer the question./T% IT AT Fael FA 1 AT Faet FH 11 AT Faet AT [ T FT ST a7
data in Statement I are not required to o 7=t 2
answer the question. / % &2 11 7 11 T
TTET I & o (70 9T g St F:9 [
T ZTT T 3T 2 F [oIT TATH 721 21

05. Ifthe data in all Statement I, IT and 111
together are necessary to answer the
question./ T I, II 1 Il ST =T T ST

TReTeRT oy T 37X a9 % forw g 2

Solution for Question 39 AnsKey: 5
engleng 6 - K

5 -G

a T

3 -H

2 -]

1 - E

6 - K

5 -G

4 -1

3 - H

2 -]

1 - E

Q-40

Q-40

Each of the question below consists of a question and three statements numbered L, 1T and III given below it. You have to decide whether the data provided
in the statements are sufficient to answer the question. Read all the three statements.

Point W is in which direction with respect to Point Y?

(I) Point T is to the south of Point W. Point T is 4m from Point Y. Point W is 9m from Point Y.

(IT) Point Z is to the west of Point Y. Point X is to the north of Point Y. Point W is to the south of Point X.

(IIT) Point Z is to the west of Point Y. Point Y is exactly midway between Point Z and V. Point U is to the south of Point V. Point W is to the west of Point
U.

= 20 U s W § U T T S are i & I 1L 11 TR0 0 1 ST Ig 9F AT § TR et § AT I 91er 3o 67 39 a4 & oy
T g AT A2l gl 1 HI=1 F7 T30 —

fag W, a7 Y dee o forey o & 22

O AT, FgwHzRmAz A3 T, Ay ya4fez i fAg w, A3 Y& 9 fiez 2

an gz g yFuEma g g x, Mg yFsmea & fgw, g Xrafama &

gz, A ysoemAag M.z Mg vadsaedg Mg u, Mg vezfama g g w, fg us afzm 7 21

01. Ifthe data in Statement I and II are 02. Ifthe data in Statement I and III are sufficient to answer the question, while the data in Statement 11
sufficient to answer the question, while the are not required to answer the question. / T F2I 19 III T STET 3T a7 & (o7 TATH %’ EEIED
data in Statement III are not required to A 11 FT 7T FT 3T & & (o7 TATH 751 2l
answer the question./ 7% 7 [ 7 11 7
7T I 3 & oI 7ie & Safs w7
111 T STT FT I & o1 TATH Tl
2l

03. If the data in Statement IT and III are 04. 1If the data either Statement I alone or Statement II alone or Statement I alone are sufficient to
sufficient to answer the question, while the answer the question. / 7T 3T QT Faret T [ AT el 4 11 AT Fael A 111 T T I &
data in Statement I are not required to F forT o3t g
answer the question. / T &I I1 7 111 T
TTET I & o (70 94T g i F:9 [
T 7T T 3T a4 F o7 TATH 721 21

05. Ifthe data in all Statement I, IT and 111
together are necessary to answer the
question. / 7% I, I F LI 14T =T &7
27T TH=TRE w31 7 3% & % forg gt
2l

Each of the question below consists of a question and three statements numbered I, IT and III given below it. You have to decide whether the data provided



eng hin  in the statements are sufficient to answer the question. Read all the three statements.

Point W is in which direction with respect to Point Y?

(I) Point T is to the south of Point W. Point T is 4m from Point Y. Point W is 9m from Point Y.
(1) Point Z is to the west of Point Y. Point X is to the north of Point Y. Point W is to the south of Point X.
(III) Point Z is to the west of Point Y. Point Y is exactly midway between Point Z and V. Point U is to the south of Point V. Point W is to the west of Point

U.

A= R0 T ek o § U T ST Sk AT o e L I T T ) SRy g a7 AT g T et § R e 2 ver wy o 39w a9 6 forw

TITH € T A5t | AT HAAT FT AL —
g w, fig Y wewr & form fRem # 82

() FgT.gwxzRmig Fg T, Ay ya4deeg g w, Fg yaofiez gl
(n Fgz, g ywuzmag g X, Mg yFsaeag g w, g XF afao § g
gz, Mg ysoemAag MR .Mz g vadsaeag Mg u, Mg vaefama g Mg w, fg UF af2m 7 2

01. Ifthe data in Statement I and II are
sufficient to answer the question, while the
data in Statement III are not required to
answer the question./ TS F [ 7 11 7
TTaT I o  forw ooty § srarfe Fwue
11 T STET 3T I & 6 (0 TATH Tl
2

03. Ifthe data in Statement IT and III are
sufficient to answer the question, while the
data in Statement I are not required to
answer the question. / g & 11 7 I11 T
YT I & form worty 2 Safeh e |
T TTET T I & F 70 TATH 72l 2l

05. Ifthe data in all Statement L, IT and I11
together are necessary to answer the
question. / % I, 11 & 111 AT F2I=1 T
27T TR W97 %7 39 & & forg gt

02.

04.

If the data in Statement I and III are sufficient to answer the question, while the data in Statement II
are not required to answer the question. / T FI 19 I T STET 3T a7 & [T TATH % EEIED
2 11 T 7T T 3T & F [orT 941 9271 81

If the data either Statement I alone or Statement II alone or Statement III alone are sufficient to
answer the question. / TS 3T AT Faet HAT [ AT el w4 [ JT el 2 111 T FT 3L &

2l
Solution for Question 40 Ans Key: 3
X
Z Y V
W U
hi
eng hin X
Z Y V
W u

eng/eng Passage

Total Number of Employees = 3250

BEAOEE LANEE (ICTOIE P TI™R

Passage for Question 41, 42, 43, 44, 45 (ST-2075SRRBCLERKMAINS(1-5M)2020NP)

Degree-wise breakup of employees working in various departments of an organization and the ratio of Men to Women




e Tl TV A TR 8 TS 1 PSR

& PRODUCTION DEPT. & HRDEPT, = IT DEPT & MARKETING DEPT. @ ACOOUNY DEPT.

Respective Ratio of Men to Women in Each Department
DEPARTMENT MEN WOMEN
PRODUCTION 4 1

HR 12 132
IT 7 3
MARKETING 3 2
ACCOUNT 6 7

e T o e AT & wr e arer wHAt w5 - A ST oY wut w7 AigAr sqar
FHATIAT T T HEAT = 3250

faafr ar f

EIOmE UM RN CHE S AR U

v fasmr & v 3k Al F s
farsmer L] Afgar
Sedige 4 1

AT TR (T A1) 12 13
S & 7 3
AT 3 2
TFEE 6 7



https://ostcdn.mahendras.org/ostimg/1603783559107527832.jpg
https://ostcdn.mahendras.org/ostimg/1603783645079850098.jpg
https://ostcdn.mahendras.org/ostimg/1603783672179695068.jpg

eng hin Passage
Degree-wise breakup of employees working in various departments of an organization and the ratio of Men to Women

Total Number of Employees = 3250

DEGREE WISE DISTRIBUTION

Respective Ratio of Men to Women in Each Department
DEPARTMENT MEN WOMEN
PRODUCTION 4 1

HR 12 13

IT 7 3
MARKETING 3 2
ACCOUNT 6 7

wF A o faffiea At # F1a FA ard wAIRAT F1 FA-ar dw3w d gIet o1 Afear sgura

wATINGT i FF VAT = 3250

& ax Tagor

Eiame UG R CHE & Cankit Suare

T famr & v AR wfRer #1 aeew
farsmar il Afgen
EL I 4 1

AE G (T HR) 12 13




g & 7 3

Q-41

eng/eng

Q-41

eng hin

What is the number of Men working in the IT department?
arg & AwRT ® T8 FEA qTer Eul T Hedr fhaer g2

01. 364 02. 380
03. 678 04. 543
05. None of these

TAH H A Tl

What is the number of Men working in the IT department?
g & FIwRr ® 8 A qrer Eul i wear Gt g2

01. 364 02. 380
03. 678 04. 543
05. None of these
TAH HATS Tal
Solution for Question 41 Ans Key: 1
Male in IT =3230- - 6 — =364
A AT T =3250% 2 364
360 10
Male in IT =3250: ki 3 ; =364
360 10
MER T T =3250% 0 | _364
360 10
Q-42 What is the respective ratio of the number of men working in the HR department and the number of women working in the IT department ?
TTAE HETeA TR # FTH T aret TRUT 7 ST ST s dt T § 79 F7d a1y Aige T ST 7 Feerd sTqurd #7152
01. 1:27 02. 13:3
03. 2:1 04. 1:1
05. None of these
TAH HHE Tol
Q-42 What is the respective ratio of the number of men working in the HR department and the number of women working in the IT department ?
eng hin AT HATY FAaWT § 19 2 AT TEUT AT AT AT AT AN H HTH F2F ATl WiGelT 6l FeAT H7 Fa(9d AT FI7 22
01. 1:27 02. 133
03. 2:1 04. 1:1
05. None of these
AT F FIE TRl
Solution for Question 42 Ans Key: 4
. 2 5
eng/eNg = Rofio=1550x 0 12 .3250x 18 3
360 23 3e0 10
=1:1
36 12 576 3
ATANT = 3250 x— 13230 2
3e0 25 360 10
=1:1
: . x .
DR 5, 20 . 12 3550210,
360 23 360 10
=1:1
36 12 376 3
AT = 32350 x— 13250 % X —
jed 25 360 10




Q-43 The number of Men working in the production department of the Organization forms what percent of the total number of employees working in that
eng/eng  department?
TS % IATEA TWRT H HTH FIe aTel TEUT 0T AT 37 [T H FHTH FTed aTel HHATAT 201 el HEAT T a1 Tqerd 82

01. 56% 02. 80%
03. 239% 04. 78%
05. None of these

TAH H (S AQl

Q-43 The number of Men working in the production department of the Organization forms what percent of the total number of employees working in that
eng hin  department?

TS % ITTEA FaraT & T8 2 Tl TEUl o1 ST I STRT § 77 FTA arel FHATAT 1 Fel SCIT T {Shaar Sierd &2

01. 56% 02. 80%
03. 239% 04. 78%
05. None of these
TAH HHIE TRl
Solution for Question 43 Ans Key: 2

eng/eng o = i_><100 —80%

% = il 100 =80 %

=

-44 The number of women working in the account department of the Organization forms what percent of the total number of employees in the Organization
g P g p ploy g
from all departments together?
TS F URHTSE SANT H FTH FTA aTeAT FIGaATal T AT T % FT SR 3 Fw=riet 67 o G w7 o qfaerd 82

01. 4.8% 02. 2.3%
03. 3.4% 04. 4.5%
05. 7.5%
Q-44 The number of women working in the account department of the Organization forms what percent of the total number of employees in the Organization

from all departments together?

TS F URHTSE N7 & 1 FTA aTeAT Al gATSAl hl AT TS 6 FHT TR 3 FH=ATdT 67 FHof e w7 o wfaerd 82

01. 4.8% 02. 2.3%
03. 3.4% 04. 4.5%
05. 7.5%
Solution for Question 44 Ans Key: 5
b i 360 -_-‘ 100=7.5¢
3250
eng hin 304 7

Q-45 Employees in HR is what percent of the employees in marketing department?
engleng WA HATEA AW H FHTH FTd FHATL @A [I9HT H HTH FIA AT FHATAT T 60 Tq2a 82

01. 27.45% 02. 45.45%
03. 31.45% 04. 23.14 %

05. 67.89%
Q-45 Employees in HR is what percent of the employees in marketing department?

enghin  ¥TE HATEA AT # FTH FTA FHATL @A [F9ET H FH FA A0 FHATAT T 0 Tqord 82

01. 27.45% 02. 45.45%
03. 31.45% 04. 23.14 %
05. 67.89%



Solution for Question 45

eng/eng

eng hin

Q-46

eng/eng

Q-46

eng hin

%= . 100=4545%
79.2

% =8 . 100=45.45%
79.2

Find the value of variables and state the correct relationship-
T HT AT 1T AT TAT AT GFaeel 7 H1972 -

(I) 8x2 + 3x = 38
(II) 6y + 34=29y

01. X > y 02. X> y
03. X> y 04. x< y
0S. x=y or no relationship can be established

x=y AT TS qFaee TATIOT Tl T oI

qEATE

Find the value of variables and state the correct relationship-
T HTHTT ATT IO TATAET ¥ T HI {14 -

(D) 8x% +3x =38
(1) 6y> + 34=29y

01. x>vy 02. X2y

03. XEy 04. xgy
05. x=y or no relationship can be established
x=y AT T ey TTioa 7gl e s

Solution for Question 46

eng hin

(1) 8x% + 3x = 38
8x% +19x - 16x-38 =0
X(8x + 19) - 2(8x +19) = 0
(8x+19)(x-2)=0
x=2,-19/8 (i.e. -2.375)
(11) 6y2 + 34 = 29y
6y2-29y+34=0
6y2-12y-17y +34=0
6y(y-2)-17(y-2)=0
(v-2)(6y-17)=0
y=2,17/6 (i.e.2.83)
X<Yy.
(1) 8x% +3x = 38
8x?2 +19x - 16x-38=0
X(8x +19) - 2(8x +19) = 0
(8x +19) (x-2)=0
x=2,-19/8 (i.e. - 2.375)
(1) 6y? + 34 = 29y
6y2-29y+34=0
6y2-12y-17y+34=0
6y(y-2)-17(y-2)=0
(y-2)(6y-17)=0
y=2,17/6 (i.e.2.83)

X<Y.

Ans Key: 2

Ans Key: 2



Q-47

eng/eng

Q-47

eng hin

Find the value of variables and state the correct relationship-
I HTHTT ATT KT 7T AT Graeer I o -

(1) 6x3+23x +20 =0
(1) 6y*+ 41y +63=0

01. X > y 02. x < y
03. x> y 04. x< y
05. x=y or no relationship can be established

x=y IT FIs qFa TITMUT Al (AT ST

qEATE

Find the value of variables and state the correct relationship-
I HT AT 1T FITMT TAT AT Graeel 79 H 1972 -

(1) 6x>+23x +20 =0
D) 6y2+ 41y +63=0

01. x>y 02. X<y
03. xzy 04. xSy

0S. x=y or no relationship can be established
x=y IqT TS Treel TATIOT A1 FohAT ST

Solution for Question 47

Q-48

Q-48

x=-2.5,-1.33, y=-4.5,-2.33
X>Y

x=-25,-133, y=-45,-2.33
X>Y

Find the value of variables and state the correct relationship-
T HTHTT TTT HIOMT TAT ET ¥ AT HIT73 -

() 172+ 144+ 18 =x
) y=262-18 x21

01. X>y 02 X<y
03. xzy 04. x<y

05. x=y or no relationship can be established

x=y IT FTs qEaeel T A1 2T AT
Find the value of variables and state the correct relationship-
T AT AT TTT HIMT TAT TET TFI=g AT FIT03 -

(1) 172+ 144 = 18 =x
() y=262-18x21

01. x>y 02. x<y
03. xzy 04. x<y

05. x=y or no relationship can be established
x=y IT FIs qFa TIMUT A1 AT AT
AT

Solution for Question 48

Ans Key: 1

Ans Key: 2

eng/eng

x=297,y=298
x<y

eng hin

x =297,y =298
x<y

Q-49

eng/eng

Find the value of variables and state the correct relationship-
I HTHATT ATT KT 7T AT Graeer I -

(D) x>+y3=6244
1) 2x-y=23



Q-49

eng hin

01. x>y 02. x<y
03. X2y 04. X<y

05. x=y or no relationship can be established

x=y IT FIs qFawe TITIOT A1 AT ST

qFAT
Find the value of variables and state the correct relationship-
TN HTATT FTT IO TAT TET TFIwg JTq FI{o04 -

(D) x>+y>=6244
(ID) 2x-y=23

01 x>y 02. x<y
03. X2y 04. X<y

05. x=y or no relationship can be established
x=y AT TS qEae TATIAT Tl (AT ST
AT

Solution for Question 49

eng/eng

Q-50

x=17 ,y=11
X<y
x=17 ,y=11
X <y

Find the value of variables and state the correct relationship-
T HTATT ATT FIOMT TAT TG GFal=g T FIT3 -

(I) 17x+5y=306
(II) 9x-2y=83

05. x=y or no relationship can be established

x=y IT TS Trwel TATIOT A1 TRIT ST
Find the value of variables and state the correct relationship-
T HTHATT ATT FIOMT TAT THT TFI=G AT FIT13 -

(D) 17x+5y=306
(II) 9x-2y=83

01. X>y 02 X<y
03. X2y 04. XSy

05. x=y or no relationship can be established
x=y AT TS qFaeel TATIO TSI FohaT oI
AT S

Solution for Question 50

eng/eng

eng hin

Q-51

eng/eng

Q-51

eng hin

x=13 y=17
x<y
x=13 y=17
x<y

What approximate value should come in place of question mark (?) in the following questions?
Aafafaa vt & wwarss (=g (2) F =419 T ATATIAT AT FIT AAT ATIRTY?

832.62-469.21 + (13.9% of 84.95) = ?

01. 400 02. 500
03. 700 04. 800
0S. 1200

What approximate value should come in place of question mark (?) in the following questions?
et vt § werar=ra f2eg (2) ¥ €979 9T ATATAT AT F7 AAT AT

Ans Key: 2

Ans Key: 2



832.62-469.21 + (13.9% of 84.95) = ?

01. 400 02. 500
03. 700 04. 800
05. 1200
Solution for Question 51 Ans Key: 4

eng/eng 833 - 470 + (14% x 85) = 793
eng hin 833 -470 + (14% x 85) = 793

Q-52 What approximate value should come in place of question mark (?) in the following questions?
eng/eng  TRETET w41 & sowam=ras e (2) F w17 7T AATG AT FATAATATIRY?

50.01°-22.98° - 2=30.972

01. 1000 02. 850
03. 1200 04. 1100
05. 1500

Q-52 What approximate value should come in place of question mark (?) in the following questions?
frerforfaa vt § wrar=rs (278 (2) F €477 9T ATATAT AT T AAT AT

50.01°—22.98° - 2=30.972

01. 1000 02. 850
03. 1200 04. 1100
05. 1500
Solution for Question 52 Ans Key: 1

2500 —529 - 961 = 1010
2500 -529 - 961 =1010

Q-53 What approximate value should come in place of question mark (?) in the following questions?
afafaa vt & wwaras 2eg (2) F 2779 I agar«a a7 #4717 A1 A1Y?

105.1% of 5401.01 — 4/7 % 0f4200.12 — 15.999 =?
5401.01 =T 105.1% - 4200.12 =T 4/7 % —15.999 =7

01. 6590 02. 6280
03. 5760 04. 5630
05. 5540

Q-53 What approximate value should come in place of question mark (?) in the following questions?
enghin  FEfATET vt & war=s faeg (2) F sara v sgATiRa AT FAT AT ATIRY?

105.1% of 5401.01 — 4/7 % 0f4200.12 — 15.999 =?
5401.01 T 105.1% - 4200.12 =T 4/7 % —15.999="?

01. 6590 02. 6280
03. 5760 04. 5630
05. 5540
Solution for Question 53 Ans Key: 4
eng/eng  105% x 5400 = 5670
4200 x * —24
700

5670 - 40 = 5630

eng hin  105% x 5400 = 5670

4200 x =24
0

5670 - 40 = 5630




Q-54 What approximate value should come in place of question mark (?) in the following questions?

engleng AT woat & warar=ra f2reg (2) F AT T ATATING ATT FIT AT TR

14.95 x 9.05 +(88.01)2 x 13.99= 7

01. 106500 02. 107500
03. 108500 04. 110500
05. 104200

Q-54 What approximate value should come in place of question mark (?) in the following questions?

enghin AT vt & warar=r® feg (2) F =19 TTHATATT AT7 FITOATATIRY?

14.95 x 9.05 +(88.01)? x 13.99=?

01. 106500 02. 107500
03. 108500 04. 110500
05. 104200
Solution for Question 54 Ans Key: 3
eng/eng 15x9 + 88 x 88 x 14 = 108551
eng hin  15x9 + 88 x 88 x 14 = 108551
Q-55 What approximate value should come in place of question mark (?) in the following questions?
eng/eng  TETAET ot & woyar=rs 378 (2) F T ILATANT q0F FATAATATIRY?
3-/4500= 7% =253
01. 150 02. 125
03. 175 04. 200
05. 250
Q-55 What approximate value should come in place of question mark (?) in the following questions?
enghin  fEffaa vt & warar=r+ feg (2) F AT T ATATIG 1T FIT w07 AR
343500 7% =253
01. 150 02. 125
03. 175 04. 200
05. 250
Solution for Question 55 Ans Key: 2

eng/eng 66 x 3 x?2/100 =253
7= 125

enghin 66 x 3 x2/100 =253
7= 125

Passage for Question 56, 57, 58, 59, 60 (ST-207SRRBCLERKMAINS(16-20M)2020NP)
eng/eng Passage

Study the following Bar and Pie graphs and answer the questions asked-

Total number of appeared students
in examination = 54000

DELHI CHANNAI  MUMBAI  KOLKATA HYDERABAD  GOA HARAYANA



https://ostcdn.mahendras.org/ostimg/1603784223998802246.jpg

Total number of qualified students in
examination = 32000

EDeihi ®mChannai ®Mumbai ®Kokata MSHyderabad B Goa M Harayana

Fafariad &= sE ST 7TE 9% 7 TeqaT FY 3T T2 T0 T41 F7 3L ai174-
gllen # aferer wor Rafiat i
w=ar =54000

£ &t g
wdtetr F et gt @ wear
= 32000

= - B

Goo .ﬂrﬂg - :LS Tl thl B "amr Wefmmom

eng hin Passage

Study the following Bar and Pie graphs and answer the questions asked-

Total number of appeared students
| in examination = 54000 .

| DELHI  CHANNAI MUMBAI KOLKATA HYDERABAD GOA  HARAYANA

Total number of qualified students in
examination = 32000



https://ostcdn.mahendras.org/ostimg/1603784275197049072.jpg

B Deihi ®Channai ® Mumbai Kokata MHyderabad B Goz M Harayana

faFafafa g3 3@ 3 arg TF &1 Jegqa F{ IR B T At 1 39 -
odiem A anﬁl—or For fagidar
w&ar =54000

Q-56 What is the ratio of the number of students qualified from cities Mumbai and Kolkata together to the number of appeared students from city Haryana?

engleng e HAT ST FHTHTAT H SO [A=ATIAT T HEAT T g AT H orrfoer fererfeiat it Fear & srqama =41 gem?

01. 267:299 02. 279:225
03. 225:279 04. 225:279
05. 224:297

Q-56 What is the ratio of the number of students qualified from cities Mumbai and Kolkata together to the number of appeared students from city Haryana?

enghin 9T HAE ST FHIEHTAT H AW (A=ATIEAT T AT FT gL gNATIT H errtaret fErarfeiat it Hweam 7 s #4471 grm?

01. 267:299 02. 279:225
03. 225:279 04. 225:279
05. 224:297

Solution for Question 56

Ans Key: 5

eng/eng  Total number of qualified students from cities Mumbai and Kolkata = 32000%28%
Total number of appeared students from city Harayana = 54000%22%

28x32x1000x100 224

22x54x1000%100 297

STEY HAS ST FHIHTAT ST et Ta=reii it §e&AT = 32000%28%

9Tg¥ ghATor § omfaer Fe fa=meff it 51 = 54000%22%

WW=ESK 32x1000=100 _ 224
22x 54 x1000x100 297

Required ratio =

eng hin  Total number of qualified students from cities Mumbai and Kolkata = 32000%28%
Total number of appeared students from city Harayana = 54000x22%
Required ratio = 28x32x1000x100 _ %
22x 54x1000x100 297
T HAE ST FHIAHTAT 6 AT e Tar=rmeff 7 g = 32000%28%



9Te gheaTorr § ortfirer et f=meff i "eam = 54000%22%

WW=ESK 32x1000x100 _ 224
22x 54 x1000x100 297

Q-57

eng/eng

Q-57

eng hin

What is the percentage of qualified students with respect to that of appeared students from cities Delhi and Kolkata taken together?
Tg¥ Taeeft ST Frershrar § IO fA=T=r=t T ST w1 I°T ag< § artier Gt £7 wear 1 foraar afderd g2

01. 70.22% 02. 69.22%
03. 72.22% 04. 73.52%
05. 74.23%

What is the percentage of qualified students with respect to that of appeared students from cities Delhi and Kolkata taken together?

org¥ faeelt SirT Frersrrar § It et £t dear w1 36t age § anfaer gt £ dear v fraar aftera 22

01. 70.22% 02. 69.22%
03. 72.22% 04. 73.52%
05. 74.23%
Solution for Question 57 Ans Key: 3
eng/eng  Qualified students from cities Delhi and Kolkata together = 32000x39%
Appeared stadents from cities Delhi and Kolkata together = 54000x32%
Required pcrccntagcf':‘_if':':“ 100 = 72.22% (approx.)
AT | vcﬂ E K8 er.wwldl H 3007 o fA=mit = 32000%39%
T2 Feeft ST FrerehTaT 7 AT 3T = 54000%32%
srefre e = 22222 X 099y 73 220, ()
Qualified students from cities Delhi and Kolkata together = 32000%39%
Appeared students from cities Delhi and Kolkata together = 54000%x32%
Required pelcentage*# 100 = 72 .22% (approx.)
rg¥ TaeetT ST Frershrar § 301 H a=rfi = 32000%39%
Te® fRreeft 30 FrerehTaT  emfirer e = 54000%32%
arefTe wicerd = 7‘ *” 100 = 72.229% (FTHT)
Q-58 What is the difference between the numbers of appeared students of cities Chennai and Hyderabad?
Y AT AT ZEAETE H i fHetsat &1 dear o #47 ¥ 22
01. 1345 02. 1080
03. 1345 04. 1280
05. 1180
Q-58 What is the difference between the numbers of appeared students of cities Chennai and Hyderabad?
ITET IS AT Z2L1TE | 9TTHe [S=rtoat i1 5ea7 § 47 a7 22
01. 1345 02. 1080
03. 1345 04. 1280
05. 1180
Solution for Question 58 Ans Key: 2

eng/eng Required difference = 54000%2% = 1080
F¥IE S[aT = 54000%2% = 1080
eng hin  Required difference = 54000%2% = 1080
F¥{TE SaT = 54000%2% = 1080
Q-39 What is the ratio of the number of appeared students from cities Mumbai and Hyderabad together to that of appeared students from cities Delhi and Goa
eng/eng together?
org¥ faeett 3 3TaT ® afier faemteiat 7 org¥ 4o oiie gawrars ® anfie ety £t dear & #47 s 82
01. 19:26 02. 17:26
03. 26:17 04. 33:17
05. 17:33
Q-59 What is the ratio of the number of appeared students from cities Mumbai and Hyderabad together to that of appeared students from cities Delhi and Goa



eng hin  together?

g Tawett i e | arfie fEeteiay #7 a2y 49 o7 gewrars | anfee ety 7 dear # #47 oI 82

01. 19:26 02. 17:26
03. 26:17 04. 33:17
05. 17:33
Solution for Question 59 Ans Key: 5
eng/eng Required ratio = 34000 17%
54000 =33%
arefrg arguma= 2000017 _ 4q, 55
° 54000=33%
eng hin Required ratio = 34000x17% _ 7. 33
54000%33%
arefrg argama= 210007 1T _ 4q, 35
> 54000x33%
Q-60 In which city the percentage of qualified students with respect to appeared students is maximum?
engleng T QTET H ITAOT 21 arer far=imeff Y Feam i1 anfoet gir arer et it #ean & gidea § srfaewaw g2
01. Delhi 02. Chennai
faeeft EEE
03. Mumbai 04. Hyderabad
0S. Kolkata
Q-60 In which city the percentage of qualified students with respect to appeared students is maximum?
T ot ¥ © ST 21 arer =t Y wea w1 oo e arer et ft e I uitea 7 sfaewaw 22
01. Delhi 02. Chennai
faeeft EEE]
03. Mumbai 04. Hyderabad
Iﬁé QUHA X
0S. Kolkata
Solution for Question 60 Ans Key: 4

On the basis of graph Hyderabad is the highest percentage

T 36 AT TE G HT T SAferFee &

On the basis of graph Hyderabad is the highest percentage
T 3 SATETE IT ZaLTETE FT (T ATIHTa g

Q-61 A mixture of 20 liters of sprit and water contains 10% water. After adding a certain amount of water, the weight of the new mixture is 25 liters. What is the

eng/eng percentage of water in the new mixture?

20 e foe T areT 3 frsar 7, 10% 91t 8 | va i e & 9t (e 3 are, 70 feror sy 9w 25 e 8 | A0 e § ot afaera

FIT 82
01. 18% 02. 28%
03. 12.5% 04. 15%
05. None of these

TAH A FIS Tl

Q-61 A mixture of 20 liters of sprit and water contains 10% water. After adding a certain amount of water, the weight of the new mixture is 25 liters. What is the

eng hin  percentage of water in the new mixture?

20 #frex fEe ST areT 3 fsar °, 10% 91t 8 | ve i e & 9t (e 3 arg, 70 feor sy 9w 25 e 8 | 70 e § et w ataera

FIT 82
01. 18% 02. 28%
03. 12.5% 04. 15%
05. None of these

TAH qFIS Tl

Solution for Question 61

Ans Key: 2




eng/eng  Water in 20 liters = 2 liters
Added quantity of water = 25 — 20 = 5 liters

percentage of water in new mixture of 25 liters = = % »x100=28%

20 Hier g gt = 2 wfte
Tt SRt feTE ST AT ' = 25 — 20 = 5 ®ie

25 o2t o =9 T 4 a6 giqeg = = 2—:x100=23"‘/6

enghin  Water in 20 liters = 2 liters
Added quantity of water =25 — 20 = 5 liters

percentage of water in new mixture of 25 liters = = % x100=28%

20 wie H gl = 2 wiet
a1 e S et AT =25 - 20 = S =

25 w12t = =0 T § a5 gfqeg = = 2_::{100:28%

Q-62 Two equal sums were borrowed at 8% simple interest per annum for 2 years and 3 years, respectively. The difference in the interests was Rs.3080. The
eng/eng sum borrowed were -

ﬁwm@rm&r:2aﬁsﬁt3aﬁ%ﬁtwﬁraﬁ8%mwwaﬁatwwﬁﬁisﬁlwﬁﬁﬁﬁ'{sosomm YT Y T2 Trferat

off
01. Rs.37950 02. Rs.38500
37950 =. 38500 =.
03. Rs.40700 04. 42900 =.
05. None of these
TAH HHE Tol
Q-62 Two equal sums were borrowed at 8% simple interest per annum for 2 years and 3 years, respectively. The difference in the interests was Rs.3080. The

sum borrowed were -
T FTE AT FHIT: 2 99 3T 3 99 & Forw Ifa e 8% ATy s4TsT sht 8% U IUTT AT TS AT AT | 37 3080 T4 &T| ILT <AF 75 TTT9rT
off

01. Rs.37950 02. Rs.38500
37950 =. 38500 =.

03. Rs.40700 04. 42900 =.
0S. None of these
TTH A ATE TN
Solution for Question 62 Ans Key: 2

ATQ

38 xx2x8 2
xx3x8 x 8 _ 1080
100 100

24% — 16K = 305000
8x = 308000
X =38500

ERIRSGIES

xx3x8 xx2x8
100 100

=3080

24x — 16x = 308000
§x = 308000
X =38300

enghin ATQ

2
_ x><3><8_x><_><8 _13080

100 100

24% — 16x = 308000
8x = 308000
X =38500

TATTATT

xx3Ix8 xx2x8
100 100

=3080




Q-63

eng/eng

Q-63

eng hin

24x — 16x = 308000
§x = 308000
X =38500

In an election two candidates participated , 10% voter did not cost their votes, out of which 10% votes declare invalid and the winner got 60 % of the
valid votes and win by 64800 votes. find total number of votes.

UF AT § 31 IFEAT 7 AN o1, 10% Aqararsti 7 519+ 91 A5l @4 (60, e § 10% W 73 =iud gu i f&@ear #:31 60% a9 #7q fHe
T 64800 AT & ST T shT| ATl T A HLAT HT IAqT AT

01. 200000 02.
03. 400000 04.

05. None of these

TAH FHTE TE

300000
500000

In an election two candidates participated , 10% voter did not cost their votes, out of which 10% votes declare invalid and the winner got 60 % of the
valid votes and win by 64800 votes. find total number of votes.

TF AT § T IFEAT 7 AN o1, 10% Aqararsii 7 579+ 91 A5l @4 (60, S § 10% 7 73 =iud gu i f&ear #:31 60% a9 #7q fHe
T 64800 FAT & ST T shT| A1l T el HEAT HT IAqT AT

01. 200000 02.
03. 400000 04.

05. None of these
TAH FFIE TRl

Solution for Question 63

Q-64
eng/eng

Total votes =100%

vote cast = 90%

valid votes = 81%

Winner got = 60%

Runner got = 40%

difference = 20%

81 % x 20% = 64800

Total number of votes = 1 =400000
FT 7Hd =100%

a1 3T = 90%

T 7T = 81%

fasrar &1 et = 60%

TSI T et = 40%

AT =20%

81 % x 20% = 64800

Flei HT [ JedT = 1 = 400000

Total votes =100%

vote cast = 90%

valid votes = 81%

Winner got = 60%

Runner got = 40%

difference = 20%

81 % x 20% = 64800

Total number of votes = 1 =400000
Rl HAT =100%

Fre 37T = 90%

ey 77 = 81%

3 = fer = 60%

TS & e = 40%

AT =20%

81 % x 20% = 64800

FTET T FH FEAT = 1 = 400000

300000
500000

Ans Key: 3

Two boats A and B start towards each other from two places, 108 km apart. Speeds of the boats A and B in still water are 12 kmph and 15 kmph
respectively. If A proceeds downstream and B upstream, they will meet after.

TN AT A ¥ B I EIHLF F gt 2, ST 108 Tt Y g8 a2 €1 orfq ST § A ot B Jrawredt ot arfer wever: 12 Frefy wfe srer oive 15 Bt wiar ser
g1 T2 A STIETE ST 2 ST B 38T STl €, 91 o fohae a9 a1 § fHent |

01. 4.5 hours/ =i¢ 02.
03. 5.4 hours/ =¢ 04.

05. 8.4 hours/ &

4 hours / &<
5.4 hours/ ¢



Q-64

Two boats A and B start towards each other from two places, 108 km apart. Speeds of the boats A and B in still water are 12 kmph and 15 kmph

eng hin  Tespectively. If A proceeds downstream and B upstream, they will meet after.
TN A ST B T EE1H F &Il g, ST 108 T 7 g3 a2 81 o ST § A 3T B Jvawrait ot a1ty wwver: 12 Foeft afe et 8iv 15 Bt wie ser
21 77T A STaTE STt 2 ST B IETg STl €, 91 F fhae aw e § fAeiit
01. 4.5 hours/ 5 02. 4 hours / =
03. 5.4 hours/ 5 04. 5.4 hours/ =T
05. 8.4 hours/ 5
Solution for Question 64 Ans Key: 2
eng/eng  Let the speed of the stream be x kmph and both the boats meet after t hours
According to the question,
(12+x)t+(15-x)t=108
= 12t + 15t=108= 27t =108
=t =22 = 4 hours
7.
AT 9T i Afy x fRAr/ger WX t wHF a1g Qrat Ara faeda
UATIHIY,
(12+x) t+(15-x)t=108
12t+15t =108
27 t =108
T=4°¢
Le »ed of the stream be x kmph and both the boats meet after t hours
to the question,
12 +x)t+[1 Jt=10
+ 15t 08 10
il 3
— = 4 hour:
AT arT #r afaq x e/ ger AR t gHg g At A e
UATTHIY,
(12+x) t+(15-x)t=108
12t +15t =108
27 t=108
T=49¢
Q-65 In a city, 65% of population is literate in which ratio of male to female is 7 : 6 . And ratio of illiterate male to illiterate female is 3 : 4 . Find the ratio of
illiterate female to literate male in that city.
T 2T H, 65% ATETET AT g TSEH & F HIGAT & 3TI1d 7 : 6 g 30T FTel? T2 T AigAT | 1 3 : 4 3| 39 9M2¥ | F2ew 7igar &7
T [ET & STITT AT FIIT |
01. 4.7 02. 1:2
03. 1:3 04. 3:1
05. None of these
TIH A FIS Aol
Q-65 In a city, 65% of population is literate in which ratio of male to female is 7 : 6 . And ratio of illiterate male to illiterate female is 3 : 4 . Find the ratio of
eng hin illiterate female to literate male in that city.
T TET H, 65% SaTer A1 g o =9 & Aiger 7 5 qura 7: 6 81 37T Aeeaw & 7 7fgen & aqurd 3 : 4 g1 39 987 # e afger #v
T TET & ST AT FIIT |
01. 4.7 02. 1:2
03. 1:3 04. 3:1
05. None of these
TAH T ATE THl
Solution for Question 65 Ans Key: 1
eng/eng T iterate Population Illiterate Population

65% 35%



Male Hemale Male Hemale

eng hin

Q-66

Q-66

fé ; 6 3 4
35 % 30 % 15% 20%
Hence Required Ratio= 20 % :35% =4:7
65% 35%
W HfeE i
7 i o] 3 54
35% 30% 15% 20%
F: et suE =20 % : 35% =4:7
Literate Population Illiterate Population
63% 35%
Male Female Male Female
fi z 6 % 4
35 % 30 % 15 % 20%
Hence Required Ratio= 20 % :35% =4:7
65% 35%
TE o A T A
7 ¢ 3 i oA
35% 30% 15% 20%

F: anfe e =20 % : 35% =4:7

Find the wrong number ?
TAT -IT ATT HITT ?

3 9 8 12 17 23 30
01. 3 02. 9
03. 17 04. 38

05. None of these

TAY | TS A2l
Find the wrong number ?
AT AT 1T HorT 2

3 9 8 12 17 23 30
01. 3 02. 9
03. 17 04. 8
05. None of these
TAH FHTE TET
Solution for Question 66 Ans Key: 2
2, 3 , 4 ., 45, +6 , +7
enghin 2 , 3 , +4 |, +5 , +6 , +7
Q-67  Find the wrong number ?
engleng AT AT HATT HITA ?
2036 2037 2041 2050 2062 2091 2127
01. 2127 02. 2050
03. 2091 04. 2062
05. None of these
TAH TS AR
Q-67  Find the wrong number ?
eng hin AT H&ITATI HI{oA ?
2036 2037 2041 2050 2062 2091 2127
01. 2127 02. 2050
03. 2091 04. 2062

05. None of these



TR AE T

Solution for Question 67

Ans Key: 4

eng/eng

+12 , 22, 432

eng hin

Q-68
eng/eng

Q-68

eng hin

Find the wrong number ?
TAT AT ATT HITID ?

13 117 966

01. 966
03. 117
05. None of these

T ATE TE

Find the wrong number ?
TAT G&ITATT HITSD ?

13 117 966

01. 966
03. 117

05. None of these
A F FTE T2l

Solution for Question 68

Q-69

Q-69

X9 , x8 , X7 , x6
X9 , x8 | X7 | %6

Find the wrong number ?
AT G&ITATT o 2

1179 1198 1189

01. 1189
03. 1198
05. None of these

T W ATE TET

Find the wrong number ?
TAT G&IT ATT HITTT ?

1179 1198 1189

01. 1189
03. 1198
05. None of these

TR AE T

Solution for Question 69

6552

6552

1

1

212

212

39312

39312

x4

1199

1199

196560

02. 13
04.

196560

196560

02. 13
04.

1222

02. 1199
04. 1209

1222

02. 1199
04. 1209

196560

1209

1209

Ans Key: 1

Ans Key: 3

eng/eng

23 , -13 , 23,

-13

+23

-13

eng hin

23, -13 , 23,

-13

+23

-13

Q-70

eng/eng

Find the wrong number ?
TAT G&ITATT IS ?

2369 2371 2379

01. 2369
03. 2379
05. None of these

TR AE T

2389

2333

2423

02. 2333
04. 2291

2291



Q-70

eng hin

Find the wrong number ?
TAT G-IT AT HITSD ?

2369 2371 2379 2389 2333 2423 2291

01. 2369 02. 2333
03. 2379 04. 2291
05. None of these

TAH HHE Tl

Solution for Question 70

Ans Key: 3

engleng +(1x2) , -(3x4) , +H(5x6) , -(7x8) , +Ox10) , ~(11x12)

eng hin

+1x2) , -Bx4) , +(5x6) , -(7x8) , +(Ox10) , ~(11x12)

Passage for Question 71, 72, 73, 74, 75 (ST-2075SRRBCLERKMAINS(31-35M)2020NP)
eng/eng Passage

Read the information carefully and give the answer of the following questions.

Out of 13000 students from the science-wing of a college 21% of the total number of students have only in Zoology. 12% of the total number of students have only
in Botany , 15% of the total number of students have only in Chemistry . 7% of the total number of students have only in Physics and 10% of the total number of
students have only in space science . 8% of the total number of students have in both Zoology as well as Physics. 4% of the total number of students have in space

science as well as chemistry and 11% of the total number of students have in Botany as well as chemistry . 9% of the total Number of students have in zoology and
Botany and 3% of the total number of students have in space science and Physics.

FicrsT  FAs=-TaT 3 13000 ST H | H{A ST 01 21% HEAT Had Siq (@9 § g1 HA ST H & 12% o Had aqeq(d &A= H 921 Al 8, FA =1 4 7
15% = Faer T T § 9TS i1 81 ST 61 Rl FAT HT 7% Fad HITd @17 H TR g3 § 37T BT 1 et ST FT 10% Fae sfarer &@sm #
S| BT T T TEAT FT 8% Siq TE 6 ATT-AT A (o A= | Y THE 51 [A BT H 4% 7 Fqre @A % arr-am 0 & #§ o 92 1 8
T H/A FETH 1% 7 aTeqid FHTT F FF-97eF T @A 7 A 92812 67 21 {A S0 H T 9%  Siq @A ofi¥ a=eqfa @ § 9212 67 2 i o
BIETH T 3% 7 sfafver fF=am i wifae fGsme & 92rs 67 2)

eng hin Passage

Read the information carefully and give the answer of the following questions.

Out of 13000 students from the science-wing of a college 21% of the total number of students have only in Zoology. 12% of the total number of students have only
in Botany , 15% of the total number of students have only in Chemistry . 7% of the total number of students have only in Physics and 10% of the total number of

students have only in space science . 8% of the total number of students have in both Zoology as well as Physics. 4% of the total number of students have in space
science as well as chemistry and 11% of the total number of students have in Botany as well as chemistry . 9% of the total Number of students have in zoology and

Botany and 3% of the total number of students have in space science and Physics.

TSt o TAAT- T & 13000 ST H & F{T AT 07 21% HEAT Fa Siq @A H g1 H/A S0 H H 12% 7 Faed aeqie [ § T&TE 61 8, FF S 7
15% ¥ Faet T A § T2TE AT 31 ST 6T Fol TAT FT 7% Faed K AT § THRIINT AT § 37T BIAT T F{eT TAT FT 10% Faer dareer f&owm J
S| BIAT T Tt TEAT HT 8% Siq AT o AT-H1 AT G # o @ g1 |/ S0 § H 4% o siqiet @ & qra-a77 w6 G # off mere fr g
ST |/ BT H & 11% T aTeqid &6 o qrF-9r 6 @G5 § 92 6 80 /A Sl 7 T 9% 7 Siq &6 $fi7 a"qenta G 7 97w i g i wgA
BTAT | & 3% 7 siafver f@sm o Aifas o & qars #7 2)

Q-71

eng/eng

Q-71

eng hin

What is the respective ratio of the number of students in Physics to number of students only in Zoology?

FAA S A & AT A HeAT 7 & Ao GE § g v @ w g6fad g #4782

01. 6:7 02. 32
03. 11:12 04. 3:8
05. 89

What is the respective ratio of the number of students in Physics to number of students only in Zoology?

FAA S (A § ST AT AT H ST AT B F AT T HSAT T FS ST AT AT 2

01. 6:7 02. 32
03. 11:12 04. 3:8
05. 89

Solution for Question 71

Ans Key: 1

eng/eng



Hifas AT = (7+8+3)% =18 %
Sig fasre=21%

FHeUT = 18 : 21




Q-72

eng/eng

Q-72

eng hin

SRS [Tl

aifaes Taaare = (7+8+3)% =18 %
Sig s =21%

HUTA =18:21

=6:7

Students in Space science are approximately, what per cent of the total number of students in Chemistry?

Sateer Fas | UeTs F3A AT T AT &, T & § Al 1 et 9T &1 fohaer giderd g2

01. 66.67% 02. 56.67%

03. 76.67% 04.

05. 96.67%

86.67%

Students in Space science are approximately, what per cent of the total number of students in Chemistry?

safver fasm o qeTe F AT T AT &, TEHA A § At ¥ et Tt w7 e giderd 82

01. 66.67% 02.
03. 76.67% 04.

05. 96.67%

Solution for Question 72

Chemistry a%

15%
Space science
10%

Space science=4+10+3=17%

Chemistry=15+11+4=30%

%= :—; % 100 = 56.67%

g e
21%

Faeata faam =

12% ' sitferr fasmer
11%

3%
A A=
15% a%

Fafter Ram
10%
aafyer A —4+10+3-17%

W AT =15+11+4=30%

%:% % 100 = 56.67%

56.67%
86.67%

Ans Key: 2



Space science=4+10+3=17%
Chemistry=15+11+4=30%

%=12 % 100 - 56.67%

Q-73 only in Chemistry
eng/eng Iﬁﬂ%mﬁ%%ﬁwﬁﬁmﬁmsﬁg‘?
i _ ‘___,..-'
0L 1120 02. 670
03. 879 04. 975
05. 685

- H students have only in Chermstry”
S,g?m %mﬁa%#mw%ﬁﬁmﬁé?

01. 1120 02. 670
03. 879 04. 975
05. 685




No. of students only in Chemistry = 15% of 13000

=975

Fa s
21%

9%

Tt s
12% ™ sitfes s

11%

3%
T

15% a%
Fatw A=
10%

S WA A= d orat & |G FE&AT = 15% of 13000

=975

Space science

No. of students only in Chemistry = 15% of 13000

=97

N

i fareme

9%
TAEIfa Awe
12% & sifas R
X 11% !

3%
e e
15% a%

Hafer Bae

Had WIS e A oAt S @A FEAT = 15% of 13000

=975
Q-74  What s the total number of students in Botany?
eng/eng  ATEA( TSI H =l 1 HF HEAT Fhaeil 22
01. 2060 02. 2040

03. 2050 04. 2070



05. 2080

Q-74  What s the total number of students in Botany?
eng hin  FTEA(T TS H Zr=l 1 o et et 22

01. 2060 02. 2040

03. 2050 04. 2070

05. 2080

Solution for Question 74 Ans Key: 5
eng/eng
Zoology
21%
%
Botany P
12%
Phyzics
7%
1%
%
Chamistry 4%
15% /
Space sclance
10%

Total no. of students in Botany = (12 +9 + 11)% of 6500
=32% of 6500
=2080

e C]
21%
9%
8%
aE sifars R
7%
11%
3%
s
15% 4%
fafer s
10%

gacafa fera d sEr i g F&AT = (12 + 9 + 11)% of 6500
= 32% of 6500
= 2080

eng hin
Zoology
1%
9%
Botany B
12%
Physics
7%
11%
g

Chamistry 4%
15% !
Space sciance
10%

Total no. of students in Botany = (12 +9 + 11)% of 6500

=32% of 6500
=2080

21%



o f h -s%
12% ST e R
< 1% N Ly
: 4 3%
wae =
15% 4% |
; e
10%

gaeufa faara o orEt & @ F AT = (12 + 9 + 11)% of 6500

= 32% of 6500

=2080

Q-75  Lowest number of students have in which subject?

engleng  aH FH AT e faorw § werg i 22

01. Zoology 02.
S s
03. Space science 04.
siafeer s
0S. Chemistry
Q-75 Lowest number of students have in which subject?

I FH AL 7 e o § gere & 22

01. Zoology 02.
ELAEEIG]

03. Space science 04.
siatver o

0S. Chemistry

Solution for Question 75

Zoology
21%

9%
Botany

12%

Physics
T

11%

Chemistny 4%
15%
Space science

10%

Botany
ECrIcACEID]

Physics

Botany

Feeata s
Physics

we can observe that the lowest number of students has in Space science

y Eeic
it
. 9%
- 8%
\12% ) T it e
11% :
o 3%
A e '
15% 4% |

© 3after e
10% /

Ans Key: 3



A W Fad ¢ b Falke e & ga@ &x o1 §

eng hin

Zoology
21%

9% /
Botany 8%
12%

Physics
11%
3%
Chemistry 4% i
15%

Space science

10%

we can observe that the lowest number of students has in Space science

a_d_-.- EEaiG
21%
q'_‘..
o 8%
FACT T
125 it A=
7%
11%
3%
T e
15% 4

safier fasm
10%

TH 3@ "ad € for after e & @99 &a o7 §

Q-76 In each of the following questions, a question is followed by three statements numbered I, II and II1. Read all the statements and find which
information is/are necessary to answer.
Aafafaa® @ v@AF A/, AT FITL NS T | T FIT7 HT 92 AT ATT 11973 T3 STLIA & g 77 o rawrdy
STAFTIAT STALTF |

What is the staff strength of company A?
FAAT A FHATHAT T FeAT et & 2

1. Male and female employees are in ratio of 2 : 3 respectively.
1. The number of 80% male employees is 132.

III. Total number of officers is 264 and remaining are workers.
L & i ATRAT FHATRAT HT ST FHHLT: 2 : 3 7

. 80% T&W FHATRAT 6T H&AT 132

I e STTARTIAT T HEAT 264 8 ¥ a9 =19 2|

01. All three together are sufficient 02. Tand II together |
Tt 1 U Ay ag iy 8 1T 11 T &7
03. TandIIorIII 04.  All three together are not sufficient
1 T 1137 11 Tt AT UF ATy = Tl 2
05. None of these
TAH HFS Tl

Q-76 In each of the following questions, a question is followed by three statements numbered I, II and III. Read all the statements and find which
eng hin  information is/are necessary to answer.

Aafafag® @ v@s v ®, fiTFI7L DT T ) at F971 792 T ara Fford 3 s F g ara |t srasrdy
STARTIAT MTLTF B



What is the staff strength of company A?
FOAT A F FHATAT 0T FEAT fohaeil & 2

1. Male and female employees are in ratio of 2 : 3 respectively.
II.  The number of 80% male employees is 132.

III. Total number of officers is 264 and remaining are workers.
L & ST ATRAT FHATRAL HT ST FHALT: 2 : 3 7

L. 80% T&W FHATAT T HEAT 132 2

1L, et SRRt 1 5T 264 2 4% 9 v )

01. All three together are sufficient 02. Tand II together |
EEIICIRERC DR DR S [ T 11 TF |1
03. TandIIorIII 04.  All three together are not sufficient
1 I 1137 100 Tt AT UF AT = TR 2
05. None of these
TAY F FE TR0
Solution for Question 76 Ans Key: 2

eng/eng  With the use of I and I we can find out the total number of employees.
A [ 37T 11 T FEAT & F/e HHATILAT T TEAT AT FHT Thd 8

eng hin  With the use of I and II we can find out the total number of employees.
A [ 37T 11 Y FEIAaT & Ho HHATIIAT ] AT ATT FT Thd gl

- 7 7 In each of the followin uestions, a question is followed by three statements numbered I, IT and III. Read all the statements and find which
gq q J
information is/are necessary to answer.

fRafafaa® @ s@s o &, o saT 1, N frrae g asft Fa1 7 9@ st ara fford 3 saeea & g sia &t srasrdy
STARTIAT MILTF 2|

What is Neelu’s present age ?

AL T AT AL FATE 2

I.  Neelu’s present age is 2/5 of her mother’s age.

II. Neelu’s mother's age will be thrice Neha’s age after 5 years.

II. Neha’s seventeenth birthday was celebrated three years before.
I e 7 FAET S ST A/ AT S A 2/5 7

I o= a9 a1 1 AT A/ 7 A 7 A A7 AT T A7 SR
[l T a9 Tgel 7T FT TASAT STeH @ AFTAT T4 2

01. All three together are sufficient 02. I and III together
ufy 17 T = 9 g 11 q 11 T |7
03. Tand II together 04.  All three together are not sufficient
[ 947 11 UF AT Tt AT T =T 9= A8l g
05. None of these
TAH & A1E TRl

Q-77 In each of the following questions, a question is followed by three statements numbered L, II and III. Read all the statements and find which
eng hin  information is/are necessary to answer.

fAafafaa® @ y@s v &, a7, N T e g asft Fa1 7 9@ st ara fford Frsaea & g st dt srasrdy
STARTIAT MILTF 2|

What is Neelu’s present age ?

g i FdH Y FATE 2

1. Neelu’s present age is 2/5 of her mother’s age.

II. Neelu’s mother's age will be thrice Neha’s age after 5 years.
III. Neha’s seventeenth birthday was celebrated three years before.
I e T aqT S STt A AT S T 2/5 =)

Il 9= a9 a1 A1 67 /7 1 A 727 6T 7 A A A7 gRi
1. i a9 Tger 9T T Togai Seata q=1aT 747 2

01. All three together are sufficient 02. I and III together
ot 1 UF AT 0T § [ 7T I T 81
03. Tand II together 04.  All three together are not sufficient
[T 11 T &7 T AT TF AT TATH ARl B
05. None of these
TAH HHIE Tol

Solution for Question 77 Ans Key: 1



eng/eng  All three together are sufficient
EEIGIGIRERC IR R DR S

eng hin  All three together are sufficient
EEIGIGIRERC IR R DR S

Q-78 In each of the following questions, a question is followed by three statements numbered I, II and III. Read all the statements and find which

eng/eng information is/are necessary to answer.

Aafafaa & @ v@F I/, TATFITL NS T F | T FAT7 H7T 92 AT ATT 11973 T3 STLIA & Forg 77 o rasrdy

STARTIAT MTLTF

For what time the simple interest is Rs. 500?

e T\ H "I ST 500 T 1T 2

1. The compound interest on the same sum for two years is 484.

II. Rate of interest is 5%.

III. The difference between compound interest and simple interest on that sum for 2 years is Rs. 41.

I =T geeier a% 37 AUl A7 Awg g AT 484 I g

II. =37 T 3T 5% Bl

I, HHT AT T 2 T T A (e SATST 31T ATLTIOT SATS T ¥ 41 T )

01. All three together are sufficient 02. Tand (I or I1I)
aft T T = gy E [ T (11 3T 100)
03. T and III together 04. 11 and (I or IIT)
[T I U= |7 I 79T (13 10D
05. None of these
BLEEIERE]
Q-78 In each of the following questions, a question is followed by three statements numbered I, II and II1. Read all the statements and find which

information is/are necessary to answer.

AafafEa® @ v@F TI®, TATFITL NS T F | T FITT HT 92 AT ATT 119 T3 ST IA & g Y7 o1 Araamdy/

STARTIAT MTLTF

For what time the simple interest is Rs. 500?
e T § T SATS 500 FAF 2T 2

[.  The compound interest on the same sum for two years is 484.

II. Rate of interest is 5%.

[TI. The difference between compound interest and simple interest on that sum for 2 years is Rs. 41.

I ST =Ty 9 &1 aut &7 Awg e ATt 484 T gl

A

II. =TS T IT 5% 2l

Q

IIL. FHTT SRR T2 2 AT HT AHG (5 SATS ST AT AT 7 3(qT 41 9T g

01. All three together are sufficient 02.

gt AT UF qIT T=;E

03. Tand III together 04.

[ T 111 T 7T
05. None of these

TAH A AE T

Solution for Question 78

I and (II or IIT)
[ 9T (11 97 1II)

I and (I or III)
I T (13T I0D)

Ans Key: 4

eng/eng Il and (I or III) are sufficient
I T (13T 1) oI 7] &

eng hin I and (I or III) are sufficient
11T (1T 1) 917 8

Q-79 In each of the following questions, a question is followed by three statements numbered I, II and I11. Read all the statements and find which

eng/eng information is/are necessary to answer.

Fafafaa® v AF 77§, AT FITL AT FRTaw ) Tt w9771 7 92 shxara o For 3TIF F g sia o srasrdy

STARTIAT MTLTF 2

What is the speed of the train?
YT FY AT FATE 2

1. Length of the train is 300 meters.

II. The train crosses a platform double of its length in 54 sec.

III. The train crosses a signal pole in 18 sec

I YoRMET & @ T 300 |, g

II. ICRTIET YT THETS o SN[ T8 Wb d 1 54 FFve § qT Fdl 8



Q-79

eng hin

II.

01.

03.

05.

YIS U @ F T 18 7. § I FLdT gl

All three together are sufficient 02. I and III together

ot 1 U AT gty § I =T [ TF a7

I and 111 together 04.  All three together are not sufficient
I =T 11 T |11 Tt A1 UF AT I qE 8
None of these

=R &S

In each of the following questions, a question is followed by three statements numbered I, II and II1. Read all the statements and find which
information is/are necessary to answer.
Fafafaa & F rAF 778, AT FITL AT FRTaw ) Tt w971 w7 92 sk ara Fford For 3TLIF F fAw sia & srasrdy
SATAFTIAT MTLTF |

What is the speed of the train?
TATET Y AT FATE 2

L
II.

1L

L.
1L

1.

01.

03.

0s.

Length of the train is 300 meters.
The train crosses a platform double of its length in 54 sec.
The train crosses a signal pole in 18 sec

YFTET AT AFTE 300 Y B
TAMET AT AFATE F TN AF TAEHIH T 54 HHUE § I FdT 5

ITET UF ey &7 18 /. | O F T 2

All three together are sufficient 02. I and IIT together

aofty =1 UF HIr At [T =T 11 T |77

[ and III together 04.  All three together are not sufficient
[ 0T 111 T |77 Teft S U =TT AT Al e
None of these

TAH FIE Aol

Solution for Question 79

Q-80

Q-80

eng hin

I and (I or III) are sufficient
L 7 (1L 3T I00) 93 Te &

I and (II or III) are sufficient
I T (11 3T 101) 937 &

Ans Key: 5

In each of the following questions, a question is followed by three statements numbered I, IT and III. Read all the statements and find which
information is/are necessary to answer.
fFafafag & @ ras 79/, AT FI7L L AT FRTTT ) 9T FI77 792 T ara FIFrF Fr 3w 3w F forg wra d sraswrdty
STARTICAT MFTLTF B

A milkman sells a homogeneous mixture of water and milk at a rate of Rs.40 per liter. Find the profit percentage of the milkman.
T TEHATAT TTAT 31T ZL o T T 40 9 9 12 6T 7 F =a7 | TUAT T ATH T(q9rd 1 i rord|

I: He bought milk at the rate of Rs.35 per liter.

II: He bought water at Rs.10 lower than the rate of milk per liter.
III: He sold total 80 litre mixture.

[: 38 g8 35 F0% 9 ey it a7 § @an

I: IH ITHT &7 34 7 10 F9F T 12 FH T F LT

1L 39 F 80 e FH=ror 5=

01.

03.

05.

Tand I 02. IIand III
Iqur o 11 T 1L
Any two 04. Tl andIorIl
e oft ar JNERIBE DI
None of these

T TS AR

In each of the following questions, a question is followed by three statements numbered I, II and II1. Read all the statements and find which
information is/are necessary to answer.
Fafafaa & v AF 778, AT FITL AT FRTaw ) Tt w971 w7 92 sk qra Fford For 3T F fw sia S srasrdy
SATAFRTIAT MTLTF |

A milkman sells a homogeneous mixture of water and milk at a rate of Rs.40 per liter. Find the profit percentage of the milkman.

T FEATAT TTHT 3T Z 6 a7 7 40 =93 i e 7 3% 7 =7 81 oarer HT AT Terd s Frfsrn



I: He bought milk at the rate of Rs.35 per liter.

1I: He bought water at Rs.10 lower than the rate of milk per liter.
I1I: He sold total 80 litre mixture.

1: 399 3 35 T U e 1 37 T @diam

I1: I8 I 7 3 H 10 97 9i A2 77 3T gE

III: I8 /e 80 FAra Frsqor 5=

01. TandII 02. IIand III
IqaT I IR ImII
03. Any two 04. TIandIorIl
FrE AT AT I =7 13T 11
05. None of these
N T i
Solution for Question 80 Ans Key: 5
eng/eng  All three together are not sufficient
T T /T A T T
eng hin  All three together are not sufficient
T TF /T A TATH T
Q-81 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in two parts of the sentence. Choose the option
which represents the pair of incorrect parts. If there is no error, mark your answer as (5).
Subsidies are important for agriculture (A)/ and it is time for a two years plan (B)/ to roll out DBT for all fertilisers subsidies (C)/ for affected spending. (D)
/no error.
01. AandB 02. AandC
03. BandC 04. BandD
05. No error
Q-81 = fEATTAFATRTATTATN & T TATE B (1),(2),(3),(d)3H T (5) FATH FAq T2 §1 AUHT Tg I@AT§ o a1 & Pt ww7ar A
STHI, ATHT, FAAT, ASET H TAT TAVNTITSHT TG F 1 F1S AT AATFI AT A1 F T TF v 771 0F F AfyF qarr  grawat gl
SEATTHTFATH &1 SAL & | AL ATFY FFe<TRa § T ST (5) AT #rs Aagfg adfi Hvrm
AT ad & F forg geas T TTATH FT AT 1)/ SH TG ARTTH 2@H 2) RO wawar &t Q) fswmaragi g1 @) msgfeadi )
01. 13f73 02. 1374
03. 2373 04. 1372
05. s Afr
Solution for Question 81 Ans Key: 4
'year' should replace 'years' in part B. In case of (number +noun +noun), the first noun should be singular.
'effective’ should replace 'affected'’ in part D as an adjective is required. 'Affected' is a verb.
eng hin  Srord — fier e & # e e Y w7 § werwr am
ST I B FT H T@H
Q-82 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in two parts of the sentence. Choose the option
eng/eng Wwhich represents the pair of incorrect parts. If there is no error, mark your answer as (5).
An empty mind is a devil workshop (A)/ and with our demographic profile of such a large youth population (B)/,job creation to gainfully employ (C)/ the
youth has to be the most important focus. (D)/no error.
01. AandC 02. AandB
03. BandC 04. BandD
05. No error
Q-82 iR fEATTAFATRT ATT AT § FieTTAT Y B (1),(2),(3),@)3H T (5) Fwi1H Faq w3 § 1 Auwr g I@ar g B area & fopet swrar &
enghin  SATHIW, ATHT, TAAT, AT H TAT TIITITFHT AL 1 H1S AT FATZIN AV ATHT F P&t UF AU A7 CF @ Sf&F ATTH g1 aTc1 3

S ATTHTHFATH &1 SAL & | AL ATHFY e fRa § a1 ST (5) oAt #rs agfg 9 ffvrm
g ot 38 |7 7 2 (1)) 519 ATGATF [ (2) / HLTAT T (3) / T a=dT H T N1 (4)/ FE AT TEH(S)

01. Faer4 02. Feer 1



03. 13T 4T 04. Fae73

05. g qfe T
Solution for Question 82 Ans Key: 2
eng/eng "devil's" should replace "devil" in part A as 's shows possession (workshop of devil).
‘youth’ should be replaced by 'young’ in part B as 'youth' is a noun but an adjective is required to qualify the noun (population).
enghin  Fae |
- &9 3 T 9T S@HT A TN A
Q-83 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in two parts of the sentence. Choose the option
eng/eng which represents the pair of incorrect parts. If there is no error, mark your answer as (5).
Many public sector banks reported losses in Oct-Dec (A)/ after Reserve Bank Of India found in its asset quality review (B)/that certain accounts need
higher provisioning (C)/ and asked the lenders to classify those accounts as non-performing. (D)/no error.
01. AandC 02. AandB
03. BandC 04. BandD
05. No error
Q-83 = fRATTAF ATHFT ATTTAN & AT TATE FSreg (1),(2),3),(4)3 T (5) FH1H X TA | ATHT A I@AT S FF a1F7 F FoReft AT &
enghin  SATHIW, ATYT, TAAT, AT F TAT TAITITIHT AL T H1S AT FATTINT T AT F FEft UF AT A1 CF @ Af&4F ATTH ATt 8|
ST ATTHTHATH 21 ITL 2| FAT a7 A FexfRa & 37T (5) Fratq #1$ st 7 Hfsrm
T | T 3 A0 (1) T=H-TH & aras@ (2)/ Tt & 9 @0 &1 giehor(3) / @ad-a1 /q=d U4 Sqa gl (4) F1s (e T51 (5)
01. a7 1 02. FaeT 4
03. 783w 04. 157 4 T
05. Faer 3
Solution for Question 83 Ans Key: 5
The given sentence is absolutely correct.
qEaq-|T S U T 2
fAg- &7 T TF0 A= 2
Q-84 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in two parts of the sentence. Choose the option
which represents the pair of incorrect parts. If there is no error, mark your answer as (5).
The world’s mining giants were heavy criticized (A)/ in the years after the 2008 financial crisis (B)/, accuse of making ruinous acquisitions (C) and worse
pursuing costly mine projects.(D)/no error.
01. AandC 02. AandB
03. BandC 04. BandD
05. No error
Q-84 = fRATTAF T ATT AT A T TAT§ B (1),(2),(3),(4)3h T (5) FATF fraard g1 rwwr ag @ g o arara & Foreft swror &
enghin  SATHTW, ATHT, AA AT, AT F TAT TTITATIHT AL H T H1S AT FATZIO AV AT F FEAY UF A AT CH @ Af&F ATTH 1 qThe(1 )
SEATTHTHFATH 1 SAL & | AT ATFY FFexfRa § a1 37T (5) srATq #r2 g 9 ffvrm
AT ST FeAT § T2H AT ATl (1) / A Tt &7 (2) / FeaTaa w3 & o1 (3) / T % oI [eaed Jrary (4) / S I 787 (5)
01 =7 qfe & 02. FaT 37 4
03. 13T 42HT 04. Fer 3
05. Fae 13772
Solution for Question 84 Ans Key: 1
eng/eng  ‘heavily’ should replace ‘heavy’ in part A as an adverb is required to qualify the verb(criticized).
'accused' should replace 'accuse' passive voice structure is required.
eng hin  FE Ffe 7gT
Q-85 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in two parts of the sentence. Choose the option
eng/eng Which represents the pair of incorrect parts. If there is no error, mark your answer as (5).

In all the metals, Copper is said to be (A)/ the most sought after industrial metal, as exist mines (B)/ age and the good news is that new ones (C) / are found
in increasing difficult locations. (D)/no error.



Q-85

eng hin

01. AandC 02. AandB
03. BandC 04. BandD

05. No error

3 fEAT A F ITFT ATT AT | T TATE B (1),2),3),4)3h T (5) Fai® fxg 13 §1 sruwr agI@arg frarar ¥ et o &
STHT, ATYT, AAAT, A5G & TAT TATITIHT TLG HT HTS AT ATTFHO AT ATHFT F (HET TH AT AT TF | ATAF ATTH T aAKad1 81
SEATTHTHFATH 1 SAL & | AL ATFY FFexfRa § a1 97T (5) srATq &1 agfg 9 ffvrm

IHHT ATHA AHUF &, (1)/ T8 YL ATHT g (2)/ 3T ITHT RIgT 9% (3) / AT A&HT (A a1 g1 (4) /A2 A T8l (5)

01. FaeT3 02. FHaer 2
03. FaeT 4 04, Faer 1

05. s = T

Solution for Question 85 Ans Key: 4

eng/eng

'existing' should be replaced by ‘exist’ in part B as it shows continuation.
'increasingly should replace 'increasing' in part D as an adverb is required to qualify the adjective ‘difficult’.

eng hin

e - deft & w1 9% \eEEdt g

Q-86

Q-86

Which of the Phrases (1), (2) (3) and (4) given below each sentence should replace the phrase given in bold in the sentence to make it
grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

Assam Chief Minister questioned the source of the Ruling party’s huge election expenses and said, the Centre's assertion of a non-corrupt
government is "just a slogan".

01. Ruling party huge election expensesand ~ 02. Ruling party’s huge election expenses and says
said
03. Ruling parties huge election expenses and ~ 04. Ruling party’s huge election expense’s and said
said
05. No correction is required
TEAF AT | I GUETTE) I T HT AT 33 T3 araav it (1),2),3) T (¢) & F forma grer wivearfag s g fegrwararaw
STHI F AT T LE T AN 1% FEar w71 9197 3 § o T 6 o1 gFEweor 7 swaegwar agi § av (971 39 (5) aRrm

Trgat s et o AT o o fft = % af sl vt it oo aR 1 AR F gIRTAIT A E |

0l. 9% O FF A g U 2ia g 02. IHF 9T F7F ¥599 F g 50+ 21d 2
03. &k TTL T AT F g U 2 ¢ 04 TS FeArd i Ara9THar a5l
05. I F1 HT WIS g0 HOW 2 2

Solution for Question 86 Ans Key: 5

Assam Chief Minister questioned the source of the Ruling party’s (to express ‘of” apostrophe comma is used) huge election expenses (simple plural noun is
correct here) and said (the reporting verb ‘questioned’ is in the past, so ‘said’ is correct) , the Centre's assertion of a non-corrupt government is "just a
slogan".

eng hin

Assam Chief Minister questioned the source of the Ruling party’s (to express ‘of” apostrophe comma is used) huge election expenses (simple plural noun is
correct here) and said (the reporting verb ‘questioned’ is in the past, so ‘said’ is correct) , the Centre's assertion of a non-corrupt government is "just a
slogan".

Q-87

eng/eng

Q-87

eng hin

Which of the Phrases (1), (2) (3) and (4) given below each sentence should replace the phrase given in bold in the sentence to make it
grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

At least five inmates of the district jail were injure into a clash that broke out between two gangs, an official said.

01. was injured in a clash 02. were injured in a clash
03. is injure on a clash 04. are injuring in the clash

05. No correction is required
TCAF qTFT | IWR GUETTE) araRai A F71 = f3d 713 araaian (1),2),3) T @) # & e g afaeariya w31 g fearwararey
STHIW F AT T LE §T AT 1% AT 197 97907 7 § o < et ot Uigw<or #1 swaegwar gt § av staa1 39 (5) fRrm

ZHTIT 297 I 31T AT &1 34 €, TGT AAFT ATZTTAATY AT §, T AT STAATH H IeATH ST &,ARN 8 90T 3% Tea &7 A1
T Bl



01. =gt sreht giAwT #ATE STt § 02. gt F AT /AT ST &
03. gt el IeAT HATT ST 2 04. gt s G 79T ST 3
05. T TETT T ATLTHAT TRl

Solution for Question 87 Ans Key: 2

eng/eng

eng hin

Q-88

eng/eng

Q-88

eng hin

At least five inmates of the district jail were (plural and past form of verb is required according to ‘inmates’ and ‘broke’ respectively) injured
(passive expression is correct here) in (showing the condition or state of somebody/something) a (in general sense ‘a’ is used) clash that
broke out between two gangs, an official said.

gt 3T AT JATT AT &

Which of the Phrases (1), (2) (3) and (4) given below each sentence should replace the phrase given in bold in the sentence to make it
grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

A court hearing related to a cheque bounce case against promoter of defunct company directed him to appearing before them on the next hearing in July.

01. for appearing on their 02. for appearing after it
03. for appear to come before them 04. to appear before it

05. No correction is required
TEAF ITFT A IW FYETTR) ITHRATA FT 0= 32 713 qraaiat (1),2),3) T @) # & Frad gror afoeariyg #31 g fyaraarare
FTHI F AT T LE T AT FTE v war arew gz § o< et 9 gfgawwo £ sraeaswar gl § av a1 39T (5) AR

T W AT H T TR AT A6 T a1 AT 7 aafy @I a )

01. 7 TeETaT i 792 & I 8 02. Ty STrf i 9qfe & 297 2l
03. = =fFaT HT T & I 7 04. FTE FEATH T AFITHAT el
05. 7 STTel T | E

@
-
=
@
-
=
-

Solution for Question 88 Ans Key: 4

Q-89

Q-89

eng hin

A court hearing related to a cheque bounce case against promoter of defunct company directed him to appear (‘to’ generally takes ‘v1°’) before (to
express ‘in front of’) it (court is a non-living and singular entity) on the next hearing in July.

TS dEATT T AFITFAT T2l

Which of the Phrases (1), (2) (3) and (4) given below each sentence should replace the phrase given in bold in the sentence to make it
grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

The son of the Pakistani bus driver was declared the new London mayor after he beat his nearest rival, marking the return of Labour rule to the capital
after 8 yrs.

01. The son from a Pakistani bus driver was ~ 02. The son of a Pakistani bus driver was declaring
declaring
03. The son of a Pakistani bus driver was 04. The son with the Pakistani bus driver was declared
declared
05. No correction is required
TCAF TFT A IWR GUETTE) araRai 71 = f3d T3 araaiat (1),2),3) T @) # & e grar afaearfya w31 g fyarwararsy
STHIW F AT T LE §T AT 1% AT A7 97907 7 § < et ot gigwor 1 swaegwar gt § av staa7 39 (5) fRrm

TFRT-IH H F99T FTHT ARTAT T I A F QA TLHIT L & T AT FFaT 2

O1. o7 ST U 7T a2 F a=T 02. ZoT % NI % HAT A2 H AT
03. 97 % ST TT {1 A2 H AT 04. 23T 3T
05. FT< FTATT T AFLTFAT A1

Solution for Question 89 Ans Key: 3

eng/eng

eng hin

Q-90

eng/eng

The son of a (the driver is unknown, so ‘a’ is correct article) Pakistani bus driver was declared (the action is done on ‘the son’, so passive
form is required) the new London mayor after he beat his nearest rival, marking the return of Labour rule to the capital after 8 yrs.

29T AZTE T Ha&T 9 8 927

Which of the Phrases (1), (2) (3) and (4) given below each sentence should replace the phrase given in bold in the sentence to make it
grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

The economic policies of the President are "recklessly" and "most risk", Democratic front-runner campaign has said.



01. is “wreck” and “more risky” 02. are “reckless” and “more risky”
03. is “recklessly” and “most risk” 04. are “reckless” and “most risky”

05. No correction is required

Q-90 VTETATFTH IAX YATES) ATRATA T AT (3T T ITFATAN (1),(2),(3) AT (4) § & Fopma g77 wivreariag 37 o fear wararag
enghin  SATHIT & AHTTTTLF T 1A I AT va71 avay @ g o T et #F gfgweor a7 srggaswar a8l § O qoar 392 (5) Hfvrm
Rra s w1 a8 THAT Y ST TR T FT 9 IR TG FT AT ZET AR
01. fSrer JehTe o1f3r T &) ST 2 02. S JehTe 3TRr T enf W &
03. 5 FaTe AR FT g9 F2T 8 04. 5 Yo AR FT 0¥ TZFAT &
05. FT< FaATT T SAMFLTFAT ARt
Solution for Question 90 Ans Key: 4
eng/eng  The economic policies of the President are (according to ‘policies’ plural verb is correct) "reckless" (adjective is required at this place) and
"most risk (an adjective is required according to ‘reckless)', Democratic front-runner campaign has said.
enghin 5 ST T 7 e TgFAT R
Q-91 In each of the following sentence, there are two blank spaces. Below each five pair of words have been denoted by numbers (1), (2), (3), (4)
eng/eng and (5). Find out which pair of words can be filled in the blanks in order to make a meaningful sentence.
The intensity of hailstorm could be by the fact that the roads looked as snowfall had ———————in the city.
01. Guessed, prevented 02. Terminated, entered
03. Depreciated, suspected 04. Gauged, occurred
0S. Restrained, shaken
Q91 T EARTATTAFITA T AT GETGATE LSS T [ AHeT ATCTYR | T8 4 AT AT HTIITHL AT A ATFT TH
FATU FTFT T ATAT ] | GET AT ATA FLIGF [TFHTT HTITLH TTH & Tha 10T, FET Y 1587 & & G0 STLE A5 HT AT
Ffrm
TS ... T T T ToI9 IU=ATE /AT ST 96T g1 e 0T STt AT9T #1007 5. # forar ... AT ST T AT 7 T
TEAT ITITH A 5
01. ZH=RAY, =T T FHgTl 02. =SYordah, Sttt 1 FaTAT
03. gract whore, St =t Fart 04. FTErLY,SIesit T FaT
05. ATHTSE, STesit T FgTer
Solution for Question 91 Ans Key: 4
n Gauged, occurred
For other options:
Terminated (v)- ended
Depreciated (v)- devalued
Restrained (v)- limited
g FTGFLN, STeS(T %1 gl
Q-92 In each of the following sentence, there are two blank spaces. Below each five pair of words have been denoted by numbers (1), (2), (3), (4)
eng/eng and (5). Find out which pair of words can be filled in the blanks in order to make a meaningful sentence.
The ——————of construction materials especially sand and metal will be more in the coming days with the ban on the materials being enforced
01. Shortage, marginally 02. Excess, excitingly
03. Shortage, leniently 04. Shortage, strictly
05.  Excess, unknowingly
Q-92 FRARTITTAFTTH XFeATTFET G | AL S0* 717 Fawer AT AU R 378 @ ST AT FTAITFIAIA A I ATHATCH
eng hin ¥l ATFT T ATATZ | TRT AT ATT FLIAD (AFT HTITH € | & Fpq T, Frg 7w a3 § & qaffs sogw as3t w1997

Ffvrm
JTTEAT 3 T0Tg 6 for....... F I ST G I 9 g1 § TOHTAT0 forw o, sy 39T FT TqH

01. Hfy, @r 02. gy, T
03. f3em, = 04. NI, =T

05. T# & FrE AT



Solution for Question 92 Ans Key: 4

eng/eng  Shortage, strictly
For other options:
Leniently (adv)- lightly
Marginally (adv)- slightly
eng hin Y- T2T 9% AT, ¥ TANT T TN AT TR
Q-93 In each of the following sentence, there are two blank spaces. Below each five pair of words have been denoted by numbers (1), (2), (3), (4)
eng/eng and (5). Find out which pair of words can be filled in the blanks in order to make a meaningful sentence.
The officials will the meat shops to check the ——————standard of the shops functioning at various parts in the district.
01. Campaign, hygiene 02. Inspect, hygiene
03. Renovate, hygiene 04.  Auction, hygiene
05. Dramatize, hygiene
Q-93 " RARTTTTAFITR RF AT gerga g sh1Sus g fAFer ATC TR | S99 & ST AT HFTIITHFIIT A I ATFACH
enghin ALl ATHFT TATTATZ | &I AT ATT FT IS faaheq 1 IACH T H & Fova Mo, g ars § & qaffas Iug asai F19497
Ffvrm
E L5 S FA IS F&l ¢ ST AEdT &7 3T FAT 6, Fh Fl fhdeaTage a1 di &l
01, zporref, gfaerm 02. &g, gfeem
03. =rf=rar, giawr 04. Fegu, giagr
05. =% TS T2
Solution for Question 93 Ans Key: 2
Inspect, hygiene
For other options:
Campaign (v)- canvass
Auction (v)- sale by bid
Dramatize (v)- made a performance of
, i
Q-94 In each of the following sentence, there are two blank spaces. Below each five pair of words have been denoted by numbers (1), (2), (3), (4)
and (5). Find out which pair of words can be filled in the blanks in order to make a meaningful sentence.
The effect of cold was also seen on colleges which lesser number of students as many —————to skip classes.
01. Appointed, select 02. Ignored, wished
03. Registered, chose 04. Boasted, denied
0S. Undermined, lamented
Q-94 FEARTIATTAFITHA NHEATTFETIGATE s LIS T [AHeT ATCTY | S99 4 ST AT HTIAITHLIT T ATFA TH
enghin  HEYLO ATHFT T ATAT G| &I AT ATT H LI [AHT H1 STLh T H & Tehd T, T ATTH & qATT4H ITLTH W81 HT AT
By
AT F (A § AE-Aa0E 2IaT T8al 6,78, H 9T BIAT 8, THIT 78 &< 8 3 g0 379 39 Sta & g 3 Ud.......... L]
01. FHTAHFAT, SITAATT 02. g, I
03. AFATSAT, ATILT 04. FHiE=T, FTEET
05. it & A T
Solution for Question 94 Ans Key: 3
eng/eng Registered, chose
For other options:
Boasted (v)—exaggerated
Undermined (v)- weakened
Lamented (v)- felt sorry about
eng hin SIS, HTALTT
Q-95 In each of the following sentence, there are two blank spaces. Below each five pair of words have been denoted by numbers (1), (2), (3), (4)

eng/eng

and (5). Find out which pair of words can be filled in the blanks in order to make a meaningful sentence.



During the meeting, the authorities jointly decided upon a number of steps that would be initiated to ———fatalities and injuries
road accidents in the district.

01. Lessen, resulting 02. Boost, resulting
03. Enhance, resulting 04. Favour, resulting

0S. Diverse, resulting

Q-95 T RRTITTAFTITA RF AT GETAE HTITF TA AFeT ATCACE) T4 4 ST AR FTAITFIA A AZATFACH
enghin LI ATHFT TATTATZ | TET TSI ATT FL IS [AFT FTIACH TTH & Fora FIH T, Frgarg ors3| § / qaffars Iy a8 #1997
Ffr
TH-7-TF (& T FT F T (HAdT &, TH a1 § FHIs........ Gl &, ATohe AT<h H AT ... q 91 T8 gedT ATl
01. =ag, FaAt 02. g, =t
03. Ffaem, Fa=at 04. s, T
05. 3o & s et
Solution for Question 95 Ans Key: 1
eng/eng  Lessen, resulting
For other options:
Boost (v)- motivate
Diverse (adj)- various
Q-96 In the following question, two sentences are given. Each sentence has a pair of words that are highlighted. From the highlighted words select
the most appropriate word (A or B) to form correct sentences.
(1). The company offers month-long paid satirical (A)/ sabbatical (B) for all employees.
(i1). During Dean’s surgeon (A) / sojourn (B) in Paris, he spent two weeks visiting all of the city’s cultural attractions.
01. AA 02. BB
03. BA 04. AB
05S. Both AA and BB
Q-96 A gudATATFTA A F T F1 AT AT A T A1 & F FrE ATFT T AL § TT ATATISAIS) R
(1) et FrHame #T ¥ a7 2|
(2) T SrHaTT T TR avs Tl
(3) orger |IHATE 7 ¥4 w2 )
01. Faet | 02. FF13
03. Faer2 04. 13733
05. =TS AT |ar TRt
Soiution for Question 96 Ans Key: 2
eng/eng In Ist sentence sabbatical (n) which means a period of paid leave granted to a university teacher or other worker for study or travel, traditionally one year
for every seven years worked and satirical means mocking, sarcastic
In 2nd sentence sojourn (n) is used which means a temporary stay and surgeon (n) means a doctor who is specially trained to perform medical operations
eng hin AT TET T qAHTA 6T AT AT ST T2l &, TATAT Tl TTHATE HT TR q7= 27|
Q-97 In the following question, two sentences are given. Each sentence has a pair of words that are highlighted. From the highlighted words select
eng/eng the most appropriate word (A or B) to form correct sentences.
(1). The fact that the celebrity was behind the rumors was appealing (A) /appalling (B) to his followers.
(ii). People are asked to remain out of the abandoned quarry (A)/ query (B) because of the danger of falling rocks.
01. AB 02. BA
03. AA 04. BB
05. Both AA and BB
Q-97 = e gudraaraard G G AT CAAT | AL DA T qUHFATF G FIS 7RI TGS § AT ATATINS) R
eng hin

(1) FIAT TS FT SAHTI I T FAT H2 |
(2) SITST T STAHT FIAT I T FIAT FL|
(3) TS T FAAT FARTL I T FIAT FL|



01. Faer | 02. FT< =TT 98T T8r

03. FaT2 04. F3 3
05. 1 =iz 2aMr
Solution for Question 97 Ans Key: 2
eng/eng In lst sentence appalling (ad].) is used which means very bad, awful
Appealing (adj.) means showing or expressing a desire for help or sympathy.
In 2nd sentence quarry (n) which means a place, typically a large, deep pit, from which stone or other materials are or have been extracted.
And query means (n) means question, having doubt
eng hin  F< aTFT T &
Q-98 In the following question, two sentences are given. Each sentence has a pair of words that are highlighted. From the highlighted words select
eng/eng the most appropriate word (A or B) to form correct sentences.
(i). Rather than fining the graffiti artist, the judge ordered him to make reparation (A)/repatriation (B) by painting the entire building.
(ii). My physics teacher challenged us to refute (A) /refuse (B) his laboratory findings with our own evidence.
01. AA 02. BB
03. AB 04. BA
05. Both AA and BB
Q-98 = e gu AT ATHATH § TAQ FT AT § AN F&F T qTAT | § FIS q7HFT TAT ARN § AT HATAT IAL(S5) 7
(1) STferaRTRAT F FTTSTT f STi= FT|
(2) 3 H ATAHTA FT 9T T8 &l GIEIT 21T &l
OEEEERIERIREL
01. 23T 3 3Mr 02. 3% 33T
03. Faer 2 04. FE AT TRl
05. e |
Solution for Question 98 Ans Key: 1
In 1st sentence reparation (n) is used which means payment for harm or damage and repatriation (n) which means the sending of money back to one's own
country.
In 2nd sentence refute (v) is used which means disprove and refuse (v) means reject
TR~ T % AT T R A
T & F AT 2|
Q-99 In the following question, two sentences are given. Each sentence has a pair of words that are highlighted. From the highlighted words select
;  the most appropriate word (A or B) to form correct sentences.
(i). Hopefully the movie trailer piqued (A) / peaked (B) the interest of moviegoers and motivate them to buy tickets to see the film.
(ii). The criminal forced his wife to be his consort (A)/ concert (B) in crime.
01. AA 02. BB
03. AB 04. BA
05. Both AA and BB
Q-99 AR gUATATHINH G TAA H T LAAT§ AN [T T ATHATH § F1S ATHFT AT A-T 8 AT AIATIALS5) 2
eng hin . .
(1) ¥ T T FEE AT )
(2) SHET AtET T A T2T B
(3) FRMA T | AT AT F AT A2
01. 13T 32Mr 02. 13z 2 T
03. 23T 3 Mr 04. 12307 3 AT
05. #re =Ffe T
Solution for Question 99 Ans Key: 1
eng/eng In lst sentence pique (V) is used which means arouse (interest or curiosity) and peaked (adj.) means rising to a point
In 2nd sentence consort (n) is used which means partner, companion
Concert (n) means a musical performance given in public, typically by several performers or of several compositions.
eng hin  fAewd- & 79 i ervama LT 2



FTI g H AT ST F AT AL

Q-100 In the following question, two sentences are given. Each sentence has a pair of words that are highlighted. From the highlighted words select
eng/eng the most appropriate word (A or B) to form correct sentences.

(). The mountain trek will exhilarate (A)/ accelerate (B) tourists who love to challenge themselves.
(ii). His reactions to unpleasant situations tended to aggregate (A)/ aggravate (B) everyone’s nerves.

01. AA 02. BB
03. BA 04. AB

05. Both AA and BB
Q-100 TR A guATATFNTA AL HTLAAT FAL T T FTFATH KIS ATFT AGTAGN 8 AT ATATIALS) 2
et A A T s dr s A
(2) STt T & T T AT B
(3) HIAT T FT ATATHTIOT AT o)

01. Fa 1 02. F9e3
03. Faer2 04. FrE =fE TE
05. 2&fv3
Solution for Question 100 Ans Key: 4

In 1st sentence exhilarate (v) is used which means to make (someone) feel very happy and accelerate (v) means increase in rate, amount, or extent.
In 2nd sentence aggravate (v) is used which means to make (a problem, injury, or offence) worse or more serious and aggregate (n) means total.

Passage for Question 101, 102, 103, 104, 105 (ST-2075 RRB CLERK MAINS (21-25) 2020)
eng/eng Passage

Rearrange the following sentences from (A)-(G) in the proper sequence to form a meaningful paragraph while (B) and (G) are already at their
original position, then answer the questions given below.

(A) by repeatedly showing its discomfiture

(B) the ability of the once famed Indian statistical system
(C) with data put out by the statistical system that is seemingly
(D) for some time now, concerns have been voiced over

(E) the government has only fuelled such doubts

(F) to bring out credible and timely data

(G) at odds with its projected narrative.

eng hin Passage

= feT T AT F 9ga A THART AT FTFAM A) AT E) T AT 1L 31 SRawad 7t §1 57 sara d ugw fegvu faswsai & &
Stra &w gfAy, Sad gt arag s TAAtwEn

(A) STa F AT § el <1 (=g g9 ¥ TAT I S 21

(B) 3¢ Tt Ae Y Faer UF ST ATHA AHL 39 HER H AT 2

(C) AT  FHE & & 0T 3 STae 7 S Frav gl

(D) 5¢ F BT ¥ g2T | Tg @ 3T 3@ T AT AT 9 % {70 ST it g

(E) T2 ¥ 91 AT @Teft TeeT &1 THT g  forg wari grem &1

Q-101  Which of the following would be the FOURTH sentence after the rearrangement?

eng/eng

01. D 02. C

03. A 04. E

05. B
Q-101 =3 T aTFAT FT FHAG T o ATE AET ATHT FI AT 2
eng hin

01. E 02. C

03. A 04. D

05. B

Solution for Question 101 Ans Key: 4



eng/eng

The correct rearrangement is ‘DBFEACG'. The passage is based on the 'Indian Statistical System.’

enghin  TF F TI¢ F 2T | Tg @ 3T 3@ AT AT AT 9 % o0 ST it g
Q-102  Which of the following would be the SIXTH sentence after the rearrangement?
eng/eng
01. D 02. A
03. E 04. C
05. F
Q-102 =T T ATFAT T FHAG FLA 6 ATE ATAT ATHT DI dT ZRIT?
eng hin
01. D 02. A
03. C 04. E
05. F
Solution for Question 102 Ans Key: 4
eng/eng  The correct rearrangement is ‘DBFEACG’. The passage is based on the 'Indian Statistical System.’
enghin 2 & WIT T GTAT TgAT &1 UHT A % fore o=ie grar 2
Q-103  Which of the following would be the THIRD sentence after the rearrangement?
01. E 02. A
03. F 04. B
05. D
Q-103 =3 T AToFAT T FHAG F2A & 18 THLT ATHT A1 AT G2
01. E 02. A
03. B 04. C
05. D
Solution for Question 103 Ans Key: 3
The correct rearrangement is ‘DBFEACG’. The passage is based on the 'Indian Statistical System.’
I IO AT Y el T ST AT Ah< 39 G H 7T 2
Q-104 Which of the following would be the FIFTH sentence after the rearrangement?
01. B 02. G
03. C 04. E
05. A
Q-104 T3 T FTHIT T FHAG XA & ATE TgAT ATHT HI 9T g2
eng hin
01. B 02. D
03. A 04. E
05. C
Solution for Question 104 Ans Key: 5

eng/eng  The correct rearrangement is ‘DBFEACG’. The passage is based on the 'Indian Statistical System.’
eng hin ST % FAT F & AT 3 Sita F7 M9 rar
Q-105  Which of the following would be the FIRST sentence after the rearrangement?
eng/eng
01. C 02. E
03. A 04. D
05. B
Q-105 T3 7 FTRAT T FHSG XA & IATE Tr=aT T FI AT g2
eng hin

01. C 02. E



03. D 04. A
05. B
Solution for Question 105 Ans Key: 4

eng/eng The correct rearrangement is ‘DBFEACG’. The passage is based on the 'Indian Statistical System.’
enghin  STTa & ST § vl Q1 & (=g 29T ST TAT a6 ST gl
fAed- CBDEA

Passage for Question 106, 107, 108, 109, 110, 111, 112, 113, 114, 115 (ST-2075 RRB CLERK MAINS (26-35) 2020)
eng/eng Passage

Read the following passage carefully and answer the questions given below. Certain words have been given in bold to help you locate them while
answering some questions.

A substantial rise in consumer food price inflation to 14.12% in December 2019, the highest ever in the past six years, has driven the retail price inflation in this
country. However, with the core inflation rate still not overshooting the Reserve Bank of India’s (RBI) medium-term target of 4(+/- 2)%, speculations hover as to
whether the RBI monetary policy committee will go for another rate cut in the coming month. This is a policy dilemma for the central bank not only because the
overshooting inflation is resting on the back of undershooting growth and the fragile fiscal state of the economy, but more because the moot issues regarding the
government’s key economic estimates, such as the fiscal deficit, largely remain unresolved. The Comptroller and Auditor General has flagged discrepancies in the
central government’s fiscal deficit estimates for the past two years, stating that the current figures have been kept at a 1.5% to 2% low by not including the
government’s off-budget borrowings from public accounts, such as the National Small Savings Fund (NSSF). According to media reports, such off-budget
expenditure of the current government stands at Rs1.5 lakh crore in 201920, and alarmingly, about three-fourths of the incremental off-budget expenditure are on
account of under-recoveries in food subsidies of the Food Corporation of India (FCI).

Despite India’s food subsidy bill almost doubling within a span of six years, only a part of it is earmarked in the union budget documents. For instance, the 2019-20
Union Budget had provisioned food subsidy at Rs 1.84 lakh crore, while the overdues of the FCI are already at Rs1.86 lakh crore. For these burgeoning overdues,
however, the current government has been continually leveraging the balance sheet of the FCI—converting food subsidy into credits/borrowings (from the NSSF)
through book adjustments—and running the corporation into a debt-trap —situation. Consequently, since the past three years, the FCI’s —off-budget borrowings
from the NSSF have been on the rise, constituting nearly 70% or more of the corporation’s incremental debt burden in 2018-19. While one may argue that window
dressing of subsidies is nothing specific to this government, it is hard to deny that never before had it been at such a scale, and that too for artificially repressing a
vital economic indicator like the fiscal deficit. Not only is the efficacy of any inflation-targeting policy decision based on such distorted figures questionable, but it
also brings to the fore the political intentions of the current government for inflation—especially food price inflation—management. As always, this time as well, the
issues of agricultural supply management are relegated to the background by the standard causality argument of “‘crop damages” caused by excessive and
unseasonal rains hitting supplies, and that the inflation will ease out once the new harvest comes in. This argument can hold some water for horticulture crops like
onions that saw an almost 200% rise in price in November and December 2019, sparked by a poor rabi harvest last year, but may not find traction in explaining the
price inflation of wheat and other cereals.

With the government currently stocking much higher quantities of cereals at the FCI than the buffer norms—45.8 million tonnes of wheat as against the buffer norm
0f 27.5 million tonnes and nearly double the amount of rice vis-a-vis the buffer norm of 13.5 million tonnes, as on July 2019—India is now a cereal surplus
economy. Why then the inflation in cereal prices? Is this artificially created by the government through its irrational stocking practice? Some fundamental concerns
are triggered at this juncture. First, with the economic costs (including procurement and storage of grains) of the FCI being 12 times or more than the (ad hoc)
allocation cost of the grains through the public distribution system—Rs35 per kg versus Rs3 per kg for wheat, and Rs25 per kg versus Rs2 per kg for rice—higher
stocks would imply higher subsidy bills. Second, and in tandem with the first, ad hoc releasing of the stocks will not bring about any major changes in the situation,
beyond short-run political benefits to the ruling government at the cost of a ballooning subsidy bill. Third, in this context, off-budget borrowing can serve various
politically expedient purposes. It has enabled the government to showcase a consistently low share (below 1%) of subsidies in national income, thereby diverting
public attention from two critical facts: the FCI’s tipping financials, and the country’s (grossly) underestimated fiscal deficit.

When harnessing an inefficient supply system can be of such convenience, why will a government even try to resolve the supply bottlenecks in agriculture? Among
other things, the rhetoric of doubling farm income and diversifying to high value agriculture can earn some brownie points with the electorate, whereas
implementation of the recommendations of diversification of the Shanta Kumar Committee Report 2015 in the water-stressed, cereal-intensive states of the country
may not be alluring for the same reason. Simultaneously, what more can a “consumer-friendly”” government desire if a staggering food price inflation can be veiled by
an overall “permissible” rate of inflation? But, herein, the proponents of the consumer friendliness of this government must recall that the “illusion” of this acceptable
limit of inflation potentially rests upon the savings of the common consumers, which the government is unduly misemploying for its own gains.
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Q-106  According to the passage, The Comptroller and Auditor General has-

01. Clearly stated that the fall in fiscal deficit 02. Embarked on the budget in the union budget documents.
estimates was up to two percent.

03. Exposed that the reason behind the fall was 04. Pointed out the differences in the central government’s estimates.
off-budget borrowings.

05. Both 1 and 4

Q-106 TSI & T2 &3 1 fehrer faar St @ & s 7o grm?

(a) FATLT T I‘JIW“I)W‘II:"I

(b) & T FRFHer S | F==T ST FohT &

(c) & % T STAgeAT T AT ST g

01. Faea A 02. F9=1C
03. AT BT 04. =78 T FTS T2
05. 397 B
Solution for Question 106 Ans Key: 5

The answer lies in the first paragraph of the passage.
eng hin & & fA¥Her FI9 & T=TAT ST FHaT
freh- 392 TTErTer & uger T 2

Q-107  With reference to the passage, which of the following points is/are TRUE in the context of the FCI?

eng/eng ) ) )
A. FCI’s borrowing constituted nearly half of the corporation’s debt.

B. FCI was in a debt-trap situation for the past three years.
C. FCI borrowed a high amount from NSSF raising its off-budget.

01. Only A 02. OnlyB
03. OnlyC 04. Both A and B

05. BothBand C
Q-107 = T =T F SATA A S{ad | &H FT F97 7gd 82
eng hin (a)ﬁ%%ﬁﬂ?ﬁmﬁaﬁél

(b) ST TEG T FoqaT Tl T ST Fehe |

(c) & 3 T e Y Fed=T 7T 2T Tt B

(d) STETTETT Feq AT FoqaT T ST qehl 1|

01. AsfiTB 02. C3fiTD



03. AsfiTD 04. =¥ T FIS Al

05. B3z C
Solution for Question 107 Ans Key: 5
eng/eng  The answer lies in the second paragraph of the passage.
enghin  fATHT- 3T =AY F TgT AT B
Q-108  As per your reading of the passage, the efficacy of the inflation-targeting policy decision-
eng/eng )
A. Raises an argument related to crop damages.
B. Gives rise to controversy or public disagreement.
C. Exposes the current government’s intentions.
01. OnlyA 02. BothBand C
03. Both A and C 04. OnlyB
05. Both A and B
Q-108  Sfrae st st 7@ ¥ forw 7 g1 & wamefisty &7 47 srfererroT 82
enghin  (2) T T STa & ST
(b) TSTATH FT S g@ITAT AT
(c) T & @ T YaTg 36 oA FASTE U T 9@t w1 et 7@ i RITrer FT|
01. e A 02. Fae C
03. I« B 04. AT BEMT
05. i & 18 7
Solution for Question 108 Ans Key: 2
The answer lies in the second paragraph of the passage.
T & Gl TaTg o6 [T FHS U T SQaTterdl w1 et T@e i wIrLrer HT
fAerd- I =T F TEY ST 2
Q-109  According to the passage, currently, which of the following issues have been sidelined?
01. Issues of food price inflation management ~ 02. Issues of agricultural supply management.
03. TIssues of budget expenditure management  04. Issues of food distribution management
05. Both (1) and (2)
Q-109 T T T=rier | Aree(IWY) gU 163 1 (A 9re8 aara?
01, 3oLy 02. sl
03. ST 04. SITHRET
05. TRt i TS T
Solution for Question 109 Ans Key: 2

eng/eng The answer lies in the second paragraph of the passage.

enghin  [TRTLT

Q-110 With reference to the passage, it is an illusion that-

eng/eng
A. The limit of increase in prices depends on the money that the common consumers have saved.
B. The limit of the general increase in prices and fall in the purchasing value of money is acceptable.
C. The limit of fall in the purchasing value of money depends on the earning of common consumers.
01. Only A 02. OnlyB
03. OnlyC 04. Both A and B
05. BothBandC

Q-110 9. SATEGLATAAZE ST HTHIA AT HIF T AT?

eng hin



01. ==refy St 9T o ol U Faqwre o weg 02, FarHT SfY 91 % i ue aaqT & ged o o
I T ity o

03. Tt Sft 9T % I UF FqHTT & weg 04, FTHT S{T AT o ST Ud aqdT & Hed § W@ & &9 7 9|
T T&F 5 & H 9|

05. =% FFIE T

Solution for Question 110

Ans Key: 1

eng/eng

The answer lies at the end of the passage.

eng hin

Q-111

eng/eng

Q-111

According to the passage, “Inflation will ease out once the new harvest comes in” is an argument which can justify-

A. Price Inflation of cereals except for wheat.
B. Price Inflation of horticulture crops.
C. Price Inflation of wheat.

01. OnlyA 02. OnlyB
03. OnlyC 04. Both A and B

05. BothBandC
e g T AT § FREE AT | 560 =a1s F7 21 90T 9T A1 o2

01. 3w &t ATaAT 02. Tz T==T
03. frerr o fomm § = 04. == =7 Rerrer
05. =98 F FE AT

|

Solution for Question 111

Q-112

Q-112

The answer lies at the end of the second paragraph.

R~ ST =T F e T 2

As per your reading of the passage, which two facts are contradicting each other?

A. The allocation cost of the grains is high.
B. Farm produce of India is in abundance.
C. India has an efficient supply system.

D. Inflation is observed in cereal prices.

01. BothBandC 02. BothCandD
03. Both A and C 04. Both A and B

05. BothBand D
feT T werter § qIes@WR) §U AT HTHATAT 753 TaAT4?
SHTT

(a) &t

(b) &=

(c) FH=TH

01. Fo<r A 02. 39<TB
03. 33 C 04. AsfiTC
05. =% &+t

Solution for Question 112

Ans Key: 2

Ans Key: 5

eng/eng

Solution
The answer lies in the third paragraph of the passage.

eng hin

BEEE

Q-113
eng/eng

Which of the following can be considered the theme of the passage?

01. Food inflation can be proved harmful to the 02. The government should try to resolve the supply bottlenecks in agriculture before the worsening of

economic growth of the country so it should the economy.
be tackled.

03. The current food price inflation results from 04. Price Inflation can be controlled by resolving the government’s key economic estimates, like fiscal

a systemic crisis of supply management in surplus.
agriculture



05. Food inflation has been regularly observed
in our country since the past six years
resulting in growth.

Q-113 T THATAF ATAT S & ATETA HT e FAT TAATATLET B
enghin () FH 31T g # et T st 7€ 72 T2
(b) FTH TH ITHT ATSFT TAA 2
(c) T T IHH! 3= % [a%g AT 2|
01. Fae A 02. a7 B
03. AT BIMET 04. AT C FHT
05. v i 7S
Solution for Question 113 Ans Key: 3
eng/eng In the passage, the reason behind the current food inflation that has been stressed by the author is the ongoing crises observed in the supply management of
India. The option which best expresses this fact is (3).
eng hin  AfTB AT
Q-114  Choose the word most OPPOSITE in meaning to the word given in bold, as used in the passage.
eng/en
giens Trigger
01. Activate 02. Generate
03. Prevent 04. Start
05. Parallel
Q-114 =3 T T=rier | STwqe AT 1 747 37 872
01. <57 FT T T F ITE FIATI 02. o7 Y AT Rasrey J9=A=m
03. a7 T FTEL Za T STUET 3T of ovay 04. o9 3772y T & faud # fa=m amm
FETRATT T AZHATH FLATI
05. =% T IS AL
Solution for Question 114 Ans Key: 3
‘Trigger’ means ‘start” which is the opposite of the word ‘prevent (stop)’.
AT T ATET @ ol STUEAT STA Bl 3T7a¥ TATRHTT T AZHTH FATI
At I =T & 9T ST g
Q-115 Choose the word most SIMILAR in meaning to the word given in bold, as used in the passage.
Dilemma
01. Certainty 02. Advantage
03. Conflict 04.  Acceptance
05. Clarity
Q-115 TET T AT | FFSEHAY) T AT KT {AATH sz IqT4?
eng hin
AT
01. g 02. T
03. =T 04. =9
05. 3T & 7S T
Solution for Question 115 Ans Key: 3
eng/eng ‘Dilemma’ means ‘difficult situation’ which can be best expressed by the word ‘conflict.’
eng hin <4

Passage for Question 116, 117, 118, 119, 120 (ST-2075 RRB CLERK MAINS (36-40) 2020)
eng/eng Passage

In the following passage, there are blanks each of which has been numbered. These numbers are given below the passage and against each, three
words have been suggested. Find out the appropriate word(s) which fit(s) in the blank.



The NDA government has kicked off the disinvestment process for Air India for the second time — its previous attempt in 2018 had failed to receive a single bid. It
has issued a preliminary information memorandum for interest to sell its stake in Air India, Air India Express and Air India-SATS. (P) bidders will
be notified by March 31, implying that the stake sale will be closed only in the next (Q) year. But this time, the government seems to have taken
care to address some of the contentious issues which had (R) investor interest in the past. This is a welcome move. As the airline has been
incurring huge losses, there is simply no rationale for continuing to pump in money into a loss-making entity operating in a hyper-competitive sector where
consumers are well-served by the private sector.

The government has sweetened the deal on several counts. First, unlike last time when it offered to offload only 76 percent of its stake in the airline, the government
will offload its entire stake. This is likely to encourage prospective bidders as it implies having full operational freedom to run the carrier. Second, the government
has taken steps to address the airline's massive debt, which has been a major (S) block for prospective buyers. This time around, the government
has transferred part of the debt to a special purpose vehicle. As a result, the buyer will now have to take over only Rs 23,286 crore of debt. Third, the government
has lowered the net worth criteria for potential bidders from Rs 5,000 crore to Rs 3,500 crore. Fourth, eligibility norms have been (T) and
consortiums have been given greater flexibility for bidding, making it a better structured deal.

eng hin Passage

9 AT aT o | NF eATT T g g AIIqF T A [AFeq GATCAU G | AR 4 (AT AT FTAIA F LA & 98 AT T AL 797 a9
FTAT | AT AT ATT FI IS (TFT HT IALF TTH 3 Tovad FITT, T 17 o5 7 & GFTIAF ITLH q5a FT1 477 F1HRTY

g7 T IFAW AT BT T AT ANTREE A § werer w3 7% =i o AT T gvag % A O D R AT IEAT I2aT g1 ARG S{iae w7
ST qeag FHIAST A....(F)...... 30T SHHT ALAGIT TUF SHATEIT FHl F1d T 3T gl THH [Aa0T THI.......(T)....... T TEqah Gotl of (WAt 81 7S
faferg afvRaftart == wreraT e Asmeemer & et 21 adt g1 T TRt SEd F.. (). 8 T-T T ATHI T TG0 AT 37 -TEd g F FTL0
TS &, TTIAT FT I T UF Fghg <l & LT 219 6 HL....(F).......8, 3T Toq Bt S arert Peme-fRAfw .. L(7).... 819 % #1207 sitad &
STLETIT T I3 2

Q-116  Choose the correct option for (P)

A. qualified
B. absolute
C. eligible

01. OnlyB 02. BothBandC
03. Both A and B 04. Both A and C

05. OnlyC
Q-116 T = TET I FIT &RM?

01. il 02. qax
03. faftwrs 04. T
05. =i & F 8 AT
Solution for Question 116 Ans Key: 4

Qualified (adj.) - officially recognized as being trained to perform a particular job; certified.
Eligible (adj.) - satisfying the appropriate conditions.

For other options-

Absolute (adj.) - not qualified or diminished in any way.

eng hin Gy

Q-117  Choose the correct option for (Q)

engleng A. finance
B. fiscal
C. money
01. OnlyB 02. BothBandC
03. Both A and B 04. Both A and C
05. OnlyC
Q-117 < ¥&T 3L FAT g2
eng hin
01. Sfae 02. #=H
03. TuTT 04. ofger

05. i & A 7EF



Solution for Question 117

Ans Key: 1

eng/eng

Fiscal (adj.) - relating to government revenue, especially taxes.
For other options-

Finance (n) — the management of large amounts of money.
Money (n) - cash.

eng hin

St

Q-118

eng/eng

Q-118

eng hin

Choose the correct option for (R)

A. stimulated
B. precipitated
C. dampened

01. OnlyB 02. BothBandC
03. BothAandB 04. Both A and C
05. OnlyC

o % LT 3T FAT Y

01. erearey 02. ey
03. woreq 04. =7 F AIE TR
05. e

Solution for Question 118

Q-119

Q-119

Dampen (v) - make less strong or intense.
For other options-

Stimulate (v) — motivate.

Precipitate (v) — cause.

AT ET

Choose the correct option for (S)

A. skipping
B. stumbling
C. looming

01. OnlyB 02. Both B and C
03. Both A and B 04. Both A and C

05. OnlyC
TR FET AL FIT RIT?

01. TrsyTfa 02. srTaRTE
03. =TEETE 04. srEaTHTREE
05. =% T FIS AT

Solution for Question 119

Ans Key: 5

Ans Key: 1

eng/eng

Stumbling (adj.) - tripping or losing balance.
For other options-
Loom (v) - become visible.

eng hin

LCIGIEED

Q-120

eng/eng

Q-120

eng hin

Choose the correct option for (T)

A. contended
B. withered
C. tweaked

01. OnlyB 02. BothBandC
03. Both A and B 04. Both A and C
05. OnlyC

T TET 3L FAT ZRIT?



01. B 02. ffors
03. sfore 04. =% T 1S TE
05. s

Solution for Question 120 AnsKey: 5
eng/eng Tweak (V) - improve (a mechanism or system) by making fine adjustments to it.
For other options-
Content (v) - face.
Wither (v) - diminish.
enghin  SFHEH
Q-121 Indian Navy has installed Quarantine Facility in which city recently?
eng/eng  WTLATT ATEAT  ZT1 21 H T o2 § Hrer Hiaem e £ 22
01. Kochi 02. Mumbai
#ify LERS
03. Kolkata 04. Visakhapatnam
FHIAHTAT [ECUECIEREE
05. Chennai
EEH
Q-121 Indian Navy has installed Quarantine Facility in which city recently?
AT AT T BT g1 7 e 918 ¥ & ERrerey qiaram wria v g2
01. Kochi 02. Mumbai
e g
03. Kolkata 04. Visakhapatnam
FIARTAT ICEIEIEREE
0S. Chennai
EKH
Solution for Question 121 Ans Key: 4
Indian Navy has installed Quarantine Facility at Visakhapatnam.
AT AT 7 ferermamom=e § §arer giawm g &t gl
Indian Navy has installed Quarantine Facility at Visakhapatnam.
AT ATEAT 7 eI § S gae ST 6 2
Q-122 Name the former Indian Captain and the World Cup winner, who has announced his retirement from International Cricket.
Jeng  TA STXATT FATA 1< fosa &9 fasrar &1 91 Farey, Segi siaeigia e & d=ma & = 7 21
01. Suresh Raina 02. Harbhajan Singh
T AT g fig
03. Mahendra Singh Dhoni 04. Yuvraj Singh
wew e At REMEARES
05.  Gautam Gambhir
e T
Q-122 Name the former Indian Captain and the World Cup winner, who has announced his retirement from International Cricket.
enghin  T@ TR FATT ST e 7 s 7 4197 Fqrey, Pregiv siqaig g e & e it =0 i 2|
01. Suresh Raina 02. Harbhajan Singh
T AT FTae g
03. Mahendra Singh Dhoni 04. Yuvraj Singh
wew e At REMEARES
05. Gautam Gambhir
e T
Solution for Question 122 Ans Key: 3

eng/eng Former Indian Captain and the World Cup winner, Mahendra Singh Dhoni has announced his retirement from the International Cricket.
@ AT FHATE 3T fara & fosrar, 72w f6E ot 7 Saeigid e | Saet Faregie &t =S 6T gl

eng hin  Former Indian Captain and the World Cup winner, Mahendra Singh Dhoni has announced his retirement from the International Cricket.
@ AT FHATE 37T faea & fosrar, 72w T6E ot 9 SaeigiT e | et Fariegie 1 =S 7 g




Q-123  In which city main national event to commemorate the 6th International Day of Yoga will be held?
engleng 6 3 SIATEIT TN faa® FT AT % For e o122 # H=a T FTAaH aiiora 6T SToem?

01. Varanasi 02. Patna
FTTOTHT AT
03. Shimla 04. T1eh
farere K
05. Srinagar
S RTT

Q-123  In which city main national event to commemorate the 6th International Day of Yoga will be held?

enghin 63 SIATET TR faa® F1 AT % Forg e orge # qar Tt FrdaH saitora hm Sroem?

01. Varanasi 02. Patna
FTTOTHT AT
03. Shimla 04. I1eh
fareeT K
05. Srinagar
I RTT

Solution for Question 123

The main national event to commemorate the 6th International Day of Yoga (IDY) will be held in Leh, capital of Ladakh on June 21, 2020.

6 & SFTITET AT f3a| (IDY) FT AATH T & T FTHAHHT 21 S, 2020 T AZTE 6T TSTETHT g | AT B Sirosm|

The main national event to commemorate the 6th International Day of Yoga (IDY) will be held in Leh, capital of Ladakh on June 21, 2020.

6 & SIALTEI AT f&a® (IDY) T AAT T H&T TS FTHHA 21 A, 2020 FT AT 6T ST o0 | AT 3T ST

Q-124 Every year World Kidney Day is observed on-

B RE RN EEC K EIRISICIES

01. Second Tuesday of March 02. Second Sunday of March

03. Second Thursday of March 04. Second Friday of March
HTH T AL AT HT T FHLT LHATT

05. Second Monday of March

Q-124 Every year World Kidney Day is observed on-

ZLHT [ e faars AeAraT S -

01. Second Tuesday of March 02. Second Sunday of March
HTH T THLT FIAATT HTH T THT LA

03. Second Thursday of March 04. Second Friday of March

05. Second Monday of March
ATH & ZET A

Solution for Question 124

Ans Key: 4

Ans Key: 3

eng/eng  World Kidney Day is observed globally on the second Thursday of March every year. This year World Kidney Day is observed on 12th March 2020.

BT T AT % gL [EATE T {2 a7 faaw g wq2 o 99 siwar €1 =9 av forg freet fdaw 12 97+ 2020 #1797 ST 21

eng hin  World Kidney Day is observed globally on the second Thursday of March every year. This year World Kidney Day is observed on 12th March 2020.

BT TS HIH % gL [EATE Kl {2 &t faaw faea wq2 o 99 Siwar €1 =9 a9 forg freet faaw 12 91+ 2020 #1797 St 21

Q-125  Quality Control Lab has been set up by the Marine Products Export Development Authority in which city recently?
engleng 2T ot # T g ® woqat Ieqve fAata fospmer sfereneor gy sporea frror o wofua i g 22

01. Varanasi 02. Ahmedabad
ATTOTET HEAITEATR

03. Porbandar 04. Chennai
TeaT EEES

05. Vishakhapatnam
EremarTeTa

Q-125  Quality Control Lab has been set up by the Marine Products Export Development Authority in which city recently?
enghin 2T ot # B ergw & woqat Ieave Rt fospmer sidereor grer spore faror o wofua 6t w2 22



01. Varanasi 02. Ahmedabad

FATTITHT EELEEIE
03. Porbandar 04. Chennai
05. Vishakhapatnam
[EEIEEI R
Solution for Question 125 Ans Key: 3
eng/eng  Quality Control Lab has been set up by the Marine Products Export Development Authority (MPEDA) in Porbandar, Gujarat.
TSI & TREEY H FHaT 3cqT8 [AATa o Trfeerar (THHEETT) 1T qureT RF=ror @ erfa &t 1% gl
eng hin  Quality Control Lab has been set up by the Marine Products Export Development Authority (MPEDA) in Porbandar, Gujarat.
TSI % TYEEY | THaT SCATE (AT [T TTTeemeor (TS S 10) ST I[OTET (M= 9 ST 6t 7% &
Q-126 Recently Delhi Government with Tata Projects Limited and which IIT signed an MoU for Smog Tower?
engleng BT &l H 21T Trotred ferffes  #rer feeeft wreanme i oy srgarsdt 3 =i atae % fory, U #HeATar StTa 0¥ gearere {2
01. TT Delhi 02. TIT Kanpur
EIEE I AR i AEATEE FTA
03. 1IT Mandi 04. TIT Jodhpur
AEATSET T AEATEET ST
05. 1IT Bombay
Q-126 Recently Delhi Government with Tata Projects Limited and which IIT signed an MoU for Smog Tower?
T &1 § ZTT Sioteed forfiee & a1 faeeft vt oY foh amSamsdt 7 &t afaw & forg us au=Atar A a7 geqrav
01. TIT Delhi 02. [IT Kanpur
03. 1T Mandi 04. 1T Jodhpur
AT HET ATSATSET ST
05. 1IT Bombay
Solution for Question 126 Ans Key: 5
Delhi Government signed an MoU with IIT-Bombay and Tata Projects Limited for Smog Tower.
et 1T 7 THIT 2197 & {70 SEemedr-aiwy si¥ 2Ty WIoTFed [oITHeE & T UFH qHATAT SATI 9% geare? )
Delhi Government signed an MoU with [IT-Bombay and Tata Projects Limited for Smog Tower.
el T 7 T 21a% & (o7 s e dt-aiee sfi¥ ZTeT Wiotded felfHes & T UF qHeATar SAT9 9% geare? )
Q-127 Former world champion Roger Mayweather passed away recently, he was related to which country?
e fors ST e 9aaT T g 2f § e gr A, 7 T o & gatea o
01. USA 02. Russia
I T FHF =
03. Canada 04. Spain
FATST =
05. Italy
Q-127 Former world champion Roger Mayweather passed away recently, he was related to which country?
enghin T3 o ST0a TS Fo= FT 2T f # e 21, a2 e 2o 7 Haifard o
01. USA 02. Russia
I T FHE =
03. Canada 04.  Spain
FATST =T
0s. Italy
ZaeAT
Solution for Question 127 AnsKey: 1

eng/eng  Former world champion boxer Roger Mayweather passed away. He had a record of 59-13, with 35 knockouts.
& fersa ST qgarst T Faa 1 [Fg g1 T 39 9T 59-13 FT Rt o, [eH 35 aiwarse a1
eng hin  Former world champion boxer Roger Mayweather passed away. He had a record of 59-13, with 35 knockouts.

@ o ST gFarst T 9ae? F7 Fe g1 @7 396 919 59-13 #1 Rt o, e 35 aiwense a1



Q-128 Recently ICICI Bank has launched ICICIStack to Deal with Coronavirus Outbreak, who is the CEO of ICICI Bank?
eng/eng &1t # ICICI &% = Coronavirus & 1T # fAwaw % forw ICICIStack T 9[%sa 1 &, ICICI & % CEO Tl 9 8?2

01. Sandeep Bakhshi 02. Amitabh Chaudhary
T Fweft EIECIE R TR

03.  Sunil Mehta 04. Rajneesh Kumar
EF‘ F’l ﬁga LT A FHATL

05. Aditya Puri
arfeeT T

Q-128 Recently ICICI Bank has launched ICICIStack to Deal with Coronavirus Outbreak, who is the CEO of ICICI Bank?
enghin 2T &t # ICICI &% = Coronavirus & 1T # fAwaw % forw ICICIStack T 9[%sa 1 &, ICICI &% % CEO Tl &2

01. Sandeep Bakhshi 02. Amitabh Chaudhary
T Fweft EIECIE R TR
03. Sunil Mehta 04. Rajneesh Kumar
13'_“ aﬁga EE A FHATL
05. Aditya Puri
arfaeT T
Solution for Question 128 Ans Key: 1

ICICI Bank Launched ICICIStack to Deal With Coronavirus Outbreak.
ICICI &% & Coronavirus 3 S&TT & fAaee 3 forw ICICIStack 7% AT

ICICI Bank Launched ICICIStack to Deal With Coronavirus Outbreak.
ICICI % & Coronavirus 3 S&TT & fAaee 3 forw ICICIStack 9% AT

Q-129  According to the Bloomberg Billionaires Index, who has become the richest man of Asia?
ST [T ae SS9 ST, TIAAT T TaH SAHIT SATGHT I & 797 &2

01. Jack Ma 02. Mukesh Ambani
Bl T ST

03. Shiv Nadar 04. [akshmi Mittal
forg ATET® et foser

05. XuJiayin
S Sfif2

Q-129  According to the Bloomberg Billionaires Index, who has become the richest man of Asia?
AT [ T3 % STATY, TIATT &7 Jas 1Y raHl F:19 a7 a7 2?

01. Jack Ma 02. Mukesh Ambani
SER:II T ST
03. Shiv Nadar 04. Lakshmi Mittal
[EEKIEIEY T T
05. Xu Jiayin
EEIRE
Solution for Question 129 Ans Key: 1
eng/eng  According to the Bloomberg Billionaires Index, Chinese billionaire Jack Ma, the founder of e-commerce major Alibaba Group has toppled Ambani to get
the top spot in Asia.
STHE (Ao ad SS9 & STETY, S-HHE THE STTaTaT IO & ST, FAT S Steh | o STt a0 Ui § e #0109 e & form
e AT |
eng hin  According to the Bloomberg Billionaires Index, Chinese billionaire Jack Ma, the founder of e-commerce major Alibaba Group has toppled Ambani to get
the top spot in Asia.
STHET e T3 o ST, S-hHE THE STeftaTaT I F HETTH, FHT S Sth |7 7 siaret 7 uferm & i w2 s 77 3 form
T=E kAT Rl

Q-130 M Gopal Reddy was appointed as Chief Secretary of which state recently?
eng/eng UW TIUTS TG 1 2Tl &1 § {36 715 o g af=a % =7 # 7geh w2

01. Telangana 02. Andhra Pradesh
GERIEH EIPREC]
03. Madhya Pradesh 04. Jharkhand

LT T2 FRES



Q-130

eng hin

05. QOdisha
afgem

M Gopal Reddy was appointed as Chief Secretary of which state recently?

TH T L5 1 &1 &1 2t | {3 1157 & q&F 994 % =7 # Fgh a1 T2

01. Telangana 02. Andhra Pradesh
EUIE EIPREL]
03. Madhya Pradesh 04. Jharkhand
HET T2 ARES
05. Odisha
e
Solution for Question 130 Ans Key: 3
eng/eng M Gopal Reddy Appointed As Chief Secretary of Madhya Pradesh.
TH T 5T T HeT T o H&T qi=d 6 &9 § [7<h 62T 124
eng hin M Gopal Reddy Appointed As Chief Secretary of Madhya Pradesh.
TH T 5T T HeT T F HeT T 6 &9 7 [77<h 63T 124m
Q-131 Recently Intel Capital has bought how much equity stake in Reliance Jio?
engleng BT &l H St fqee = Rerrad o # fhae giadt feerd aadi 2?
01. 0.25% 02. 0.30%
03. 0.39% 04. 0.45%
05. 0.50%
Q-131 Recently Intel Capital has bought how much equity stake in Reliance Jio?
A 21 | 2o didee 7 erae S § fraer giEd feeaer @<t 82
01. 0.25% 02. 0.30%
03. 0.39% 04. 0.45%
05. 0.50%
Solution for Question 131 Ans Key: 3
Recently Intel Capital has bought 0.39% equity stake in Reliance Jio.
T 21 7 Tt Ffee 7 Raras S 7 0.39% fE feaerh a i 2
Recently Intel Capital has bought 0.39% equity stake in Reliance Jio.
T ol § 24 el o (LA o am | 0.39% iEdt Reaer =diet 2l
Q-132  A. Ajay Kumar appointed as the next High Commissioner of India to which country?
T, ST H{ATL I o ST ST 6 & 7 g 97 § 77w g2
01. Uganda 02. Rwanda
. .
03. Ukraine 04. Maldives
PET] ATAETE
05. Indonesia
ESRIERI
Q-132  A. Ajay Kumar appointed as the next High Commissioner of India to which country?
eng hin . 35T FHTL AT % A ST & =9 H 64 297 § (A7 g2
01. Uganda 02. Rwanda
X .
03. Ukraine 04. Maldives
PET] ATAETA
05. Indonesia
ST
Solution for Question 132 Ans Key: 1

eng/eng  A. Ajay Kumar appointed as the next High Commissioner of India to the Republic of Uganda.
T, 3757 FH{HT HT TITTEST RIS % foIT S & SRTel ISP & =9 ° f=43<h o @

eng hin

A. Ajay Kumar appointed as the next High Commissioner of India to the Republic of Uganda.
T, STSTT FH{HT HT TITTET RIS F foIT A % SRTel ISP & =9 ° =47 o




Q-133  Recently which state has launched ‘Balram’ scheme to provide credit to 7 lakh landless farmers?
eng/eng BT &l # o 7 7 7 1 IR AT T 3807 T&TH T o oIt e ATt 0% A1 22

01. Madhya Pradesh 02. Bihar
HET TR9T [EGIES
03. Jharkhand 04. Punjab
ARES P EIC)
05. Odisha
Arfar

Q-133  Recently which state has launched ‘Balram’ scheme to provide credit to 7 lakh landless farmers?
enghin 2T &t # o8 7 7 7 g IR AT BT 3807 T&TH T o oIt e AT 9% 61 22

01. Madhya Pradesh 02. Bihar
HET TR9T IEFAES
03. Jharkhand 04. Punjab
EIREEE] EEIC]
05. Odisha
Arfer

Solution for Question 133

Odisha has launched ‘Balram’ scheme to provide credit to 7 lakh landless farmers.
AT F 7 AT G FFETHT T 70T TZTF FIA 6 (o1 ram TALTH ST F Al 2

Odisha has launched ‘Balram’ scheme to provide credit to 7 lakh landless farmers.

AT 7 @14 9 Tt ATl T 0T T&TH 2 6 (o0 ram T8 "I 9I??Zﬁ%|

Q-134  Recently which state has signed MoU with National Skill Development Corporation for setting up a World-Class Skill Development Institute?

Ans Key: 4

Tt 2t § T Tror F gt wverr A A 3 | o v wvarer e wee wnfa e & o awEtar sae 97 geare R 82

01. Punjab 02. Bihar
A e
03. Assam 04. Kerala
] FTA
05. Goa
T

Q-134  Recently which state has signed MoU with National Skill Development Corporation for setting up a World-Class Skill Development Institute?

et 21 ® T T 7 i whverer e v &\ g w9 et e seer st e % oy aeiar e o7 gEarew ey 80

01. Punjab 02. Bihar
! At
03. Assam 04. Kerala
aaq FTA
05. Goa

Solution for Question 134

Ans Key: 5

eng/eng  Goa has signed MoU with National Skill Development Corporation (NSDC) for setting up a World-Class Skill Development Institute.
a7 forsg T v T e & eAIET F o wg wrere e A (NSDC) % 8T JHETar 19+ 9Y gearea? o g

eng hin  Goa has signed MoU with National Skill Development Corporation (NSDC) for setting up a World-Class Skill Development Institute.
raT F forsg T Frarer e e &1 euET F o g wterer A A (NSDC) % 8T JHETar 19+ 9Y geara? o g

Q-135  Recently who has been appointed by the Government of India as the new director-general of the Border Security Force?
engleng BT al # oA ATTA HTAHT A HIAT GLAT I % U AT F w7 § 37 Foham 22

01. Rakesh Asthana 02. Kaushik Khona
TTheT STEATHT EOIRERCIE)
03. Dinesh K Tripathi 04. Manoj Sinha
e 3% Bt RSB
05. SS Mundra
THUH H=T

Q-135 Recently who has been appointed by the Government of India as the new director-general of the Border Security Force?
enghin BT &t H [H# WILq AT 7 HAT AT I % AT WIS % =9 H (37 v 82



01. Rakesh Asthana 02. Kaushik Khona

TTHAT STEATAT FITA FT
03. Dinesh K Tripathi 04. Manoj Sinha
faerer % Bt A T
05. SS Mundra
THUH T
Solution for Question 135 Ans Key: 1
eng/eng The government of India has appointed Rakesh Asthana as the new director-general of the Border Security Force (BSF).
AT FLHTL T T[9T STEATAT T HHT AT T (FTTHIF) FT TIT AT L0 I 64T 2
eng hin  The government of India has appointed Rakesh Asthana as the new director-general of the Border Security Force (BSF).
AT FLHTL T T9T STEATAT T HHT AT T (FTTHIF) FT TIT AT <90 I 67 2
Q-136  Recently who has been selected by the Public Enterprises Selection Board as the next chairman of Steel Authority of India Limited?
eng/eng BT ol # FoHE AT ITH AT ATS GILT AT ZEATT TIAH0T e 5 STer sreared % =9 | A7 47 22
01. Soma Mondal 02.  Vini Mahajan
GG IES [ERIEHEE]
03. Riva Das Ganguly 04. Manoj Sinha
AT 7T T A BT
0S. Pradeep Kumar Joshi
T FATT STl
Q-136  Recently who has been selected by the Public Enterprises Selection Board as the next chairman of Steel Authority of India Limited?
BT &1 | T3 ATasive I 4 a1 gIT AT SEATd STTEEw 0T fofHes o STTer STeet & =9 H A7 797 &2
01. Soma Mondal 02. Vini Mahajan
= \f\—,r _Fa ﬁ =
03. Riva Das Ganguly 04. Manoj Sinha
0S. Pradeep Kumar Joshi
TR FHT ST
Solution for Question 136 Ans Key: 1

Soma Mondal has been selected by the Public Enterprises Selection Board (PESB) as the next chairman of the Steel Authority of India Limited (SAIL).

T HISA T AESI A6 3T =744 are (PESB) 7 TEer AT ot a7 ferfies (SAIL) & 31Ter eeqef & &9 | 947 711

Soma Mondal has been selected by the Public Enterprises Selection Board (PESB) as the next chairman of the Steel Authority of India Limited (SAIL).

o

T HISA &I qTESF ST T4 a1 (PESB) 7 wrer sttt st I forfiee (SAIL) F sRTer stewreq &9 § 947 211

Q-137 Recently who has released a comic book titled “The Adventures of the Daredevil Democrat’?

A 1 H (8 T U=y A T ST SHwe” A9 § UF Fl (7 I T 60 82

01, Smriti Zubin Irani 02. Narendra Modi
=T S ST T AT

03. Amit Shah 04. Ramesh Pokariyal Nishank
EIECRIES THY TrEtATe e

05. Naveen Patnaik
BEIRRCEIPED

Q-137 Recently who has released a comic book titled “The Adventures of the Daredevil Democrat’?
enghin 2T &l # T T U= A1 T TATS(AA A T F TF FHiTHF T AL 61 82

01. Smriti Zubin Irani 02. Narendra Modi
=i e 22 T e

03. Amit Shah 04. Ramesh Pokariyal Nishank
EIECRIES THY TrEtATe e

05. Naveen Patnaik
BEIRREEIPED

Solution for Question 137

Ans Key: 5

eng/eng The chief minister of Odisha Naveen Patnaik released a comic book titled “The Adventures of the Daredevil Democrat’.
e F qeaw=it 7 TeATTF T3 USAAE A g SALSIAT THRE ATH F UF FHIHF FF S A

eng hin  The chief minister of Odisha Naveen Patnaik released a comic book titled “The Adventures of the Daredevil Democrat’.

Ao F qeaw=it 7 TeATTT T3 USAHE A T TALSIAT THRS ATH F UF FHI{HF FF S A



Q-138 Recently who has taken over the additional charge of Director General of Border Security Force?

engleng 2T ol # FHE FTHT HZEAT A o HET[H<9T% T ATATIh THIL HATAT 52

01. Ajay Bhushan Pandey 02. Tushar Mehta
EEERSLKIH T HET
03. Surjit Singh Deswal 04. Rajiv Kumar
qesiia g zeEme T[S AT
05. Rajiv Gauba
REIERIEL

Q-138 Recently who has taken over the additional charge of Director General of Border Security Force?

enghin 2T &t # FFEe FHT HZeAT a1 F AR HT AT THIL HATAT 82

01. Ajay Bhushan Pandey 02. Tushar Mehta
ST S 7S T Ferlm
03.  Surjit Singh Deswal 04. Rajiv Kumar
s &g erara REIEETIES
05. Rajiv Gauba
REIERIEL

Solution for Question 138

Ans Key: 3

Indian Police Service (IPS) officer of Haryana cadre Surjit Singh Deswal took over the additional charge of Director General (DG) of Border Security

Force (BSF).

AT F2T F AT qferd 4T (IPS) STTeraTeT gISiiq fg sqare § AT a1 9 (BSF) & #l=aer (DG) &1 AT TH1E FH1T|

Indian Police Service (IPS) officer of Haryana cadre Surjit Singh Deswal took over the additional charge of Director General (DG) of Border Security

Force (BSF).

R F2 F AT qior 4T (IPS) feraT qesiia f#g T0arer 7 S1 2T a1 (BSF) F Agiaaers (DG) FT Afd s THTE ST

Q-139 Recently who was appointed as the new DGP of Jharkhand?
BT 21 § ATET % 90 DGP % =9 # e fAees o

01. MYV Rao 02. Neeraj Singh

03.  Anoop Kumar 04. Raghvendra Shukla
ST FHTE AT A

0S. Girish Shankar Pandey
Rrdrer s oie

Q-139  Recently who was appointed as the new DGP of Jharkhand?
2T 1 § AEE % 90 DGP % =7 # o fAes o

01. MV Rao 02. Neeraj Singh

03. Anoop Kumar 04. Raghvendra Shukla
T EFAT SEERE Cil

0S. Girish Shankar Pandey
Rrdter oiwe wie

Solution for Question 139

Ans Key: 1

eng/eng MV Rao Has Been Appointed As New DGP of Jharkhand.
THAT T T ATREE & 90 SISt % =7 7 s fram @ g1

eng hin MV Rao Has Been Appointed As New DGP of Jharkhand.
THAT T4 T ATREE F 90 SISt % =9 7 s fram @ 21

Q-140 S&P Global Ratings has reduced India’s economic growth forecast for the financial year 2020-
engleng UHUSH Wiraer Y 7 o A 2020 % forg v v snfi gfa F q@ige i 57 77 faa 2-

01. 6.0% 02. 6.5%
03. 5.0% 04. 52%
05. 5.5%

Q-140 S&P Global Ratings has reduced India’s economic growth forecast for the financial year 2020-
eng hin  UHUSH Wiraer Lfexd 7 o aw 2020 % g A it snfeis gfa F q@iga & 57 72 faar 2-



01. 6.0% 02. 6.5%

03. 5.0% 04. 52%
05. 5.5%
Solution for Question 140 Ans Key: 2
eng/eng  S&P Global Ratings has reduced India’s economic growth forecast to 5.2% for the financial year 2020.
TEUET WA (v o foe a9 2020 F Forg w1ea &t e i F SAGam &l 7217 5.2% FT <47 2
eng hin  S&P Global Ratings has reduced India’s economic growth forecast to 5.2% for the financial year 2020.
TEUET W@ (v o fae a9 2020 F Forg w1ea &t e i F SAGam &l 717 5.2% FT <47 2
Q-141  Santu Mukhopadhyay passed away recently, he was what?
eng/eng S TATITEATT T 1A 21 § (g T 04T, 72 747 2
01. Cricketer 02. Actor
T EIREL
03. Writer| 04. Singer
EleED UIRET
05. Politician
REEG
Q-141 Santu Mukhopadhyay passed away recently, he was what?
T HETITEATT FT 2T g1 | (e T 3T, a8 F4T 42
01. Cricketer 02. Actor
19 ]ET 31'&?'5[?”
03. ‘Writer| 04. Singer
EECET NIRED
0S. Politician
N 3 q E
Solution for Question 141 Ans Key: 2

Q-142

eng/eng

Q-142

eng hin

Solution for Question 142

Veteran Bengali actor Santu Mukhopadhyay passed away. He was popular for his roles in films like 'Sansar Simante' and 'Bhalobasa Bhalobasa'.

FATIZ, FTAT ATHAAT Y @ ITEATT F7 [HE| T2 T FHT ST ATAETET Arareamar s et § o1 ienmei & forg T o)

Veteran Bengali actor Santu Mukhopadhyay passed away. He was popular for his roles in films like 'Sansar Simante' and 'Bhalobasa Bhalobasa'.

FATTE ST ATHAAT F F@TATEAT T | I HHE FHT ST ATA ST ATATSTHT STHT w9 JIawTed & forw AT O

The Defense Acquisition Council (DAC) has recently approved a proposal to acquire how many new fighter aircraft from Russia?
7T ATERIZI THuE (DAC) 7 3T 5 # =9 ¥ fohae 97 AT AT STH F3 19 &l 7941 &1 82

01. 20 02. 26
03. 33 04. 28
05. 15

The Defense Acquisition Council (DAC) has recently approved a proposal to acquire how many new fighter aircraft from Russia?

7T AT T wE (DAC) T 3T &1 § &9 | o« 70 T2 3w 9T i3 & Teaq1d &l #s[27 &1 82

01. 20 02. 26
03. 33 04. 28
05. 15

eng/eng The Defense Acquisition Council (DAC) has approved a proposal to acquire 33 new fighter aircraft from Russia.
TeqT STferger avwE (DAC) ¥ &9 & 33 77 A= faHT g8 F3 & T&dq1d &l 7ol & &7 gl

eng hin  The Defense Acquisition Council (DAC) has approved a proposal to acquire 33 new fighter aircraft from Russia.
TeqT STferEer avwE (DAC) ¥ &9 & 33 77 AT faHT g8 2 & T&dq1d &l 72l & &7 &

Q-143  The world’s first commercial flying car named ‘PAL-V Liberty’ will be developed in which state of India?

eng/eng V PAL-V foradl e g it qgel ATiorfoash ISTH 1T W * [6d 707 | faenfa i sros?

01. Maharashtra 02. Karnataka
AETY FATEH
03. Andhra Pradesh 04. Gujarat

Ans Key: 3



AT T2

05. West Bengal
gfEry srTer

E "

Q-143

eng hin

The world’s first commercial flying car named ‘PAL-V Liberty’ will be developed in which state of India?
V PAL-V for@dt »Araeh g it agett arfortsas® ST 1Y 9Id & (e 157 § fasied it Jrosfr

01. Maharashtra 02. Karnataka
03. Andhra Pradesh 04. Gujarat
SRR o
05. West Bengal
TFET e
Solution for Question 143 Ans Key: 4
eng/eng  The world’s first commercial flying car named ‘PAL-V Liberty” will be developed in Gujarat, India.
PAL-V @t a1 T gfHaT & ageft aTfortsas IS H1T IS0, AT # (Shiad 6l SIust
eng hin  The world’s first commercial flying car named ‘PAL-V Liberty” will be developed in Gujarat, India.
PAL-V @t A1 T gHaT & qgeft ATforsas IS H1T IS0, AT # (Shiad f SIusi
Q-144  What is the name of the Veteran sports journalist, who has passed away recently?
encleng  AAIE B TAFTT HT FI7 A1 2, 5= 277 21 § Fem gr w22
01. Rahat Indori 02. Amar Singh
03. Rajeev Sinha 04. GK Menon
05.  Anil Murari
At 7T
Q-144 What is the name of the Veteran sports journalist, who has passed away recently?
FAGE T TAFTE T FIT AW 2, [T g1 21 # e g1 82
01. Rahat Indori 02. Amar Singh
03. Rajeev Sinha 04. GK Menon
05. Anil Murari
Solution for Question 144 Ans Key: 4

Veteran sports journalist, GK Menon passed away. He worked with the Indian Express.

FATIG T TAHRTT, ST T 1 (e Irgie SIS U T T a2 A SIAT F 1 T 6|

Veteran sports journalist, GK Menon passed away. He worked with the Indian Express.

FA19G G TADIL, Siid w4 D1 (a7l Srai SiSAT CTHHE i€ @ SIeH D IS4l @ |14 D (4dil

Q-145

eng/eng

Q-145

eng hin

What is the rank of India in the Global Animal Protection Index 2020?
AT TIAH TTEFIT TTHT 2020 H AT T T FT 82

01. Tenth 02. Second
J Z:
03. Fourth 04. Sixth
SR EL
05. First
TEAT

What is the rank of India in the Global Animal Protection Index 2020?
TATE TAHA TTEFIT TTHT 2020 H AT T T FT 82

01. Tenth 02. Second
J Z:
03. Fourth 04. Sixth
SR EL
05. First

TEAT



Solution for Question 145 Ans Key: 2

eng/eng

India got the second rank in the Global Animal Protection Index 2020.
AT THAHS TIEHT ST 2020 H AT T gHLT 1 e

eng hin

India got the second rank in the Global Animal Protection Index 2020.
AT THAHS TIEHT ST 2020 H AT T gHLT ¥ e

Q-146

eng/eng

Q-146

eng hin

What is the rank of Mukesh Ambani in the world’s richest person list as per Bloomberg Billionaires Index?

STHE Ao T T390 o STETY AT & Ta9 STHIY {<h 6T AT | THeT ST FT E19 FI7 52

01. ¢ 02. 8
03. 4 04. 3

05. 10

What is the rank of Mukesh Ambani in the world’s richest person list as per Bloomberg Billionaires Index?
STHE (ST TTH o STIATY AT & Ta9 STHIT 1< 6l AT H THeT ST T T 77 52

01. 6 02. 8
03. 4 04. 3
05. 10

Solution for Question 146 Ans Key: 3

Q-147

Q-147

eng hin

Reliance Industries' chairman, Mukesh Ambani, is now the fourth richest person in the world, according to news agency
Bloomberg.

g?ﬂ?ﬂ? ToHT Sofdedl & HJEN, Relrdd SSEEIeT @ HCTET, A a3 giar & AT Fad 3R <afh
|

Reliance Industries' chairman, Mukesh Ambani, is now the fourth richest person in the world, according to news agency
Bloomberg.

w@?ﬁwﬁwam@wﬁﬁmﬂ%@aa%awﬂaﬁmmmgﬁmasa’mmmwﬁﬁ
|

What is the theme of International Youth day “2020°, which is observed every year on 12th August?
SAeTEr AT faa, 2020 *FT o 41 8, ST g% |1 12 39 &l qA747 ST 62

01. Youth Civic Engagement 02. Youth Engagement for Global Action
PRAEGIEERIE L T TISTHE FIT TATIA TFIT

03. Youth and their future 04. Transforming education
T U 39T FET TTERTTENT US[HerT

05. Youth Building Peace
T fafesT d

What is the theme of International Youth day “2020°, which is observed every year on 12th August?

FALTETT AT 139, 2020 T T 47 §, ST g AT 12 STET FT HATAT ST 82

01. Youth Civic Engagement 02. Youth Engagement for Global Action
71 e dise T TIASTHE X TAEA TFAA

03. Youth and their future 04. Transforming education
T T F7T FLAT IR TeereT

05. Youth Building Peace
7o fafesT fre

Solution for Question 147 Ans Key: 2

eng/eng

The United Nations International Youth Day is annually celebrated on 12th August.
T Y ATAE AT fdad Tiaay 12 ST &l AT 7T &

eng hin

The United Nations International Youth Day is annually celebrated on 12th August.
T Y ATE AT fdad Tiaay 12 SEEq &l AT 7T &

Q-148

eng/eng

Which Indian tennis player has won the PSD Bank Nord Open Tennis tournament in Germany?
o Wi 2 REeTEt o ST | PSD &% A(S S i+ ZaTHe StaT 8?2

01. Aditya Mehta 02. Sania Mirza
arfaeT ggar EUCEIREET



Q-148

eng hin

03. Yuki Bhambri 04. Saina Nehwal
REIRICE] HTEAT Agare
05. Sumit Nagal

AT TR

Which Indian tennis player has won the PSD Bank Nord Open Tennis tournament in Germany?

e At 2fRe =TSt 7 ST § PSD & 7S S S gAtHe ST 82

01. Aditya Mehta 02. Sania Mirza
arfaeT dgar EUERIREEI]
03. Yuki Bhambri 04. Saina Nehwal
REIRICE] AT AgaTa
05. Sumit Nagal
KIESEINED
Solution for Question 148 Ans Key: 5
eng/eng  Sumit Nagal tennis player has won the PSD Bank Nord Open Tennis tournament in Germany.
AT AT 7 STHAT § TUAST 95 qTE AT (46 gATHE ST (o7 2l
eng hin  Sumit Nagal tennis player has won the PSD Bank Nord Open Tennis tournament in Germany.
AT AN 7 STHAT § TUAST 95 qTE AT (48 gATHe ST (o7 2l
Q-149 Which is the 1st country in the world to officially register a COVID-19 vaccine named ‘Sputnik’ recently?
BT &1 § Tt q19F COVID-19 oI FT STTART S T & Gsfiad FHee aTaAT o T TgaT 397 i 97 82
01. China 02. United States
03. Ttaly 04. Russia
05. India
GRS
Q-149  Which is the 1st country in the world to officially register a COVID-19 vaccine named ‘Sputnik’ recently?
T &1 | T FTHE COVID-19 FFAT T ATTEHTE T F UStiod Fed ATl (45 T TZAT 39T I 97 &2
01. China 02. United States
03. TItaly 04. Russia
05. India
EIEG
Solution for Question 149 Ans Key: 4
Russia becomes the world’s 1st country to officially register a coronavirus (COVID-19) vaccine and declare it ready for use.
FH ATEHE AR T FHRAAEALH (COVID-19) AT FHT TSI FA ST T STAN 6 [0 T BT FIA ATAT AT T Tgeam 297 a7 Sirar
&l
eng hin  Russia becomes the world’s 1st country to officially register a coronavirus (COVID-19) vaccine and declare it ready for use.
= AFAFTIE A IT FILFATILH (COVID-19) TR T Toiiahd FHT 3T T8 ITART F o7 AT AT FX ATt FHAT FHT TZAT 297 a7 ST
L
Q-150 Which Union Territory has celebrated its 59th anniversary of the “De-Jure” day on 16th August?
engleng 16 3TTET T T 3 oo Taer 7 2-S[02 faae it 59 T AUATS AATE 2
01. Delhi 02. Andaman & Nicobar
et EERICIC B EEACIES
03. Lakshadweep 04. Puducherry
a’ E ~>
05. Daman & Diu
TAA AT AT
Q-150  Which Union Territory has celebrated its 59th anniversary of the “De-Jure” day on 16th August?

eng hin

16 SRTET T o %7 QTR T29r 7 “F-S[e” g ¥ 59 & aORTs 7418 82



01. Delhi 02. Andaman & Nicobar

et EECICIC IR EETEIEY
03. Lakshadweep 04. Puducherry
F’r 3 S
05. Daman & Diu
THA ST A
Solution for Question 150 Ans Key: 4
eng/eng  The Union Territory of Puducherry has celebrated its 59th anniversary of the “De-Jure” day on 16th August.
FZATIET T TGALT 7 16 3T HT “I-2 F&aq® it 59 Af FWris 74T% 2
eng hin  The Union Territory of Puducherry has celebrated its 59th anniversary of the “De-Jure” day on 16th August.
FZATIET T TG 7 16 3T T “I- f&a® it 59 Af FWiris 74T% 2
Q-151 RBI central board comprises of how many members?
engleng FTEATT NSTd 3 % Fx19 A8 § fahde qaeT MTHA 82
01. 5 02. 21
03. 18 04. 12
05. 15
Q-151 RBI central board comprises of how many members?
eng hin  WTLAT [T &% 517 1€ § o qaeg oo 22
01. 5 02. 21
03. 18 04. 12
05. 15
Solution for Question 151 Ans Key: 2
eng/eng  The Reserve Bank’s affairs is governed by a central board of directors (BoD). The board is appointed by the Government of India in line with the Reserve
Bank of India Act, 1934. The central BoD consists of 21 members. Currently RBI’s central board has 15 directors, including the Governor and three
Deputy Governors.
Rerd deb & AT H1 Hared AT fAGAF Fsel (BoD) gRT FhAT Sirar &1 &S & fAgfh %Rd @R grr
AN Nord da AT, 1934 & AR BT Al &1 HET BoD H 21 HGET B &1 IAT F RBIH
der g F 15 s ¥, fSad Tsaute 3R 9 su-tsaare anfder §
eng hin  The Reserve Bank’s affairs is governed by a central board of directors (BoD). The board is appointed by the Government of India in line with the Reserve
Bank of India Act, 1934. The central BoD consists of 21 members. Currently RBI’s central board has 15 directors, including the Governor and three
Deputy Governors.
Red deb & AT BT FAToA Darg fIGAB FHsel (BoD) gRT fehar Siram &1 &S & agfich %R AR gRT
AR Rold b AT, 1934 % 3JAR T ST &1 HAT BoD H 21 HEET &It &1 actHAT H RBIH
B A # 15 ARws §, Sad Tsauter 3R T su-vsIurer anfder €
Q-152  Where is the HQ of IFTAS located?
eng/eng IFTAS =T §&ITT EF-Q"T' Teorq g?
01. Nagpur 02. Pune
LKA ™
03. New Delhi 04. Mumbai
TE feeft qas
05. Lucknow
TGS
Q-152  Where is the HQ of IFTAS located?
enghin  IFTAS T q&aTer Fgf (& 22
01. Nagpur 02. Pune
LK ™
03. New Delhi 04. Mumbai
TE faeeft LER
05. Lucknow
AT

Solution for Question 152 Ans Key: 4




eng/eng The Mumbai based Indian Financial Technology & Allied Services (IFTAS), wholly owned subsidiary of Reserve Bank of India.
fEua AR i i@ 3R d@ag qard (IFTAS), ARAT ed da6 & Qo Farfdica arell deras
3
B B

eng hin  The Mumbai based Indian Financial Technology & Allied Services (IFTAS), wholly owned subsidiary of Reserve Bank of India.

aaéﬁmmuﬁmumﬁzﬁraﬁ?m@aﬁmmsxmwﬁaﬁaﬁﬁwwﬁmmm
2l

Q-153  Evariste Ndayishimiye was elected as the president of which country recently?
engleng BT ot |, TATVEET Affardt it foer Tor % Trgfa =9 # A7 7 912

01. Rwanda 02. Congo
. o
03. Tanzania 04. Burundi
SENER T
05. Zambia
SliE=pi

Q-153  Evariste Ndayishimiye was elected as the president of which country recently?
enghin 2T &t #, TAfvweT Afaforndt it o Tor % Trgfa % =9 & A7 1 =2

01. Rwanda 02. Congo
d T S "}:.3“
03. Tanzania 04. Burundi
SELGE L) S
0S. Zambia
LRI
Solution for Question 153 Ans Key: 4

Evariste Ndayishimiye won the presidential election of Burundi held on May 20 and to swear in as president in August 2020.

Uﬁﬁ?——?ﬁaﬁﬁﬁ?ﬂﬁzoagaﬁmﬁagﬁﬁwqﬁgawsﬁarﬁimzozoﬁvwﬁf%wﬁ
ATY off|

Evariste Ndayishimiye won the presidential election of Burundi held on May 20 and to swear in as president in August 2020.

@ﬁ%ﬁ%ﬁzoa@aﬁﬂﬁag@wwﬁwsﬁmﬁmzozoafrwuﬁfa%mafr
AT A

Q-154 Who has won 2020 peace prize of the German Book Trade?
sleng  STHT g% € T 2020 T LT TEEhTe Fohae Sitar &2

01. Amartya Sen 02. Shobhana Narasimha
T A 9T ALTAERT

03. Sangeetha N. Bhatia 04. Jagdish Bhagwati
Tfar | wrfear STTETeT ST

05. Thalappil Pradeep
TATOTT TETT

Q-154 Who has won 2020 peace prize of the German Book Trade?
eng hin ST T 28 HT 2020 FT &N TrETe e Sfiar 22

01. Amartya Sen 02. Shobhana Narasimha
a9 T AT

03. Sangeetha N. Bhatia 04. Jagdish Bhagwati
Tfiar | wrfear STTETET ST

05. Thalappil Pradeep
TATOTT TEIT

Solution for Question 154 Ans Key: 1

eng/eng Indian economist, philosopher and Nobel Laureate Amartya Kumar Sen (86) has been selected for 2020 Peace Prize by the Board of Trustees of the
Peace Prize of the German Book Trade for his decades-long work around issues of global justice.

HRAT 3r2emeR, ardifas 3R Aide QEpR fastdr g@a(%)aﬁm—cﬁwamﬁasgéﬁé
a?aqmﬁaga?masﬁtrmﬁagzﬁagawnﬁwas A gEIST gRT 2020 % QMifd GREpR & fow
AT I &

eng hin  Indian economist, philosopher and Nobel Laureate Amartya Kumar Sen (86) has been selected for 2020 Peace Prize by the Board of Trustees of the



Peace Prize of the German Book Trade for his decades-long work around issues of global justice.

ARG 3R, e 3R Aldd QREPR fasiar 3rcd A (86) T AP =T S A P 3¢-TE
%a@nﬁ?m%ﬁvaﬁagm@%aﬁﬁrwa? 3 TEIST gRT 2020 QAT DR & forw
AT AT B

Q-155 What is the rank of India in World Justice Project (WJP) Rule of Law Index 2020 (Denmark)?

engleng TS STeeH TroTFe (WIP) T S AT T3 2020 (STATH) § AILA T 1 FIT 272
01. 52 02. 69
03. 75 04. 32
05. 91

Q-155 What is the rank of India in World Justice Project (WJP) Rule of Law Index 2020 (Denmark)?

enghin 7S SITe2q TIoFe (WIP) T S off TS 2020 (STHTH) H AILT T 36 FI7 22
01. 52 02. 69
03. 75 04. 32
05. 91

Solution for Question 155 Ans Key: 2

eng/eng  The Supreme Court asked the government to treat a writ petition, for setting up expert panels to improve India’s performance in the Rule of Law Index, as
a “representation” and to decide further action within 6 months’ time. India was Ranked 69th in the WJP Rule of Law Index 2020 India has never been
ranked even among top 50 in the Index.
3TUAHA T J FIBR ¥ U fAf@d JIRIAT 1 Sellel X & T el St Fleqed & Fadid d faaa
A ARA & Uedd Bl JeadX ddd & forvw fIdust e & TATAT AT &, "ufafafdca” & ¥ # AR 6

(< < * ¢ ¢

AL & MAT M B HRATS dF HA & U] HRT Pl Pl bl 2020 & Seegadl FId # 69 d
TI W @ T 7| FIhh A HRA A MY 50 F o Foft TS er fear a=m g
The Supreme Court asked the government to treat a writ petition, for setting up expert panels to improve India’s performance in the Rule of Law Index, as
a “representation” and to decide further action within 6 months’ time. India was Ranked 69th in the WJP Rule of Law Index 2020 India has never been
ranked even among top 50 in the Index.
STUAHA AT o IR & Th i@ Il Pl Sellel B & ol @gl, Sl Blefed & Fadhid A faas
# 9RT & UeRld Pl deal Jed & Tov faRIusT Uil I FATAT &A1 &, "UifAidcd” & §7 H 3R 6
AL & HIAR 3T AT FRAS dF T & [T AR P Sl DI 2020 & Secgoidl a7 H 69 I
TAT W I@T 7 T FIhih # HRa @1 MY 50 H o w T a6 feam = g

Q-156 By which year ISRO plans to send humans to space under ‘Gaganyaan’ project?
A F 36 a9 T TREAT TS % dgd "AsAl R S § A4St ¥ AT 99T 82
01. 2020 02. 2022
03. 2024 04. 2023
05. 2021

Q-156 By which year ISRO plans to send humans to space under ‘Gaganyaan’ project?

enghin  FHX T 3 a0 T WA TRATSAT F Tad AIOA1 HT AAE F G T ATSTAT q778 52
01. 2020 02. 2022
03. 2024 04. 2023
05. 2021

Solution for Question 156 Ans Key: 2

eng/eng  The ISRO has initiated a 10,000crores project- Gaganyaan to send humans to space by 2022, in accordance to which, ISRO has received a patent for its
Liquid Cooling and Heating Garment @CHGQ_\':RT d 0 dd P 3dReT H A & fAT 20,000 T &
UlSleFe- IETTE el YT & &, [ Hqdr, ol 3ARET AITIAT Y 7167 3N 33 & FI&h & o
3UANT o @ forw e fofdas i 3R @fér aaAe (LcHG) & forw 9de ura g3m &1 ardmeroT]) for
astronauts to use in space for protection from hot and cold environments.

eng hin  The ISRO has initiated a 10,000crores project- Gaganyaan to send humans to space by 2022, in accordance to which, ISRO has received a patent for its
Liquid Cooling and Heating Garment (LCHGW J 0N dd P 3R H A & fIT 20,000 TS &
Uleiere- PN el BT T ¢, foae Igar, Bl IANET AT Y a9 3R 35 @ glan & fow
3UANT X @ forw e fafdas qfelr 3R @fér aaAe (LcHG) & fow 9de ura g3m &1 ardTeRoT]) for
astronauts to use in space for protection from hot and cold environments.

Q-157 Who authored the book titled” Legend of Suheldev: The King Who Saved India™?

eng/eng

"HSIE A eaad: g T g fee Sfear oftds & e e o



01. Durjoy Datta 02. Kiran Desai

TS T oo 3T
03. Amish Tripathi 04. Vinit Goenka
sreter Bt [ERIERIREED]
05. None of these
it & S A
Q-157 Who authored the book titled” Legend of Suheldev: The King Who Saved India’?
eng hin  "¥ISIS ST Hadaa: T T g Feg 2far ot & T e fort?
01. Durjoy Datta 02. Kiran Desai
ST T o 3T
03. Amish Tripathi 04. Vinit Goenka
sreter Bt [ERIERIREED]
05. None of these
TAH F FS TR0
Solution for Question 157 Ans Key: 3
eng/eng  Best-selling author and the Director of Nehru Centre, London (since 2019) Amish Tripathi released his fiction book,”Legend of Suheldev: The King Who
Saved India”. The book is published by Westland Publications Pvt Ltd.His 1st book is ‘The Immortals of Meluha’, which is also the 1st book of Shiva
Trilogy.
I8 ST1ET [Adha arel of@dh AR Ags AT, ded & fAgered (2019 A) 3rr BFurdy a 3r0el fherera
oiolg 3% Heeled: & fohar @—gg%m"srﬁrzﬁn ﬁmmmamq@zmmwﬁﬁ
zﬁr:rré%m%zﬁgq——craﬁa@%é—amm%,ﬁ AT P ugell gEAD AT B
Best-selling author and the Director of Nehru Centre, London (since 2019) Amish Tripathi released his fiction book,”’Legend of Suheldev: The King Who
Saved India”. The book is published by Westland Publications Pvt Ltd.His 1st book is “The Immortals of Meluha’, which is also the 1st book of Shiva
Trilogy.
T8 e faeha drel ofge AR Ag® e, ol & e (2019 @) 311 FUrdr & 3uer ftherere g
"Sfeis 3% Heeldd: aﬁmggﬂ—o‘s'g[%m"srmﬁl quﬁﬁaﬁﬁgtm M Usde frfdes grr
&1 IS &l Teell JFdD G SFAICEH HH Afel' g, Il AT AT Ugell gFdd A &
Q-158 Rajinder Goel who passed away recently is associated with which sports?
TITIET A T g1 21 § e g1 1, a8 F e § 52 82
01. Football 02. Hockey
ke < ov':if
03. Cricket 04. Tennis
B 2t
05. Badminton
FefiieT
Q-158 Rajinder Goel who passed away recently is associated with which sports?
ng hin  TTISIEL T T E f # e 27 1, g 6| &« & 92 82
01. Football 02. Hockey
At kL
03. Cricket 04. Tennis
e B
05. Badminton
et
Solution for Question 158 Ans Key: 3

eng/eng Domestic cricket stalwart, legendary first-class spinner Rajinder Goel who represented Haryana, Punjab and Delhi passed

away at the age of 77 due to old age related iliness at his residence in Rohtak, Haryana, India. He was born on 20th
September 1942 in Punjab, British India (Haryana).

WW$WUWW$WWWWWWWHWW
fopam, &1 77 a8 Y HY F Ve, TRAOM, HT H 39 Iad W ot  FfAd SIARY & HRoT Fuea &
vrqﬂma—otrzoﬁw 1942 &1 e, fofeer sfeam (gRamom) # g3m



eng hin  Domestic cricket stalwart, legendary first-class spinner Rajinder Goel who represented Haryana, Punjab and Delhi passed
away at the age of 77 due to old age related illness at his residence in Rohtak, Haryana, India. He was born on 20th
September 1942 in Punjab, British India (Haryana).

o] fohpe & fEaareT, gua Soft mmmwmmmﬁwmﬁw
fepam, &1 77 a¥ &1 Y A Ugcd, TRAM, HART A 3e7eh IMard W gold § HIiUd NAN & HROT G @
vraﬂmmzoﬁ?lﬂ? 1942 &1 e, fafeer sfeam (gRamom) & g3m am

Q-159 Lachhman Singh Lehl who is in news recently is a renowned

engleng AEHA Mg dgA Mg A @adi §8, Uhafog &
01. Actor 02.  Army Personnel
afrear AT F FIHE
03. Painter 04.  Architect
ECas ATEHTT
05.  Minimalist
Q-159 Lachhman Singh Lehl who is in news recently is a renowned
enghin TEAT MEdEA MM G A @adi §8, whafog &
01. Actor 02.  Army Personnel
f¥ear AT F FIHE
03. Painter 04.  Architect
05. Minimalist
Solution for Question 159 Ans Key: 2

Vir Chakra Awardee, retired Major General Lachhman Singh Lehl, passed away at the age of 97 in New Delhi. He was born in Hoshiarpur, Punjab. He
received the Vir Chakra, and the third highest gallantry award in India for his role as a forward observer in the 50 Para Brigade. He authored ‘“Missed
Opportunities™ a complchcnsivc book on the 1965 Indo-Pak war.

9] wh ¥ HFATA Hdlld d AT owuoi TSI 1%‘5’ dgel &l 97 aﬁﬁ%ﬁ%ﬁﬁ%ﬂaa
| bciChI STed UaiTg 3 21T| STI UdETh b ®A H Sefehl
GG LY W:ﬁdﬂ? sfm% Wﬁml 1965 & HRA-Uh g W

Teh <AYh GED ﬁ?‘s’am-zjﬁrasr ﬁ@l

Vir Chakra Awardee, retired Major General Lachhman Singh Lehl, passed away at the age of 97 in New Delhi. He was born in Hoshiarpur, Punjab. He
received the Vir Chakra, and the third highest gallantry award in India for his role as a forward observer in the 50 Para Brigade. He authored “Missed
Opportunities™ a complchensivc book on the 1965 Indo-Pak war.

I} ok " HFATAA Hdllc-i d A owuoi TSI 1%‘5’ olgel @I 97 ay & A 78 feoe # Aga &
IRT| 3ADBI FeH TaATd b Fn_\q%mml Srr%m's’ﬁuzﬁ e
HfHr & fow oA # 9 T rwﬁmls—aﬁwwaswwgaw

Teh MU JED ﬁ?——s’m—njﬁasr fordt|

Q-160 What is Ministry of AYUSH’s theme for International Yoga Day 20207
eng/eng  AAUEIE T (a8 2020 % (@0 S0qT HATGH 7471 57

01. 'Climate Action' 02. “Yoga at Home — Yoga with Family”
FATSHS T " I AT - AT 3 a7 AT
03. “Yoga for Heart” 04. “Yoga with social distance”
"= & forg 7T "ETHTTST T o AT T
05. “Yoga to combat COVID”
"COVID & fAues F forw

Q-160 What is Ministry of AYUSH’s theme for International Yoga Day 2020?
enghin  STUEIT TR =@ 2020 % forw g w=rers 717 22

01. 'Climate Action' 02. “Yoga at Home — Yoga with Family”
FATSHS T "SI I AT - AT 3 a7 AT
03. “Yoga for Heart” 04. “Yoga with social distance”
"= 3 forT "ETHTISME 4 & a7 IR
05. “Yoga to combat COVID”
"COVID ¥ fAve & forg
Solution for Question 160 Ans Key: 2

eng/eng  21st June 2020 marks the 6th annual United Nations (UN) International Day of Yoga (IDY) to raise awareness about the benefits of practicing yoga and to



educate the public on the importance of choosing a healthy lifestyle to achieve good health. Ministry of AYUSH in India is promoting IDY 2020 with the
theme as ““Yoga at Home — Yoga with Family”.

21 3 2020 T NN T IFIATH Pl D NH B IR A SEEehdT dgla 3N TS TAELY &l 18 e &
oI T Siad ﬂ?ﬁ%«.—id%Hgﬂﬂdddlﬂﬁfﬁﬁﬁﬁﬂ?ﬁtﬁraﬁiﬁmﬁﬁw(w Hﬂﬂ'@?r
T feaw (3mSdan) ﬁﬁ.ﬂmalwﬁmw QT 3T BYH- AT Bl

iy |szozoa$raa1m S W

eng hin  21st June 2020 marks the 6th annual United Nations (UN) International Day of Yoga (IDY) to raise awareness about the benefits of practicing yoga and to
educate the public on the importance of choosing a healthy lifestyle to achieve good health. Ministry of AYUSH in India is promoting IDY 2020 with the
theme as “Yoga at Home — Yoga with Family”.

213 2020 T NN P IJFATH P D ATH B IR A SIPEhT Jgla 3 TS TGS Bl Y18 A B
ﬁvwwoﬂqdﬂ?ﬁéﬁdﬂ?ﬁﬁchdddlaﬁﬁfﬁHaﬂﬁ%ﬁteﬁaﬁtﬁm T (Jud) FE
gqar feaw (3mssrarg ﬁ%m%mﬁmm“aﬁmmm BRI MaT B
1y DY ZOZOEﬁf gerar & &l ©

Q-161  VolP stands for
eng/eng VoIP =T ‘{UT g T @?IT %

01. Vote over IP 02. Voice over IP
03. Voice on IP 04. Vendor over IP

0S. None of these
Q-161  VoIP stands for
VoIP T q07 &7 T 21aT &

01. Vote over IP 02. Voice over IP
03. Voice on IP 04. Vendor over IP
05. None of these

Solution for Question 161 Ans Key: 2

Voice over IP is the full form of VoIP.
VoIP T 99T ®9 Voice over IP ZIaT &

Voice over IP is the full form of VoIP.
VoIP T 0T ¥7 Voice over IP ZTdT &

Q-162 Anerror in a computer program is known as

FoIET T § TR AT ¥ = 8 ST AT 2
01. Crash 02. Power Failure
03. Bug 04. Virus

05. None of these
Q-162 Anerror in a computer program is known as

eng hin FET T § i FT F w7 H ST ST
01. Crash 02. Power Failure
03. Bug 04. Virus
05. None of these
Solution for Question 162 Ans Key: 3

eng/eng  An error in a computer program is known as Bug

FIET TRITH | 3T AT a7 % & § ST ST 2

eng hin  An error in a computer program is known as Bug

FLET T | (S T &7 % FT H ST ST 2l

Q-163  Which layer of the OSI model performs segmentation of a data stream?
eng/eng OSI HISH T I H 92 I2T FH T AT FTAT 22

01. Application layer 02. Network layer
03. Physical layer 04. Transport layer
05. Presentation layer



Q-163

eng hin

Which layer of the OSI model performs segmentation of a data stream?
OSI Tieet Y FI T 92 TaT T FT FAAqToiT FeedT 22

01. Application layer 02. Network layer
03. Physical layer 04. Transport layer
05. Presentation layer
Solution for Question 163 Ans Key: 4
eng/eng  Transport Layer of the OSI model performs segmentation of a data stream
OSI AEw & SHUIE Id TT T FT Ao Fect 8
eng hin  Transport Layer of the OSI model performs segmentation of a data stream
OSI Hiee FiT ZH9E T 32T TEH T 3o #edl §
Q-164 InExcel, this is a prerecorded formula that provides a shortcut for complex calculations
eng/eng AT W, TF TF TATHT G & ST STfee qorAvedi  forg v erfeae wame F2arg
01. Value 02. Data series
03. Function 04. Field
05. None of these
Q-164 InExcel, this is a prerecorded formula that provides a shortcut for complex calculations
THFA |, Tg UF TEITHT G § ST ST TUETeA 6 o0 U ofdshe T84 F:aT ¢
01. Value 02. Data series
03. Function 04. Field
05. None of these
Solution for Question 164 Ans Key: 3
Function is a prerecorded formula that provides a shortcut for complex calculations
HHRIT U T G g ST ST TUATSH 6 {0 U 9riéane T&| Fedl
Function is a prerecorded formula that provides a shortcut for complex calculations
HFHLT U TENTHT G © ST ST VAT o6 (70 U STiehe T Bl &
Q-165 Youclick at B to make the text in MS word.
AT MS 9152 | T9E &l AT & forT B 9T foFeteh 7 2
01. Ttalics 02. Underlined
03. Bold 04. Ttalics and Underlined
05. None of these
Q-165 Youclick at B to make the text in MS word.
AT MS 973 | e il a7+ % forw B o faere e 2
01. Italics 02. Underlined
03. Bold 04. Ttalics and Underlined
05. None of these
Solution for Question 165 Ans Key: 3

eng/eng  You click at B to make the text bold in MS word.
AT MS 9158 H T2 I dleg a9 & foI7 B U¥ f3Fe #ivd 2|
eng hin  You click at B to make the text bold in MS word.
AT MS 9158 H T2 T dleg a1 & (o7 B U¥ f3Fe Fivd 2|
Q-166 Title bar, ribbon, status bar, views and document workspace are factors of .
engleng 2132 A, Rad, ¥ed AW, o 37 SiFqHe FHAaT TIITH % FTF 2l
01. MS Word 02. Browser
03. Explorer 04. Website
05. None of these
Q-166 Title bar, ribbon, status bar, views and document workspace are factors of

eng hin

TTeee AT, oA, S AT, 51 9 St Fe T FH S



01. MS Word 02. Browser
03. Explorer 04. Website
05. None of these

Solution for Question 166 Ans Key: 1
eng/eng  Title bar, ribbon, status bar, views and document workspace are factors of MS Word.
Zrzed a1, faw, ®eq a1, 7 7 Stagde FHea MS 9 TRITH & H14F 3
eng hin  Title bar, ribbon, status bar, views and document workspace are factors of MS Word.
Zrzed 91T, Raw, ®eq a1, 7 7 Stagde FTHes MS 9 TRITH & H14H gl
Q-167 Apixelis .
engleng T T 2l
01. a computer program that draws picture ~ 02. a picture stored in the secondary memor
TF Fge TTH ST = a9rar & IEGIRER I DR E
03. the smallest resolution of a picture 04. aVirus
T T L FT Ha Z1eT resolution T 9T
05. None of the above
Q-167 Abpixelis .
e Toee 2l
01. a computer program that draws picture 02. apicture stored in the secondary memor
TF FET TUTH ST = s9mar 8 ESIREREIRE KPR CRRE
03. the smallest resolution of a picture 04. aVirus
T TELIT T HaH T resolution T dT54d
05. None of the above
Solution for Question 167 Ans Key: 3
A pixel is the smallest resolution of a picture.
T [T T qEA1E 7 qa9 FieT resolution ZIAT 2
A pixel is the smallest resolution of a picture.
U TR U T T Ha9 FleT resolution Z1AT 2l
Q-168  Which of the following is not an operating system?
Fraferfa 5 o #i Ao feen T g
01. DOS 02. UNIX
03. MAC(0S) 04. DBMS
05. Windows XP
Q-168  Which of the following is not an operating system?
enghin  FeferfEa ® & 17 st feen 78 2
01. DOS 02. UNIX
03. MAC(OS) 04. DBMS
05. Windows XP
Solution for Question 168 Ans Key: 4

eng/eng  DBMS is not an operating system.
DBMS U# Sq¥fe ffrees 75! 2l

eng hin  DBMS is not an operating system.
DBMS T Saefesr ffeew 781 g

Q-169 A is a unique name that you give to a file.

engleng TF fafors amm g 5 s wrew w1 37 2

01. Folder 02. Filename
03. filename extension 04.  device letter

05. Username



Q-169 A is a unique name that you give to a file.
enghin TF fafors amr & o sy wrew wT I 2

01. Folder 02. Filename

03. filename extension 04. device letter

05. Username

Solution for Question 169 Ans Key: 2
eng/eng A filename is a unique name that you give to a file.
IS ATH U TEfrE 91 2 S ST WiEe 1 ad gl
eng hin A filename is a unique name that you give to a file.
wTES ATH UF fAfore qmm g O s wrew v 37 2
Q-170  The task bar is located
engleng CERAT O H R 2r gﬁ'crr 2l
01. On the start menu 02. At the bottom of the screen
03. On the quick Launch toolbar 04. At the top of the screen
05. None of these
Q-170 The task bar is located
TR I17 T oo ng 2l
01. On the start menu 02. At the bottom of the screen
03. On the quick Launch toolbar 04. At the top of the screen
05. None of these
Solution for Question 170 Ans Key: 2
The task bar is located at the bottom of the screen
The task bar is located at the bottom of the screen
Q-171  Which of the following is an example of connectivity?
Reforied & & 9 FTaefad #7 U 3aT870 8?2
01. data 02. floppy disk
03. Power cord 04. Internet
05. None of these
Q-171  Which of the following is an example of connectivity?
feferfera & & #19 FafFEd 1 vF a1 22
01. data 02. floppy disk
03. Power cord 04. Internet
05. None of these
Solution for Question 171 Ans Key: 4

eng/eng Internet is an example of connectivity.

TETAC FATFE AL T UFH IIEL &

eng hin  Internet is an example of connectivity.

TaTAC FATFE AL T TH I &

Q-172  Which of the following is not a web browser?
engleng THHTATET # & 19 &7 98 ATSAL Tal 87

01. Internet Explorer 02. Google Chrome
03. Twitter 04. Morzilla Firefox
05. Opera

Q-172  Which of the following is not a web browser?
enghin  FEfIEa & & 7 &7 3 A139 T8l 22



01. Internet Explorer 02. Google Chrome

03. Twitter 04. Morzilla Firefox
05. Opera
Solution for Question 172 Ans Key: 3
eng/eng  Twitter is not a web browser it is a social networking sites.
Twitter T 38 FTSAY Tl § Tg TF I deaThT AT Bl
eng hin  Twitter is not a web browser it is a social networking sites.
Twitter T 391 STSAY Aol § Tg TF I deaThT AT Bl
Q-173 is not a graphic file format that allows animation to be viewed on a computer.
eng/eng T ATTRF HISA TTET Tal § ST R THL Hl FHFYeT T2 3@+ 6l TAfd <aT1 8
01. PNG 02. GIF
03. EMF 04. WMF
05. MP3
Q-173 is not a graphic file format that allows animation to be viewed on a computer.
eng hin T TTTheh IS ATET Agl g ST UATHEIT T FHT4eX TT T@ 1 SATAT a7 §
01. PNG 02. GIF
03. EMF 04. WMF
05. MP3
Solution for Question 173 Ans Key: 5
MP3 is not a graphic file format that allows animation to be viewed on a computer.
MP3 T T HIEd TTET A5l & ST U THLA &l HTJe 9 @ i Jqaid adT gl
MP3 is not a graphic file format that allows animation to be viewed on a computer.
MP3 T T HTEA TTET Tal &SI UHTHLA &l FHgeL 9% a@ @l dqAfd <aT &l
Q-174 A process known as is used by large retailers to study trends.
ST AT ALATA FIA F (o107 T2 G fasbaret T ATHF W TEHRIT T ST FHT STt 2
01. data mining 02. data selection
03. POST 04. data conversion
05. None of these
Q-174 A process known as is used by large retailers to study trends.
S HT ALAIA A & (o0 92 gawr Faarst g TH T TIRAT T STAET THAT STaT 2
01. data mining 02. data selection
03. POST 4. data conversion
05. None of these
Solution for Question 174 Ans Key: 1

eng/eng A process known as data mining is used by large retailers to study trends.
T FT AT FIA % (10 T2 T faaharsit g7 data mining ATHE T TT0AT FHT ITART FHAT STTAT 21
eng hin A process known as data mining is used by large retailers to study trends.
TH FT AT TIA % (10 T2 T faaharsit g7 data mining TTHE T TT0AT FHT START FHAT STTAT 2
Q-175 What happens when you boot up a PC ?
eng/eng AT 2IAT & ST AT UF WTHT %l G2 F7d 2
01. Portions of the operating system are 02. Portions of the operating system are copied from memory onto disk.
compiled.
03. Portions of the operating system are copied 04. Portions of the operating system are emulated.
from disk into memory.
05. The PC gets switched off.
Q-175 What happens when you boot up a PC ?

eng hin

FT EIAT & ST AT U HTET Hl 92 Fd 52



01. Portions of the operating system are 02. Portions of the operating system are copied from memory onto disk.

compiled.

03. Portions of the operating system are copied 04. Portions of the operating system are emulated.
from disk into memory.

05. The PC gets switched off.

Solution for Question 175

Ans Key: 3

eng/eng

When you boot up a system , It process portion of the operating system are copied from disk into memory

STar ST foReT e i1 92 7 €, a7 siuefes foeen & fgwaT fwd & 9T § &id7 g1 Sirar &

eng hin

When you boot up a system , It process portion of the operating system are copied from disk into memory

STar 3T foReT e 1 92 7 €, a7 siusfes foeen & fgwaT fws & a9 § &id7 g1 Sran &

Q-176

eng/eng

0-176

is when the more power-hungry components, such as the monitor and the hard drive are put in idle.

= GTT 9AT<F- 5[ ATl 7k, ST Al oY TS Ted &l (H1ohd | ST (<47 ST 2|

01. The shutdown procedure 02. Standby mode
03. Power down 04. Hibernation

05. None of these
is when the more power-hungry components, such as the monitor and the hard drive are put in idle.

% GIXT 9TTeh- 1 1ol |eah, S¥ Jifded 3T gTE g12d & Howra § =1 {37 Smar gl

01. The shutdown procedure 02. Standby mode
03. Power down 04. Hibernation
05. None of these

Solution for Question 176

Q-177

Q-177

In stand By Mode where the more power-hungry components, such as the monitor and the hard drive are put in idle state.

Standby mode % ZTT 9T{F- 9@ ATl e, STH i+ 3T ZTe T2 Fl ATHa § STe fa3T Srar 2

In stand By Mode where the more power-hungry components, such as the monitor and the hard drive are put in idle state.

Standby mode % ZTT 9T{XF- 3@ ATer =2, S AifHeT 1T gTe STed &l AftHT 7 STe fo7 Srar 2

Which of the following uses a handheld operating system?

Trrforfera § & 19 U handheld STORET Eeas T SURRT F2aT 22

01. Supercomputer 02. Personal Computer
03. Laptop 04. Motherboard

0S. Personal Digital Assistant (PDA)

Which of'the following uses a handheld operating system?
fFrerferfaa § o 19 UF handheld ATOXTET foFaw 7 ST F2aT 22

01. Supercomputer 02. Personal Computer
03. Laptop 04. Motherboard
0S. Personal Digital Assistant (PDA)

Solution for Question 177

Ans Key: 2

Ans Key: 5

eng/eng  Personal Digital Assistant (PDA) uses a handheld operating system

Personal Digital Assistant (PDA) T handheld SiH¥{ET fees T IUANT 7dT §
eng hin  Personal Digital Assistant (PDA) uses a handheld operating system

Personal Digital Assistant (PDA) T handheld SIH¥{ET fees T SUANT 7dT §
Q-178 Memory unit is one of the part of
eng/eng HWILI fAe F AR H | UF Bl

01. Monitor 02. Central Processing Unit

03. Output Device 04. Keyboard

05. Mouse
Q-178 Memory unit is one of the part of
enghin #FHRI IMe F AT H T UF 2N



01. Monitor 02. Central Processing Unit
03. Output Device 04. Keyboard
05. Mouse

Solution for Question 178

Ans Key: 2

eng/eng

CPU has three parts ALU (Arithmetic Logic Unit), CU (Control Unit), MU (Memory Unit)
H ¥ AT AW § ALU (SFTI0T 0 397%), CU (FE1 IfHe), MU (HHIT IfH2)

eng hin

CPU has three parts ALU (Arithmetic Logic Unit), CU (Control Unit), MU (Memory Unit)
HId % i 9T § ALU (S0 @ 2912), CU (F2Te TfA2), MU (FHT TfH2)

Q-179

eng/eng

Q-179

eng hin

In magnetic disks, data is organized on the platter in a concentric sets of rings called:

JahrT Rew ®, Ter 7 fr 3 "@ahfed ¥t # woe qv sxafea Gy srar &

01. Sector 02. Track
03. Head 04. Block

05. None of these
In magnetic disks, data is organized on the platter in a concentric sets of rings called:

JaehrT BeF ®, Ter 7 R F "@ahfad ¥ef # woe q¥ sxaferd oy srar &:

01. Sector 02. Track
03. Head 04. Block
05. None of these

Solution for Question 179

Q-180

Q-180

In magnetic disks, data is organized on the platter in a concentric sets of rings called Track.

et 3o H, 321 A1 R % FHhiea #2i § vore T S fRrd R S 8 9 £F FEerd o
In magnetic disks, data is organized on the platter in a concentric sets of rings called Track.

ey 2w W, Ty 1 T 3 a@3fea 321 # vore uw sraftad frr et & 98 39 waerar e

Which of the following is a text-based operating system?
e 5 & #19 v urs-srarha strafér e 82

01. MS-DOS 02. Windows 95
03. Windows XP 04. Windows 8

05. None of these
Which of the following is a text-based operating system?

el § & #i7 v ure-ararhd AT e 22

01. MS-DOS 02. Windows 95
03. Windows XP 04. Windows 8
05. None of these

Solution for Question 180

Ans Key: 2

Ans Key: 1

eng/eng MS-DOS is a text-based operating system
MS-DOS T THE- AT s ffeen §
eng hin  MS-DOS is a text-based operating system
MS-DOS U aFe- ST siaefe ffeeq §
Q-181 Which of the following is not used in the storage phase of a computer-based information system?
engleng  FTAET AT TAAT TUTEAT % WSO =207 # FRrferterd & & fherepr Sonr At e Strar 22
01. Magnetic tape 02. Keyboard
03. Diskette 04. Hard disk
05. None of these
Q-181  Which of the following is not used in the storage phase of a computer-based information system?
eng hin  FTLEL AT T=AAT TOTeAT % WSO =207 § FRarferterd & & fheret Suanr 7€t e strar 22

01. Magnetic tape 02. Keyboard
03. Diskette 04. Hard disk



05. None of these

Solution for Question 181 Ans Key: 2
eng/eng Keyboard is an input device.
FreTE TF T feared 21
eng hin  Keyboard is an input device.
FrTE TF T A= 81
Q-182  Which of the following is the largest manufacturer of Hard Disk Drives?
engleng [HTITET # § F17 1S [S¥F 3124 T Ha AT (AT 87
01. IBM 02. Seagate
03. Microsoft 04. 3M
05. None of these
Q-182  Which of the following is the largest manufacturer of Hard Disk Drives?
eng hin  &ferfrd & & 7 1€ v grea 1 7o 721 fAATar 22
01. IBM 02. Seagate
03. Microsoft 04. 3M
05. None of these
Solution for Question 182 Ans Key: 2
Seagate is the largest manufacturer of Hard Disk Drives
Seagate BTS (S&h ST T Had J=T HHTAT &
Seagate is the largest manufacturer of Hard Disk Drives
Seagate %‘I’g’ T SlEEKCT) ey J=7 Futar g
Q-183  What are the most important components to create the memory cell?
AT T FAT % o707 Haw Ageaqul 9 #4752
01. Transistor and Register 02. Register and Diode
03. Diode and electric cell 04. Transistor and Capacitor
05. None of these
Q-183  What are the most important components to create the memory cell?
hin ~ HHILT § G974 = [oIT Ha8 Heaul 92 #4782
01. Transistor and Register 02. Register and Diode
03. Diode and electric cell 04. Transistor and Capacitor
05. None of these
Solution for Question 183 Ans Key: 4

eng/eng Transistor and Capacitor are the most important components to create the memory cell
HHT 8 99 % o0 9a% Agea Ui 7 Transistor and Capacitor &

eng hin  Transistor and Capacitor are the most important components to create the memory cell
HHTET 8 S % 7T Ja% Agea ol e Transistor and Capacitor &

Q-184  Which of the following is not the name of RAM?

eng/eng THHTATET | & 7 ¥4 7 A1 T2l 22
01. SRAM 02. DRAM
03. RDRAM 04. All of the above
05. None of the above

Q-184  Which of the following is not the name of RAM?

enghin  FEfeIEa & & i 39 #7919 721 22
01. SRAM 02. DRAM

03. RDRAM 04.  All of the above



05. None of the above
Solution for Question 184 Ans Key: 5

eng/eng  All are the type of RAM, SRAM Static Random Access Memory, DRAM Dynamic Random Access Memory, RDRAM Rambus DRAM
Tl 39 % YT §, SRAM wfoeh Y0 wae FHET, DRAM ST 0 U 9T, RDRAM ¥¥F DRAM

eng hin  All are the type of RAM, SRAM Static Random Access Memory, DRAM Dynamic Random Access Memory, RDRAM Rambus DRAM
Tl 39 % T ¥, SRAM wfeeh Y0 wse F9T, DRAM ST 0 U A9<T, RDRAM ¥=F DRAM

Q-185 Different memories can be classified according to the concept of

eng/eng T ST o ATE AT ATat Fir i o s awar g
01. Access mode/capacity and cost 02. Access Time
03. Transfer Rate 04.  All of the above

05. None of these
Q-185  Different memories can be classified according to the concept of

eng hin T STALTIOT o ATHT (AT ATT T A% (AT ST THAT &
01. Access mode/capacity and cost 02.  Access Time
03. Transfer Rate 04. All of the above
05. None of these
Solution for Question 185 AnsKey: 4

Different memories can be classified according to the concept of Access mode/capacity and cost, Access Time, Transfer Rate.
Access mode/capacity and cost, Access Time, Transfer Rate. 7T STa€TOIT & ST [ATH ATET T A(15d AT T TFHaT &

Different memories can be classified according to the concept of Access mode/capacity and cost, Access Time, Transfer Rate.
Access mode/capacity and cost, Access Time, Transfer Rate. ST STa&T<uT & SREIES AT ATT &7 cl*ﬂ(t»d ERIEIEERI]

Q-186 is a semiconductor memory.
U T F gl
01. Dynamic 02. Static
03. Bubble 04. Both A &B
05. None of these
Q-186 is a semiconductor memory.
UF AT T g
01. Dynamic 02. Static
03. Bubble 04. BothA &B
05. None of these
Solution for Question 186 Ans Key: 4
eng/eng Dynamic and static is a semiconductor memory.
Dynamic and static T# ST&=Tersh T gl
eng hin  Dynamic and static is a semiconductor memory.
Dynamic and static T# ST&=Tersh T gl

Q-187  Which type of memory holds only the program and data that the CPU is presently processing?
eng/eng T THRTT AT AT H Fieer THUTH 1T 32T 2T ¢ 59 CPU FqAT | TIHH F2aT &

01. CMOS 02. ROM
03. RAM 04. ASCII

05. None of these

Q-187  Which type of memory holds only the program and data that the CPU is presently processing?
eng hin T8 o1 7 AT & Fiefer T 1T 327 2T 2 [ CPU 99T | T19# 2T 2

01. CMOS 02. ROM
03. RAM 04. ASCII
05. None of these
Solution for Question 187 Ans Key: 3




eng/eng

RAM holds only the program and data that the CPU is presently processing.
RAM ¥ FaeT THITH 31T 327 graT & S8 CPU ad9m & o :i3aT 8

eng hin  RAM holds only the program and data that the CPU is presently processing.
RAM ¥ FaeT THITH 3T 327 2raT & S8 CPU ad9m & o :i7ar &
Q-188 Which of the following is not a type of computer network?
engleng  TEITITET # F FI TF THT FT FY7 F2a% el 87
01. PAN 02. LAN
03. WAN 04. MAN
05. EAN
Q-188  Which of the following is not a type of computer network?
enghin  FETIEa & & 19 UF TH FT F42T A2+ Tal 22

01. PAN 02. LAN
03. WAN 04. MAN
05. EAN
Solution for Question 188 Ans Key: 5
EAN is not a type of computer network
EAN U ThT¥ & FOIET deah qai g
EAN is not a type of computer network
EAN U T &1 H02L e qal ¢
Q-189  Connections to other documents or to other locations within a Web site are
T gTZe o HIq¥ AT TEATIASI AT 3 TATHI o Fel o o o0 T AT FFaT ST 2
01. hyperlinks 02. bots
03. hyperconnects 04. filters
05. None of these
Q-189  Connections to other documents or to other locations within a Web site are
I g2 o HaL AT TEQTASIT AT T TATAT F Fel 9 o {70 FT I AT SITaT 2
01. hyperlinks 02. bots
03. hyperconnects 04. filters
05. None of these
Solution for Question 189 Ans Key: 1
Connections to other documents or to other locations within a Web site are hyperlinks
T gTe 6 SIdL AT TEATASIT AT AT TATAL 3 el F (70 FrEU<ieish T ST BT Srar
g
eng hin  Connections to other documents or to other locations within a Web site are hyperlinks
T AT % AT AT TEATASTT AT 3T+ TATAT & FHeAFTT 6 (o0 greaeiers T TR AT SITar
Q-190 To what temporary area can you store text and other data, and later paste them to another location?
engleng ST e srEermft &1 # T3 ST o177 3T HURIA T TH &, AT AT H Irg, (AT ST T T GF T TH 87
01. The clipboard 02. ROM
03. CD-ROM 04. The hard disk
05. None of these
Q-190 To what temporary area can you store text and other data, and later paste them to another location?
enghin ST e sreermoft &0 & T3 Sl ¥ o= 32T HURI T T 2, ST AT H Irg, T (7 T G2 I8 T Tl 82
01. The clipboard 02. ROM
03. CD-ROM 04. The hard disk
05. None of these
Solution for Question 190 Ans Key: 1

eng/eng

The clipboard is the temporary area where we can store text and other data, and later paste them to another location.



Clipboard ¥ T3 3T (=7 22T TULIT FT TFhd ¢, ST a8 H Irg, Fheft o1y 2oy o< U 7wy &

eng hin  The clipboard is the temporary area where we can store text and other data, and later paste them to another location.
Clipboard & 9T3 3f¥ 317 Ta7 HURIT ¥ TFd &, AT aTZ | Ivg (el 31T AT I¥ YT FT Tl &
Q-191 What s the shape of CDs?
eng/eng Fﬂﬁqﬁs“al T ERIT%‘?
01. Quadrilateral 02. Rectangular
03. Circular 04. Hexagonal
05. None of these
Q-191 What is the shape of CDs?
eng hin HTST T IEFZIT%?
01. Quadrilateral 02. Rectangular
03. Circular 04. Hexagonal
05. None of these
Solution for Question 191 Ans Key: 3
eng/eng  The shape of CDs is circular.
ST T ST circular 14T 2
The shape of CDs is circular.
ST FT AFT circular AT 2
Q-192  For selecting or highlighting, which of the following is generally used?
T AT ETEATS e  forw, oy 1% g7 Rerferfera o = et soamr B srar 22
01. Icon 02. Kcyboard
03. Mouse 04. Floppy Disk
05. None of these
Q-192  Forselecting or highlighting, which of the following is generally used?
T AT TISATS (AT F {0, 3w i 97 Aerteriara § 7 Fraeht Suarr AT Sirar 22
01. Icon 02. Keyboard
03. Mouse 04. Floppy Disk
05. None of these
Solution for Question 192 Ans Key: 3
> For selecting or highlighting, Mouse is generally used.
FAT AT ZISATZIET & oI, 38 q1E 92 Feferiad o 5 4TS T SUART 3T STaT 8
For selecting or highlighting, Mouse is generally used.
FAT AT FTSATSIET o T, TH AT UL HH e | H HTSH T SUART TRIT STTaT &
Q-193  Which type of memory is closely related to processor?
eng/eng  TTHT A ST T HIET & [ wafed grar a2
01. Main Memory 02. Secondary Memory
03. Disk Memory 04. Tape Memory
05. None of these
Q-193  Which type of memory is closely related to processor?
eng hin  TTHT T ST 1 AT & [ wafea grar 2
01. Main Memory 02. Secondary Memory
03. Disk Memory 04. Tape Memory
05. None of these
Solution for Question 193 Ans Key: 1

eng/eng  Main memory is closely related to processor.
T A A & eaw qafaa gar g
eng hin  Main memory is closely related to processor.



Q-194

eng/eng

Q-194

eng hin

TR 4 AT | ey dafdq gar g

Information that comes from an external source and is fed into computer software is called

g ATAFTE ST Foheft aTedt & | St g 3T o Froges Aiveaaw # e T Srar €, Fgardr g

01. Input 02. Output
03. Throughput 04. Reports

05. None of these
Information that comes from an external source and is fed into computer software is called

g SATARTET ST Toheft ATt & | ST g T o Foges giveda? # e T Srar &, Fgardt &

01. Input 02. OQutput
03. Throughput 04. Reports
05. None of these

Solution for Question 194

eng/eng

eng hin

Q-195

Q-195

Information that comes from an external source and is fed into computer software is called input

g ATAFTET ST Fheft gt & | it g 3T o Feges aiveaa # e 36T Sirar 8, 949e Fgarar g

Information that comes from an external source and is fed into computer software is called input
T STTAHRTET ST T ATt & & 37t § i oy Fege Atvea=e | e B 9 8, 299e Fgamr e

A computer’s hard disk is

. o~ o 5
TS A gTe ok g

01. an arithmetic and logical unit 02. computer software
03. operating system 04. computer hardware

0S. None of these
A computer’s hard disk is

FLET AT BT 25 g
01. an arithmetic and logical unit 02. computer software
03. operating system 04. computer hardware

05. None of these

Solution for Question 195

/eno

Q-196

eng/eng

Q-196

eng hin

A computer’s hard disk is Computer Hardware.
FogeT it gTe foTw FogeT T greagv gar 2

A computer’s hard disk is Computer Hardware.
FgeT T gTE fRTF Fge? T gread™ g 2

The time 1t takes a device (o locate data and nstructions and make them available to the CPU is known as

T2 SfT¥ A3 T TaT SR Y Ieg HIH FT ITAsH FATA § N AT THT I & § ST AT 5
01. clock speed 02. aprocessing cycle
03. CPU speed 04. access time

05. None of these
The time it takes a device to locate data and instructions and make them available to the CPU is known as

TET AT R T TaT T AT Irg, S HT ITASH FIA § T ATl THT T G H ST ST ©
01. clock speed 02. a processing cycle
03. CPU speed 04. access time

05. None of these

Solution for Question 196

eng/eng

eng hin

The time it takes a device to locate data and instructions and make them available to the CPU is known as Access Time.

T2 SfT¥ TR T aar SR Y I HIT FT ITeAse FAT § N Aol THT T U 215H €7 § FHET 1T §

The time it takes a device to locate data and instructions and make them available to the CPU is known as Access Time.

T2 &Y FAZer T Tar SR Y I HIH FT STl FIA § N Aol THT T U 215H €9 § FET a7 8

Ans Key: 1

Ans Key: 4

Ans Key: 4



Q-197

controls the way in which the computer system functions and provides a means by which users can interact with the computer.

eng/eng I a8 F1 AT Fear g S Foges fBeed F7 w21 8 o UF Aare Y1 F#7aT ¢ S g1 SRR #9091 arasid
T TqHA B
01. The platform 02. The operating system
03. Application software 04. The motherboard
05. None of these
Q-197 controls the way in which the computer system functions and provides a means by which users can interact with the computer.
eng hin I a8 &1 AT Fear g S Fogew fBeed 1 w2t § o U qree Y1 F#3aT ¢ S g1 STARERT #9e F 91 arasid
FT T 2
01. The platform 02. The operating system
03.  Application software 04. The motherboard
05. None of these
Solution for Question 197 Ans Key: 2
eng/eng The operatlng system controls the way in which the computer system functions and provides a means by which users can interact with the computer.
Freew sa a8+ =1 Rt #war § o Feges s 3 a1 F1 F3347 € 30T UF 9169 T84 F7dT 8 e g STaeThal #0427 &
TS ATTATT FT TR 2
enghin  The operating system controls the way in which the computer system functions and provides a means by which users can interact with the computer.
ST e 38 aih Hl AT HAT & SHH Hege? [Heed & 9 F1F FIAT g 17 TH ATe T29 Hd7 & e g1 STl 27 %
T ITaHTT T Toh 2l
Q-198 is the process of dividing the disk into tracks and sectors.
fee 1wt oz &=t § fararfora e v aferam 2
01. Tracking 02. Formatting
03. Crashing 04.  Allotting
05. None of these
Q-198 is the process of dividing the disk into tracks and sectors.
e T et sl &= # forarts w6 Tia7 2
01. Tracking 02. Formatting
03. Crashing 04. Allotting
05. None of these
Solution for Question 198 Ans Key: 2
Formatting is the process of dividing the disk into tracks and sectors.
I fSFh T TRy i< et # forariSra e it gfehar 2 2
Formatting is the process of dividing the disk into tracks and sectors.
RIHTET [SFh T TefAT ofiT &= | fasriorg e &t sthar gt 21
Q-199  The operating system is the most common type of software.
engleng T fHEew HIFETT T qEH AT THT E|
01. application 02. presentation software
03. system 04. communication
05. None of these
Q-199  The operating system is the most common type of software.
eng hin TS FAEew TIFET HT T H THT 2|
01. application 02. presentation software
03. system 04.  communication
05. None of these
Solution for Question 199 Ans Key: 3
eng/eng  The operating system is the most common type of system software.
Aot few, ey ATFea=e 7 999 W T 2
eng hin The operatlng system is the most common type of system software.

, Foreew AT T 9a 319 T 2



Q-200

eng/eng

Q-200

eng hin

Programs such as Mozilla Firefox that serve as navigable application into web are called

HIAT BTACE I S TRITH ST 9 § qfae 3 797 ufease™ % €7 % H10 3 8,

01. Networks 02. Hyperlinks
03. Web browsers 04. URLs

05. None of these
Programs such as Mozilla Firefox that serve as navigable application into web are called

HITTET WIECHT ST TR ST 39 § Af39e F:570 TR Ui F &7 § F19 #d 8,

01. Networks 02. Hyperlinks
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Solution for Question 200
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Programs such as Mozilla Firefox that serve as navigable application into web are called web browser
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Ans Key: 3
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